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1��� ( '���(���)��"  +���+�� 2�)��( )��� )� ��
	2�)�% �� ����+�� 2�)��( )��� )� ��
� �2�3��� *�)�-
3 � 4 /�0���$ ���')� "� 5 ,�+�$%� �6 7,,�  +�
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0 �)��'! �����&� !2�3��&� *�)�3 ( *�$�@��� �!�)�
$��� " *� ����  '���(���)��"  +���+�� 2�)��" )��� -
)� ��# ������� 2 ��A�)( �'����+ �� +���+�� 2�)��+ ��-
�!$%���� ,�+�$%)��&� &�)!���)�'����&� !� '��) ����  +�
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0����( 2�)�% *�)�3 ( *�)'(E��� +���+�� 2�)��" )��-
� )� ��� ,$�'��� '� +�� � !��$(��)( �)��'��+  ��(+
�$�)) 2�)��" )��� )� � # ' �)��'��+ �� *� +��� )��� -
)� 2�)��" )��!��!�� *�'�����" '�3��� �

0 *��'�+ *���&���� &$�'� � ��))+��� '���)( *��(� �
'�3��� # G+* � 2�)��&� ��)*����$�� (  '�3���2��B
+�+����'� C���&���� �-: *�)'(E��� ��2�2��+ ����-
��+ �� �'�)���B *���+����'� 0 �-�+ *���&����  �!2���-
)( +��&�+����� ���+�$%��� ��)*����$�� �# ' ;-�+ 5  �-
���'�$%��� ����� �� �'�)���B *���+����'� 6)��'� �3-
E�" ����  *��'��� )��� )� 2�)� B & *���� )����@��-
)( ' *���&���� �� C���&���� �  � *�)'(E��� �� ��-
� (+ ���2 +�)�  '�)%+� '�@��+!  B 2�)���+! )$!2�A
5 �� ��� (+ )�&$�) (� 0 �
-�+ *���&���� ��))+������
 �� ������������&� � )*��) ����&� ���$ ��� ��-�" *�-
��&��� *�)'(E�� �)��'�+ $ ��"��&� ��&��)) ����&� ���-
$ ��� D��)% *�� )B�� � �����+)�'� ) !)$�'��+ +���+�-
� 2�)� + �@ ��� (+ 	' �)��'��+ �$( )$!2�( � )����-
��B ��)*����$�� "
� .'��� )2 ����# 2�� ��'��% �3E��
�*����$�� � !)$�'��B �@ ��� " ����) ��$%�� σ-�$&�3�#
�)��'����� $ 3� �� �����+� ������-H ��� +�# $ 3� ��
*����� (B ' & $%3����'�+ *��)����)�'�# $ 3� �� �!��-
� ���$%��+ *��B��� ' �3E�+ �!�)� �� )�� �� ��� *���-
��$ +��&�$��� " �*�� *��*���'�� ( �$( �����+�$%��-
&� !)'��� ( G��&� +���� �$� ���3B�� +� &������ 3�$%I�
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!2�3��B 2�)�'# 2�+ �� ��$ 2�)�'�# ������� +�@�� 3��%
'�������  � �3E�&� �!�)� 3�� !E��3� �$( �)��$%��B
�����$�'� 0 *�)$����+ *���&���� +�@�� ������+ �%-
)( ) *��(� (+ ��)����2��B )��� )� �# G�)*����� �$%-
��B )�+�")�'# + � +�$%��B  *�$��B ��)����2��B )��-
� )� �# �����+�" ���� ��  ����'��)�'�+ ��$+�&���'�-
�$��!G$$�-����

J)$  +���)( ))�$�� �� *��'!A 2�)�%-&$�'!# �� '*���-
� ��3�'$(��)( ��# ��*� +��# 	��:��
 5 ���+!$� 	:��
  �
&$�'� �# �����+� ����� 5 �����+� ���  � &$�'� ��

0 ���$A2�� �# �'��� '���@��� &$!3��!A 3$�&����-
��)�% 2$���+ ������� ����  �!��� "# �!��� ���$%-
��&� ���$ ��# ����  '���(���)��"  *� �$����" +���-
+�� � ,������)��&� &�)!���)�'����&� !� '��) ����  +�
��� �!*�$�# '�('I + �� )�3( ��$�&� " ��!� ������ -
��'�� ( �����&� *�)�3 (#  ���������! ,�.����'���'! ��
'�)%+� *�$����� ��+�2�� (�

�#$������ 	 �� %&&' �# (#���	���
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0 )�+�B �3E B 2����B +�@�� �*����$ �% )��� )� �! ���
��!�!# ������( *��������2��� �$( )����� (   )*�$%��-
'�� ( +�����' )3���# )����E�� (# B����� (  �3��3��� 
���$ 2��"  ����+��  �

1��� ( '���(���)��"  +���+�� 2�)��( )��� )� �� 5
��)�� )'(������ +�@�! )�3�" �����$� +���+�� � # ' ��-
����B *� +��(A�)( 3$ �� � +�����# �)��'����� �� *�-
�(�  '���(���)� � 6�����  B ��$  ����2 '� +��&�+
��$ 2�A�)(� ��))+��� + �'� *� +����

�� 1 * 2��" ����2�" ����  '���(���)��" ('$(��)(
)$��!AE�(� D����� '���(���)� �� 3�$�� 2�+ )2����&�
��3��� )�3�� " P (Ak), k = 1, 2, . . . � 1��3!��)( ��"� 
'���(���)�% )�3�� ( A# ������� '���@���)( 2���� )�3�-
� ( ��3��� ) *�+�E%A ������ ��-+��@�)�'����B �*���-
� "� 0 ����  '���(���)��" '���(���)� ��3��� ����A�
�� ���!+�'�()% ��� ��+# ���!�� �� '�($ )%� H�# ��� *��-
' $�#  B  ��'��+�@�� �����% ' ��+��B ����  '���(���-
)��"# � +�@�� ��$%�� *�)�!$ ��'��%  B )!E�)�'�'�� ��
J� �)�'����� )$!2�  B '��+�@��&� ����� ( ' !�����-
��B ��+��B 5 G�� �� )$!2� # ��&�� )$!2�"��" G�)*�� -
+��� �3$����� ) ++��� �" '��+�@��B  )B���'# ���� +�@-
�� *�$%��'��%)( �$�)) 2�)� +  $ &��+��� 2�)� + �*��-
��$�� �+ '���(���)� 	*�*��3!"�� �����% '���(���)�%
'�*���� ( &��3� �� +�����# ���� 2�)�% ������" �$A+ -
� �'�(# � ��!&�( )' ���'�(
� ����+�� 2�)��( )��� )� -
�� *��'�$(�� *� ���!$%����+ *��'������B G�)*�� +����'

�
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)��� �% ����� G� B *��'���2�$%��B '���(���)��"# *��-
'��(�% & *����� � ' �� G� B '���(���)��"  ����

�� D����� )�'+�)���� ��)*����$�� � )$!2�"��B
'�$ 2 � ξ1, ξ2, . . . , ξn# ��*� +��# ' ' �� *$����)� 
pξ1,ξ2,... ,ξn(x1, x2, . . . , xn)#  ��������( 3���$�')��( �!��-
� ( f(x1, x2, . . . , xn)� 1��3!��)( ��"� ����� ��)*����$�-
� ( )$!2�"��" '�$ 2 �� η = f(ξ1, ξ2, . . . , ξn)� 0 ����  
'���(���)��" )�'+�)���� ��)*����$�� � ξ1, ξ2, . . . , ξn ��-
����)(  # ��� *��' $�# �� +�@�� 3��% ��"���� ' �� ��+-
��B� 0 +���+�� 2�)��" )��� )� ��  E!�)( ����� G��&�
)�'+�)���&� ��)*����$�� (  $ �&� *���+����'# *��'��(-
A�)( & *����� �3  B ' ��  ����

����+�� 2�)��( )��� )� �� ' �)��'��+ ��� +���)(

�
 ������" �� �'�)���B *���+����' 	��2�2���   �-
���'�$%��� ����� 
P

3
 *��'����" )��� )� 2�)� B & *���� 	*���+��� 2�-
)� �  ��*���+��� 2�)� � & *�����
P

'
 !)����'$�� �+ )��� )� 2�)� B )'(��" +�@�! )$!-
2�"��+ )�3�� (+ # +�@�! )$!2�"��+ '�$ 2 ��+  
+�@�! )$!2�"��+ *����))�+ 	��&��)) ����"  �����-
$(� ����" ���$ �
P

&
 !*��'$�� �+ )$!2�"��+ *����))�+ �

C���*�$�@ +# 2�� *��'����� n ��)*�� +����'# ' ��-
����B ��& )�� �!A�)( ���2�� (# *� � +��+�� ������-
��" )$!2�"��" '�$ 2 ��" ξ# ����'��+�" ' ��$%��"I�+
��	��������	� �������	� �������	�� J� �!��� A
��)*����$�� ( F (x)  ��)*����$�� � Pξ ���@� 3!��+ ��-
��'��% ��	������������ C!)�% x1, x2, . . . , xn 5 ���!$%-
���� G�)*�� +����'# ���� n 2 )�$� C���*�$�@ +# 2�� '�-
*�$���� )$��!AE � *���*�)�$� �

�
 G�)*�� +���� *��'��(�)( ' �� ����'�B !)$�' (BP

�
 G�)*�� +���� *��'��(�)( ����' ) +� ��!& �� ��!-

;
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0 G��+ )$!2�� ��3�� 2 )�$ x1, x2, . . . , xn ����'�A�
�	������	� ��
	��	� 	
7��� n �� ������������

F � 	D��)%# ��� G�� 2�)�� ��$���)( ' ����  '���(���)��"
 +���+�� 2�)��" )��� )� ��# *��('$(��)( ��3��@��)�%
' !*����3$��  )$�' 5 ��������( �!��� (# ' �����+ )$!-
2�� �!��� ( ��)*����$�� (# �������2�� �*����$(AE�(
��)*����$�� �# )�+�  +��!��)( ��)*����$�� �+
�

C!)�% ��*��% ξ1, ξ2, . . . , ξn 5 ���!$%���� *���*�$�&�-
�+�B n G�)*�� +����' 	������� +� B�� + *�� �'�)� 
�
1�� ��� G�)*�� +���� )$!2�"��# �� �� ���!$%����
���� )+�����% ��� �� )$!2�"��� '�$ 2 ��� N� *��'�"
*���*�)�$�  ��&�# 2��  �+��(��)( ����  �� @� �����-
� 2�)��( )$!2�"��( '�$ 2 �� ξ# )$��!��# 2�� )$!2�"���
'�$ 2 �� ξ1, ξ2, . . . , ξn  +�A� ����  �� @� ��)*����$�-
� �# )�'*���AE�� ) ������ 2�)� + ��)*����$�� �+ F �
N� '����" *���*�)�$� )$��!��# 2�� G� )$!2�"��� '�-
$ 2 �� ����' ) +�� C�G��+! $�& 2�� ''�)� )$��!AE��

(���������� 8$8� ,�'��(�# 2�� )$!2�"��� '�$ 2 ��
ξ1, ξ2, . . . , ξn �3���!A� �
��������9 ��
	��� 	
7���
n �� ������������
 F # �)$ �� ����' ) +�   +�A�
���!  �! @� �!��� A ��)*����$�� ( F �

8 &!��$%�� '���@�()%# �3)�������( '�3���� 5 G��
n 7����' ) +�B G���+*$(��'7 ������ 2�)��" )$!2�"��"
'�$ 2 �� ξ� 1�� + �3����+# ���������( '�3���� +�@��
��))+��� '��%)( ��� ���2�� �# ������� *� � +��� �3-
)�������( '�3���� ' ���!$%���� )�)��'��&� )$!2�"��&�
G�)*�� +����# ���$A2�AE�&�)( ' n  �+���� (B ������ -
2�)��" )$!2�"��" '�$ 2 �� ξ�

O )$�'�� B������� )� � ������ 2�)��" )$!2�"��"

�
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'�$ 2 �� ξ ����'�A�)( ��	�����������  $ ����:
�������� B������� )� ��+ � H�*� +��# Mξ = a 5
������ 2�)���  $ &�����$%��� +���+�� 2�)��� �@ ��-
� �# 3�$�� ������� 5 ��	���������
  $ ����������

�����

P Dξ = σ2 5 ��	���������
  $ ����������

��������
�

0� +��& B �!��'��)�'�B *� +���+�� 2�)��" )��� )� -
�� )$�@ $�)% )'���3�����( ���� � (# )�&$�)�� ������"
���$ 2��� *��(� ( �3����2�A�)( ����"  ��" @� 3!�'�"�
H�*� +��# �3)�������(  ���������( '�3��� �3����2�-
A�)( �� ����'� ��� x1, x2, . . . , xn  ����'�A�)( ��
	�:
�	� 	
7��� n �� ������������
 F � ����(  � G� B '�-
3���� *�����!+�'���)(# ��$@�� 3��% ()��  � ������)��
��))+��� '��+�&� '�*��)�� 0 ������ 2�)� B  ))$���'�-
� (B '�3���� *�� +���)( ��� �3)�������(# *� *� +�-
���  ���������&� )��� )� 2�)��&� +���� �$� ' *� $�-
@�� (B ��� *�� +���)( ��� ���������(� 0 ����  '���-
(���)��" �!��� A ��)*����$�� (  *$����)�% '���(���-
)� *��'�&� G$�+���� '�3��� +� �3����2 $ 3� )���-
'��)�'���� Fξ1(x)  pξ1(x)� 0 )��� )� �� +� 3!��+ �3�-
���2��%  B F (x1)  p(x1)� D��)% x1 ����'��+���� ����2�-
�� )$!2�"�!A '�$ 2 �! 5 *��'�" G$�+��� �3)�������"
'�3��� # � ������" ����)(�)( F  p#  ��")�' ��$%��"
��&!+��� �!���  ��)*����$�� (  *$����)� '���(���-
)� � H�*� +��# ' ����  '���(���)��"  +���+�� 2�)��"
)��� )� �� ����  �� @� +���+�� 2�)��� �@ ��� � *��-
'�&� G$�+���� �3)�������" '�3���  � �3)�$A��� ��*��-
��'��&� ��)*����$�� ( ) *$����)�%A p ��* )�'���)( '
���+�B )���'��)�'�����

Mξ1 =

+∞∫
−∞

xpξ1(x)dx  Mx1 =

+∞∫
−∞

x1p(x1)dx1.

�
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N���# �� �  ��� @� ) +'�$ xk  )*�$%�!��)( �$( �3����2�-
� ( 2 )$� 5 k-&� G$�+���� ���������" '�3��� # )$!2�"-
��" '�$ 2 �� 5 k-&� G$�+���� �3)�������" '�3��� # *�-
��+����" 5 ��&!+���� ������ ��)*����$�� (  *���+��-
��"  ���&� ��'�� (� 9 ����" )������# G�� +�@�� '��)� 
�������!A *!��� �! �$( �� )�!I����&� 2 ����$( 	*��'-
��# � ��� + �3����2�� (+ 3�)��� *� '����I%  �� ��
��@!�)( ��&�� )������+ 
# ) ��!&�" )������ ��� � �3�-
���2�� ( '� +��&�+ )����E�A� ��* )%  *���+! !��3���

C!)�% x1, x2, . . . , xn '�3����  � ��)*����$�� ( F # &��
F (x) 5 ��*����'��( �!��� ( ��)*����$�� (� 0 G��+
)$!2�� 3�� *���� �3E��)� +�@�� )2 ���%# 2�� ')� ���-
2�� ( ' '�3���� ���$ 2�� 	'��% P{xi = xj} = 0 *� 
i �= j
� J)$ � ����" ��!&�"  ����+��  � ������ 2�)��"
)$!2�"��" '�$ 2 �� ξ ���+� '�3��� ! ��) ���# �� )�+��
$!2I��# 2�� +�@�� )��$��%# 5 G�� ��+�� �% ξ ��������"
� �� '��" )$!2�"��" '�$ 2 ��" η# ������( *� � +���
���2�� ( x1, x2, . . . , xn� 1�� ��� � ����+!  � '�3���2-
��B ���2�� " ��$%�( �����% *�� +!E�)�'� *���� ��!& -
+ '�3���2��+ ���2�� (+ # �� �)��)�'���� *� * )��%
')�+ ���2�� (+ )$!2�"��" '�$ 2 �� η �� ����'�� '���-
(���)� � N���# +� �@ ���+# 2�� � �� '��( )$!2�"��(
� )������( '�$ 2 �� ) �(��+ ��)*����$�� (

η x1 x2 . . . . . . xn

P 1
n

1
n . . . . . . 1

n

,

����'��+�( ;���������	�  $ ��
	�	��	� ���:
����	� �������	�# ' �*����$����+ )+�)$� ('$(��)(
'�$ 2 ��"# ��*�+ ��AE�" �� �'�)��!A ��+ ������ 2�-
)�!A '�$ 2 �! ξ� C� ���"��" +���# � 2�&� $!2I�&� �$(
��&�# 2��3� B��% ���-�� *���)��' �% ξ *� '�3����# +�
)��$��% �� +�@�+�

�
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(���������� 8$2� ��)*����$�� � P ∗
n(B) = P{η ∈

B}, B ∈ B, )$!2�"��" '�$ 2 �� η ����'���)(
;����������� ��������������# � �� �!��� ( ��)-
*����$�� ( F ∗

n(x) = Fη(x) = P{η < x} ����'���)(
;���������	� <��� ��� ������������
�

62�' ���# 2��

P ∗
n(B) =

∑
k: xk∈B

P{η = xk} =
∑

k: xk∈B

1
n

=
μ(B)
n

,

&�� μ(B) 5 2 )$� '�3���2��B ���2�� "# *�*���AE B '
B# �

F ∗
n(x) =

∑
k: xk<x

P{η = xk} =
∑

k: xk<x

1
n

=
μ(x)
n

,

&�� μ(x) 5 2 )$� '�3���2��B ���2�� " )���&� +��%I B
x� 1�� + �3����+# P ∗

n(B) 5 ����) ��$%��( 2�)���� *�*�-
��� ( ������ 2�)��" )$!2�"��" '�$ 2 �� ξ ' +��@�)�'�
B# � F ∗

n(x) 5 ����) ��$%��( 2�)���� )�3�� ( ξ < x# �)$ 
�� '�3���! )+�����% ��� �� n ����' ) +�B  )*���� "# '
��@��+  � ������B ��3$A����)( ������ 2�)��( )$!2�"-
��( '�$ 2 �� ξ� J)$ �� !)*�B *� �(�% )�3�� � {ξ < x}#
��  +��+ )B�+! ����!$$ ) '���(���)�%A !)*�B� ' ��-
��$%��+  )*����  p = P{ξ < x} = F (x)  '���(���)�%A
��!��2 q = 1 − F (x)� C� G��+ μ(x) �)�% 2 )$� !)*�B�'
' n  )*���� (B� H� ��'�( *��� ���+�$%��&� �*����$�-
� ( ����� # � ��))+��� '�( *� ��@��+ � �) ��'����+
x ∈ R G+* � 2�)�!A �!��� A ��)*����$�� ( ��� �����!
������ 2�)��" �!���  ��)*����$�� (# *�$!2 +# 2��

1. MF ∗
n(x) = M

μ(x)
n

=
1
n
Mμ(x) =

�




K �� 0�3����� L+* � 2�)��� ��)*����$�� ����

=
1
n
np =

1
n
nF (x) = F (x),

���� )������ ���2�� � ����� F ∗
n(x) )�'*����� ) ���� -

'��+�" '�$ 2 ��" F (x) 	��� ����'��+�( ��)+�E����)�%
����� 
P

�� C� �����! 3�$%I B 2 )�$ ' ���+� ����!$$ 

F ∗
n(x) =

μ(x)
n

P→ F (x) *� n→ ∞
	��� ����'��+�( )�)��(��$%��)�% ����� 
�

H� )�+�+ ��$� ���)%  +��� +�)�� )B�� +�)�% *�2� 
��'����� 	*� !) $����+! �����! 3�$%I B 2 )�$ ' ���+�
����$(
� H�  G�� !�'��@��� � +�@�� !) $ �% �� ��'��-
+����" )B�� +�)� *�2� ��'������ 1�2���# )*��'��$ '�
)$��!AE�(

&�	���� �������	:/�������� )��	�	��
���

*����	� ��
��������	� ����	 ��
����� ��
�������


���	�
� � ������	��
��� *����		 ��
��������	��

P
{

sup
x∈R

|F ∗
n(x) − F (x)| → 0 *� n→ ∞

}
= 1.

��������$%)�'� G��" �����+� �$( )$!2�( ��*����'-
��" �!���  F (x) '���) �)( ' *� $�@�� ��

1�� + �3����+# �$( '�3���� 3�$%I�&� �3Q�+� G+-
* � 2�)��( �!��� ( ��)*����$�� ( +�$� ��$ 2���)( ��
������ 2�)��" �!���  ��)*����$�� (# ���� ' G��+ )$!-
2�� G+* � 2�)��( )$!2�"��( '�$ 2 �� ('$(��)( ��)��-
��2�� B���I + �3����+ ������ 2�)��" )$!2�"��" '�$ -
2 ��# *�)�������+ *� '�3�����

��))��' + ���2�� ( '�3��� ' '����)��AE�+ *��(�-
���

x(1) < x(2) < . . . < x(n).

��
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1�&��# ' 2�)���)� #

x(1) = min (x1, x2, . . . , xn), x(n) = max (x1, x2, . . . , xn).

C� G��+ xk ����'���)( k-� �	�
��	�	� ���������	�#
Wn = x(n) −x(1) 5 �����=	� ��
	���# � ����2��" �(�
x(1), x(2), . . . , x(n) ����'���)( ����� �	���� �
�	�
��
	����

+����� ,� H�"� �� �!���  ��)*����$�� ( ���"� B
2$���' '�� �� ����&� �(���

+����� %� C���*�$�&�( ������ 2�)�!A �!��� A ��)-
*����$�� ( �3)�$A��� ��*����'��"# ��"� �� *$����)�%
��)*����$�� ( '���(���)��" k-" *��(���'�" )��� )� � 
 �!��� A ��)*����$�� ( ���+�B� '�3��� �

62�' ���# G+* � 2�)��( �!��� ( ��)*����$�� ( +�-
@�� 3��% ��* )��� ' ' ��

F ∗
n(x) =

⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

0, �)$ x ≤ x(1),
1
n , �)$ x(1) < x ≤ x(2),
2
n , �)$ x(2) < x ≤ x(3),

. . . . . . . . . . . . . . . . . .

1, �)$ x > x(n).

+������	� ,� J)$ ������ 2�)��( �!��� ( ��)*����-
$�� ( �� ('$(��)( ��*����'��" 	��*� +��# ������ 2�-
)��( )$!2�"��( '�$ 2 �� � )������
# �� ��������� ���-
2�� ( ' '�3���� +�&!� )�'*����%� 1�&�� G$�+���� '�3��-
� +�@�� ��* )��% ' ��!3�'�AE�+ *��(���  �3����2 �%
k-� *� '�$ 2 �� ���2�� � 2���� x(k)� L+* � 2�)��( )$!-

��



K �� 0�3����� L+* � 2�)��� ��)*����$�� ����

2�"��( '�$ 2 �� 3!��� ����'��%)( �(��+ ��)*����$�� (

η x(1) x(2) . . . . . . x(l)

P n1
n

n2
n . . . . . . nl

n

,

&�� l 5 2 )$� ���$ 2��B ���2�� " ' '�3����# nk 5 2 )$�
*�'����� " ���2�� ( x(k) ' ��"� C� G��+ )+�)$ μ(x) )�-
B���(��)(# ��$%�� ��@��� ���2�� � x(k) < x !2 ��'���)(
)��$%�� ���# )��$%�� ��� ')���2���)( ' '�3����� L+* -
� 2�)��( �!��� ( ��)*����$�� (# ��� ����!��� *��(�%#
+�@�� 3��% ��* )��� ' ' ��

F ∗
n(x) =

⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

0, �)$ x ≤ x(1),
n1
n , �)$ x(1) < x ≤ x(2),
n1+n2

n , �)$ x(2) < x ≤ x(3),

. . . . . . . . . . . . . . . . . .

1, �)$ x > x(l).

0)� )'�")�'� G+* � 2�)��" �!���  ��)*����$�� ( ���
����� ������ 2�)��" �!���  ��)*����$�� ( )�B���(�-
)(�

1�� ��� *� 3�$%I B n ���2�� ( G+* � 2�)��"  ���-
��� 2�)��" �!��� " ��)*����$�� ( ���&��� 2���� )3$ -
@�A�)(# �� )$��!�� �@ ���%# 2�� ���$ 2���  B 2 )$�-
'�� B������� )� � # ��*� +��# +�+���� ����&�  ��-
&� @� *��(��� ���@� 3!�!� 3$ �� ��!& � ��!&!� C!)�%

bl = Mξl =
+∞∫
−∞

xldF (x) 5 ������ 2�)� " ��2�$%��" +�-

+��� l-&� *��(���� 0 ��2�)�'� �&� ����� '��%+�+ '�3�-
��2��" ��2�$%��" +�+��� l-&� *��(���

xl = Mηl =
n∑

k=1

xl
k

1
n

=
1
n

n∑
k=1

xl
k.

��



,M.0. �� �.1J�.1NOJ9�.� 91.1N91N�.

0 2�)���)� # *� l = 1 *�$!2��+# 2�� ' ��2�)�'� ����� 
������ 2�)��" )�����" a = b1 = Mξ 3����)( '�3���2��(

)����(( x = 1
n

n∑
k=1

xk�

C!)�% ��*��% ck = M(ξ −Mξ)l 5 ������ 2�)� " ���-
���$%��" +�+��� l-&� *��(���� 0 ��2�)�'� �&� ����� 
'��%+�+ '�3���2��" ������$%��" +�+��� l-&� *��(���

S̃l = M(η −Mη)l = M(η − x)l =

=
n∑

k=1

(xk − x)l
1
n

=
1
n

n∑
k=1

(xk − x)l.

0 2�)���)� # *� k = 2 ������" ������ 2�)��" � )*��)  
σ2 = Dξ ('$(��)( '�3���2��( � )*��) (

S̃2 = Dη = M(η −Mη)2 =
1
n

n∑
k=1

(xk − x)2.

0 ��$%��"I�+ ��+ *�����3 �)( ���@� ��!&�� '���@�� �
�$( '�3���2��" � )*��)  # *�$!2�AE��)( *� +���� �+
 ��" ���+!$� �$( � )*��)  )$!2�"��" '�$ 2 ��#

S̃2 = Dη = Mη2 − (Mη)2 = Mη2 − x2 =

= x2 − x2 =
1
n

n∑
k=1

xk
2 − x2,

&�� x2 = 1
n

n∑
k=1

xk
2�

C!)�% x1, x2, . . . , xn 5 '�3����# x(1)  x(n) 5 �� -
+��%I�(  �� 3�$%I�( *��(���'�� )��� )� � )���'��-
)�'����� �����$ + ������� [x(1), x(n)] �� k ��'��B 2�-

)��" �$ ��" l = x(n)−x(1)

k ��@��(� 63����2 + G� 2�)� 

�:



K �� 1�2�2��� ����� �� �'�)���B *���+����'

Δ1,Δ2, . . . ,Δk  *!)�% μ(Δi) 5 2 )$� '�3���2��B ���-
2�� "# *�*�'I B ' Δi� H� ��@��+ Δi ��� �� �)��'��  
*�)��� + *�(+�!&�$%� � '�)���" hi = μ(Δi)

nl � C�$!2��-
��( )�!*��2���( � &!�� ����'���)( ����	�����	� 	�:
�	��������= ����	�� J� *$�E��% ��'��

S =
k∑

i=1

|Δi|hi =
1
n

k∑
i=1

μ(Δi) = 1.

C���*�$�@ +# 2�� ������ 2�)��( )$!2�"��( '�$ 2 -
�� ξ �3)�$A��� ��*����'�� ) *$����)�%A ��)*����$�� (
p(x)� C� �����+� � )�����+

P{ξ ∈ Δi} =
∫
Δi

p(x)dx = p(ci)|Δi|.

C� !) $����+! �����! 3�$%I B 2 )�$ ' ���+� ����$(

μ(Δi)
n

����→ P{ξ ∈ Δi} = p(ci)l,

���!��

hi =
μ(Δi)
nl

����→ p(ci).

1�� + �3����+# ' �3)�$A��� ��*����'��+ )$!2�� & )��-
&��++� ���� ��2�)�'����� *���)��'$�� � � *$����)� '�-
��(���)� ������ 2�)��" )$!2�"��" '�$ 2 ��� N��&��
�� �)��'��  *��'������&� ��))!@��� ( )2 ��A�# 2��
*� 3�$%I�+ 2 )$� ��3$A��� " & )��&��++� )���+ �)( �
*$����)� '���(���)� p(x)� L�� ��'����� �$( ��&� 2��-
3� G�� 3�$� ���# �!@��# 2��3� '�*�$�($�)% ��'�$%��
)$�@��� )�����I�� � +�@�! n  k�

D�+�� +# 2�� !�������+ ����)�����+ �� �3$����� G+-
* � 2�)��( �!��� ( ��)*����$�� (# *�)��$%�! Fn(x) ����→
F (x) ��'��+���� *� x ∈ R 3�� ')(� B ��*�$� ��$%��B
�&��� 2�� "�

��
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� �� �������� ����	� �����������



�
������

H�2��+ ) *� +���� C���*�$�@ +# 2��  �+��(��)( �*����-
$����( � � 2�)��( *�)��(���( a� ���!$%����  �+���� "

x1 = a+ δ1,

x2 = a+ δ2,

. . . . . . . . .

xn = a+ δn

�3$���A� ��������" )$!2�"��" �I 3��" δ� J)$ �I 3��
 �+���� " )�$���'���)(  � 3�$%I�&� 2 )$� ����' ) -
+�B '�$���'# ��@��"  � ������B �����'��� ��'��+����
+�$�� '$ (� � �� �I 3�!# �� *� ������$%��" *����$%��"
�����+� �I 3�� 3!��� *� 3$ @����  +��% ���+�$%���
��)*����$�� �� C���*�$�@ +# 2��  �+���� ( $ I�-
�� ) )��+�� 2�)��" �I 3� # ���� Mδk = 0� 1�&��
δk ∼ N(0, σ2)� C� $�++� � ���+�$%��+ ��)*����$��  
xk ∼ N(a, σ2)� 1�� + �3����+# x1, x2, . . . , xn �3���!A�
'�3���!  � ���+�$%��&� ��)*����$�� ( ) *���+����+ 
(a, σ2)� 0��� ���� ����2� ����� *� �����" '�3����
*���+���� a# ����  �+��(�+�" � � 2�)��" *�)��(���"�

C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (
F (x/θ)# ��' )(E�&� �� �� �'�)���&� *���+���� θ�

(���������� 2$8�( ���	�  $ ���������	� �� �-
'�)���&� *���+���� θ ����'���)( $A3�( 3���$�')��(
�!��� (

θ̂n = θ̂(x1, x2, . . . , xn)

�;



K �� 1�2�2��� ����� �� �'�)���B *���+����'

�� '�3���2��B ���2�� "�

0 G��+ �*����$��  ���3�'�� �  �+�� +�)� *� ����-
$A ���3B�� +� �$( ��&�# 2��3� *� *��)����'�� ' ����-
�! G$�+����' �3)�������" '�3��� *�$!2�$�)% )$!2�"-
��( '�$ 2 ��� L�� *��'�$(�� ��))+��� '��%# ��*� +��#
+���+�� 2�)��� �@ ��� � �����  $ ��!& � 2 )$�'��
B������� )� � � 6�+�� +# 2�� �*����$�� � ����� ��-
) � ���+�$%��" B�������  �� ����@���  ��! � '��&�
*�� +�� ( ����� ��� ��������" '�$ 2 ��# 3$ ���" �
���� '��+�+! *���+���!� H�*� +��# *�)��(���( 5 3���-
$�')��( �!��� (� C�G��+! ' ��2�)�'� ����� *���+����
θ +�@�� '�(�% θ̂n = 0#  $ θ̂n = 1010#  $ θ̂n = −1050# ����
'�$ 2 �! ��� !&���� ��$��!A �� ���� '��+�&� *���+��-
���

�$( ��&�# 2��3� ������ �3$���$� ��")�' ��$%��
B���I + ��2�)�'�+ # *� 3$ @�()% ' ��������+ )+�)$�
� ���� '��+�+! *���+���!# �� ��� ���$���'�A� �*����-
$����� ��*�$� ��$%��� ���3�'�� (�

(���������� 2$2� 6����� �� �'�)���&� *���+����
θ ����'���)( �����>���	�# �)$ �� )������ ���2�� �
)�'*����� ) ���� '��+�+ *���+����+# ����

Mθ̂n = θ.

�$( *�� �'�$%��" ����� ) ����2��+ +���+�� 2�-
)� + �@ ��� �+ ���>����� ����'���)( βn = Mθ̂n − θ�
1�� + �3����+# ��)+�E����( ������ 5 ������ )� )+�E�-
� �+# ��'��+ �!$A�

(���������� 2$?� 6����� �� �'�)���&� *���+���� θ
����'���)( �	��	
�����	�# �)$ ��� )B�� �)( *� '���-

��



,M.0. �� �.1J�.1NOJ9�.� 91.1N91N�.

(���)� � ���� '��+�+! *���+���!# ����

θ̂n
P→ θ.

9�)��(��$%��)�% ����2���# 2�� ) ��)��+ �3Q�+� '�-
3��� ��2�)�'� ����� ��$@�� !$!2I��%)(� 2�+ 3�$%I�
n# ��+ 3$ @� ������ � θ�

��� +� *�+� +# ' *��)����)�'� L2(Ω, F, P ) )$!2�"-
��B '�$ 2 �#  +�AE B ����2��" ��2�$%��" +�+��� '��-
��&� *��(��� 	Mξ2 <∞
# ��))��(� � +�@�! )$!2�"��+ 
'�$ 2 ��+ ξ  η �*����$(��)( ���

ρ(ξ, η) =
√
M |ξ − η|2.

J)��)�'���� *����%)( *�)��� �% ���!A �����!# ������(
3�$� 3� ��� +�@�� 3$ @� �� ���� '��+�&� *���+����
*� G��+! ��))��(� A�

(���������� 2$5� 6����� �� �'�)���&� *���+����
θ ����'���)( ;<<������	�# �)$ )��� ')�B ������
) ����2��+ +�+����+ '����&� *��(��� ��� ��)��'$(��
+ � +!+ M |θ̂n − θ|2�

1�� + �3����+# �)$ �$( $A3�" ����� θ̂n  ��������"
����� θ∗n ) ����2��+ ��2�$%��+ +�+����+ '����&�
*��(��� '�*�$�(��)( ����'��)�'�

M |θ∗n − θ|2 ≤M |θ̂n − θ|2,
�� ������ θ∗n ('$(��)( G����� '��"�

O�)�� G����� '�!A �����!  E!� ' �$�))� ��)+�-
E����B ������� 1�� ��� ' G��+ �$�))� Mθ̂n = θ# ��
M |θ̂n − θ|2 *��'��E���)( ' � )*��) A� C�G��+! G�-
���� '��" ' �$�))� ��)+�E����B ������ 3!��� ����(

��
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��)+�E����( ������# ������( )��� ')�B ��)+�E����B
������ ) ����2��" � )*��) �"  +��� �� +��%I!A � )-
*��) A� 9$���'���$%��# ��� 3!��� �� 3�$�� ��+*�����
���3��)�'��% )'� ���2�� ( '���!& ���� '��+�&� *�-
��+����# ��&�� �$( ���� '�� ( 3!�!�  )*�$%��'��%)(
���$ 2��� '�3��� �3Q�+� n�

&�	���� 2$@� -
�	 
 ���

� ��
������!� ������ 
�.
��
�
��� /**���	
��� ������� �� ��� ��	�
�
���� 


�����
�� �� /�
	
�������
�	 0�#�#� �
�	 θ̂n 	 ψ̂n 1

�
� /**���	
�!� ��
������!� �����	� �� P{θ̂n = ψ̂n} =
12�

� � � � � � � � $ % ) � ' �� C!)�% θ̂n  ψ̂n 5 �'�
G����� '��� ��)+�E����� ����� # ����

Mθ̂n = Mψ̂n = θ

 # �)$ σ2 5 �� +��%I�(  � � )*��) " ��)+�E����B ���-
���# ��

Dθ̂n = Dψ̂n = σ2.

��))+��� + �����!

τ̂n =
θ̂n + ψ̂n

2
.

6�� ��)+�E����(�

Mτ̂n =
1
2
M(θ̂n + ψ̂n) = θ.

1�� ��� σ2 5 �� +��%I�(  � � )*��) " ��)+�E����B
������# ��

Dτ̂n =
1
4
D(θ̂n + ψ̂n) =

1
4
{Dθ̂n +Dψ̂n + 2cov(θ̂n, ψ̂n)} =

��
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=
1
4
(σ2 + σ2 + 2rσσ) =

1
2
σ2(1 + r) ≥ σ2,

&�� r 5 ��G�� � ��� �����$(�  +�@�! θ̂n  ψ̂n� N� *�-
)$����&� ����'��)�'� )$��!��# 2�� r ≥ 1� 1�� ��� ��G�-
� � ��� �����$(�  �� +�@�� 3��% 3�$%I� �# �� r = 1�
C� )'�")�'! ��G�� � ���� �����$(�  ) '���(���)�%A �

ψ̂n = Aθ̂n +B, &�� A > 0.

C�)��$%�! '����� )$�&��+�� 5 *�)��(���(# �� )$�&��+��
5 ����' ) +�� )$!2�"��� '�$ 2 ��� C� )'�")�'�+ � )-
*��)  

Dψ̂n = A2Dθ̂n, ���� σ2 = A2σ2,

���!�� ) !2���+ ��&�# 2�� A > 0# )$��!�� A = 1� N���# )
'���(���)�%A �

ψ̂n = θ̂n +B.

���( +���+�� 2�)��� �@ ��� � �� �3� B 2�-
)��"# *�$!2 + θ = θ + B# ���� B = 0� 1�-
� + �3����+# ψ̂n = θ̂n ) '���(���)�%A ��
�

0 ��2�)�'� *� +��� ��))+��� + '�3���!
x1, x2, . . . , xn  � ��������&� ��)*����$�� ( ) �����-
� 2�)� + )�����" a = Mξ  � )*��) �" σ2 = Dξ�
��� &�'�� $�)% '�I�#  B ������+ ('$(A�)( )���'��-

)�'���� '�3���2��( )����(( x = 1
n

n∑
k=1

xk  '�3���2��(

� )*��) ( S̃2 = 1
n

n∑
k=1

(xk − x)2 = 1
n

n∑
k=1

xk
2 − x2� 9

���+�$%��" ��2� ���� ( 5 G�� ����� # *�)��$%�! �� 
('$(A�)( ��*����'��+ �!��� (+ �� x1, x2, . . . , xn#
���� 3���$�')� + �

�
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�)����' +# ��� + ��2�)�'�+ �3$���A� G� ����� �

�� 3����� x ������	��
��� 
������ a�

A. Mx =
1
n

n∑
k=1

Mxk =
1
n

(a+ a+ . . . + a) =
1
n
na = a,

���� x 5 ��
�������� ������ a�
�� 1�� ��� x1, x2, . . . , xn 5 ����' ) +�� �� ����'�

��)*����$����� )$!2�"��� '�$ 2 �� ) ����2��+ +���-
+�� 2�)� + �@ ��� �+ Mξ = Mxk = a# �� *� �����!
3�$%I B 2 )�$ ' ���+� R �2 ��

x =
1
n

n∑
k=1

xk
P→ a,

���� x 5 
�
���������� ������ a�
0� 0�*��) �3 G����� '��)� ����� x ' �$�))� ��)+�-

E����B ������ ��I���)( 3�$�� )$�@��  ��' ) � �� ' ��
������ 2�)��&� ��)*����$�� (� C��@� +� !3�� +)(# 2��
�)$ '�3���� '�(��  � ���+�$%��&� ��)*����$�� ( ) *�-
��+����+ (a, σ2)# �� x ('$(��)( G����� '��" ' �$�))�
��)+�E����B  ��� ����'��+�B ��&!$(���B �������
J)$ '�3���� 3����)(  � ��'��+����&� ��)*����$�� ( ��
������� [a− h, a+ h]# �� )!E�)�'!A� 3�$�� G����� '���
����� a# 2�+ x�

+����� ,� C���@ ��# 2�� �)$ x1, x2, . . . , xn 5 '�-
3����  � ��'��+����&� ��)*����$�� ( �� ������� [a −
h, a + h], ân = x(1)+x(n)

2 # �� Dx = O( 1
n)# ' �� '��+( ���

Dân = O( 1
n2 )# ���� *� 3�$%I B n ������ ân ������ '���

����� x�

��
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�� 3����� S̃2 ������	��
��� �	
���
		 σ2�

S� C� )'�")�'�+ +���+�� 2�)��&� �@ ��� (

MS̃2 =
1
n

n∑
k=1

Mxk
2 −Mx2. (2.1)

�$( �*����$�� ( MS̃2 �)����)( �*����$ �% Mxk
2  Mx2�

N+��+

σ2 = Dξ = Dxk = Mx2
k − (Mxk)2 = Mx2

k − a2,

Dx =
1
n2

n∑
k=1

Dxk =
σ2

n
= Mx2 − (Mx)2 = Mx2 − a2,

���!��

Mx2
k = σ2 + a2, Mx2 =

σ2

n
+ a2. (2.2)

C��)��'$(( 	���
 ' 	���
# *�$!2 +�

MS̃2 = σ2 + a2 − σ2

n
− a2 =

n− 1
n

σ2.

N���# S̃2 �� �
����
� ��
�������� ������� σ2� C�G��-
+! *��*��' + ��# ''��( ��� ����'��+!A �����������9
��
	�	���9 ��������9

S2 =
n

n− 1
S̃2 =

1
n− 1

n∑
k=1

(xk − x)2.

4
���
������ 
!�������� �	
���
	� �
����
� ��
��.
������ ������� ������	��
��� �	
���
		�

MS2 =
n

n− 1
MS̃2 =

n

n− 1
n− 1
n

σ2 = σ2.

��
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C�G��+! $!2I� *�$%��'��%)(  )*��'$����" '�3���2��"
� )*��) �"� 6����� �$( '�3���� 3�$%I�&� �3Q�+� +��-
@ ��$% n−1

n +�$� ��$ 2���)( �� �  ���� �� �� ��&�# ����"
'�3���2��" � )*��) �" *�$%��'��%)(# �� )��$% !@ )!E�-
)�'�����

0� 1�� ��� )$!2�"��� '�$ 2 �� x1, x2, . . . , xn ����' -
) +�  �� ����'� ��)*����$���# ��  )$!2�"��� '�$ -
2 �� x2

1, x
2
2, . . . , x

2
n �3$���A� G� + @� )'�")�'�+ 	�3-

�)�!"�� *�2�+!
� J)$ ������ 2�)��( )$!2�"��( '�$ 2 -
��  +��� ����2�!A � )*��) A 	+� )��� + �� �����!# ����
*���*�$�&���)( �� )!E�)�'�'�� �
# �� ���  +��� ����2-
��" ��2�$%��" +�+��� '����&� *��(��� b2 = Mξ2� C�-
G��+! �$( *�)$���'���$%��)� )$!2�"��B '�$ 2 � (ξ2n)
'�*�$���� !)$�' ( ������ 3�$%I B 2 )�$ ' ���+� R �-
2 ��# *� ������+!

1
n

n∑
k=1

ξ2k
P→ b2 = Mξ2 = σ2 + a2.

1�� ��� x
P→ a# �� *� )'�")�'�+ )B�� +�)� *� '���(���-

)� x2 P→ a2  S̃2 = 1
n

n∑
k=1

ξ2k − x2 P→ (σ2 + a2) − a2 = σ2�

1�� + �3����+# S̃2 5 
�
���������� ������ σ2�

1�� ��� n
n−1 → 1# ��  *���'�� n

n−1
P→ 1� C� )'�")�'�+

)B�� +�)� *� '���(���)� S2 = n
n−1 S̃

2 P→ 1 · σ2 = σ2�

C�G��+! S2 ���@� �
����
� 
�
���������� ������� σ2�

� �� ������ 
�������� �����	

�� ��))+��� + ��$%�� �'� �� 3�$�� *�*!$(���B +�����
*�$!2�� ( ��2�2��B �������

��
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,# ����� �������
�

C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (
F (x/θ1, θ2, . . . , θm)# ��' )(E�&� �� m �� �'�)���B *���-
+����' θ1, θ2, . . . , θm� ����� &�'�� $�)% � ��+# 2�� ' ) $!
3$ ��)� ������ 2�)��"  G+* � 2�)��" �!��� " ��)*��-
��$�� ( ��$@�� 3��% 3$ �� ��!& � ��!&! )���'��)�'!-
AE � ������ 2�)� �  '�3���2��� +�+����� C!)�%

bl = Mξl =

+∞∫
−∞

xldF (x/θ1, θ2, . . . , θm) = bl(θ1, θ2, . . . , θm) 5

��2�$%��" ������ 2�)� " +�+��� l-&� *��(���# ('$(A-
E ")( �!��� �" �� �� �'�)���B *���+����'� 1�&�� ��
3$ ��� � )���'��)�'!AE�+! '�3���2��+! +�+���! xl =
1
n

n∑
k=1

xl
k� �$( *��'�B m ��2�$%��B +�+����' '+�)�� *� -

3$ @����B ��* I�+ ��2��� ��'��)�'�# ' ������� '+�)��
 )� ���B ���2�� " *���+����' *��)��' +  B ����� �

b1(θ̂1, θ̂2, . . . , θ̂m) = x1,

b2(θ̂1, θ̂2, . . . , θ̂m) = x2,

. . . . . . . . . . . . . . . . . .

bm(θ̂1, θ̂2, . . . , θ̂m) = xm. (3.1)

9!�% +����� +�+����' )�)�� � ' ��B�@���  ������
�� �'�)���B *���+����' ��� ��I�� ( *�$!2����" ) )��-
+� m !��'��� " ) m �� �'�)���+ �

+������	� ,� 0+�)�� ��2�$%��B +�+����' +�@��
' ��������B  � !��'��� "  )*�$%��'��% ������$%���

�:
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+�+����� C� G��+ ' ��@��+  � !��'��� " )$�'�  
)*��'� ��$@�� *� ��'� '��%)( ���� +����� +�+�����

5�	��� ,� C!)�% x1, x2, . . . , xn 5 '�3����  � ���+�$%-
��&� ��)*����$�� ( ) *���+����+ (a, σ2)� C� ��'� '�(
*��'�� ��2�$%���  '����� ������$%��� +�+����# *�$!-
2 + ) )��+! !��'��� "

â = x,

σ̂2 = S̃2,

������( !@� �����I��� ����) ��$%�� �� �'�)���B ���-

���� C�$!2 $  �'�)���� ��+ ����� x  S̃2 �� �'�)���B
*���+����' a  σ2 )���'��)�'����� J)$ 3� +� *� ��'-
�($ ' �3� B !��'��� (B ��2�$%��� +�+����# �� '�����
!��'��� � ) )��+� *� I$�)% 3� ��I��%� ���!$%���#
���!+���)(# *�$!2 $)( 3� ��� + @��

5�	��� %� ��))+��� + )B�+!  � n ����' ) +�B  )-
*���� " ����!$$ ) '���(���)�%A !)*�B� p� ���!$%���
xk k-&�  )*���� ( 3!��+ ��& )�� ��'��% ��� 2 )$� !)*�-
B�' ' G��+  )*����  # ����

xk =

{
1, �)$ ' k-+  )*����  *�� ��I�$ !)*�B,

0, �)$ ' k-+  )*����  *�� ��I$� ��!��2�.

0 �����+ )$!2�� '�3���� x1, x2, . . . , xn )�)�� � ��$%��
 � �!$�"  �� � �� 1����� 2�)��( )$!2�"��( '�$ 2 �� ξ
5 2 )$� !)*�B�' ' ����$%��+  )*����  # �� ��)*����$�-
� � ��' ) � �� �� �)�'����&� *���+���� p� C� ��'� '�(
*��'�� ��2�$%��� +�+����# *�$!2��+ ) )��+!  � ����&�

��
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!��'��� ( �$( �*����$�� ( ����� p̂n �� �'�)���&� *�-
��+���� p�

p̂n = x =
1
n

n∑
k=1

xk =
μ

n
,

&�� μ 5 2 )$� !)*�B�' ' n  )*���� (B� 1�� + �3����+#
������" '���(���)� !)*�B� p ('$(��)( ����) ��$%��(
2�)���� !)*�B� μ

n �

&�	���� ?$8� -
�	 ������	��
��� 
�������� 
��	.
�	�� 	���� ������!� ������ m.�� �������� � 
	
����
���
���	� 06#,2 	���� ��	�
�
����� ��"��	�

θ̂k = b−1
k (x1, x2, . . . , xm), k = 1,m,

����
����� ������!
�!�	 ������!�	 *����	��	 b−1
k �

�� /�� ��"��	� ���� 
�
��������!� �����	 �������.

��
 θk, k = 1,m�
� � � � � � � � $ % ) � ' �� 62�' ���# 2�� �$(

k = 1, 2, . . . ,m )$!2�"��� '�$ 2 �� xk
1, x

k
2 , . . . , x

k
n ����-

' ) +�# �� ����'� ��)*����$���   +�A� ����2��� +���-
+�� 2�)��� �@ ��� � bk(θ1, θ2, . . . , θm)� C� �����! 3�$%-
I B 2 )�$ ' ���+� R �2 ��

xk =
1
n

n∑
i=1

xk
i

P→ bk, k = 1,m.

C� �����+� ������ 	�3�3E����" �2�' ���+ �3����+ ��
�!���  n *���+����B


θ̂k = b−1
k (x1, x2, . . . , xm) P→

P→ b−1
k (b1(θ1, θ2, . . . , θm), . . . , bm(θ1, θ2, . . . , θm)) =

�;



K �� ������ *�$!2�� ( ������

= θk, k = 1,m. �

6�+�� +# 2�� +���� +�+����' �� !2 ��'��� �������-
��" ' � ������ 2�)��" �!���  ��)*����$�� (� C�G��+!
���+� )�)��(��$%��)� 	*� '�*�$���  !)$�' " �����-
+� �
 �� �� &����� �!�� ��!& B B���I B )'�")�' �������
C� �&� *� +����  *�$!2����� ����� ���3B�� +�
��*�$� ��$%�� *��'��(�%# ��*� +��# �� ��)+�E����)�%#
G����� '��)�%  ��*� C�G��+! ��))+��� + �E� �� �
+����# ������" &����� �!�� B���I � �) +*��� 2�)� �
)'�")�'� ������  *��'�$(�� *�$%��'��%)(  + �$(
'�3���� 3�$%I�&� �3Q�+� 3�� ��*�$� ��$%��" *��'��� 
 B ��2�)�'��

%# ����� ���
	�������� ���
�������	��

C!)�%  �+��(��)( � � 2�)��( *�)��(���( '�$ 2 �� a#
*� 2�+ ���!$%����  �+���� "

x1 = a+ δ1,

. . . . . . . . . . . .

xn = a+ δn

$ I��� ) )��+�� 2�)��" �I 3�   +�A� ���+�$%���
��)*����$�� � ) *���+����+ (a, σ2)� 1�&�� x1, x2, . . . , xn

5 '�3����  � ���+�$%��&� ��)*����$�� ( N(a, σ2)� �$(
��))+��� '��+�&� )$!2�( �E� ,�!)) *���$�@ $ '�3 ���%
�����! â *���+���� a ��� + �3����+# 2��3� )!++� �'�-

�����' �I 3�� ')�B  �+���� "
n∑

i=1
(xi − â)2 3�$� + � -

+�$%��"� C�$%�!()% ���3B�� +�+ !)$�' �+ G�)���+!+�
 *� ��'� '�( � �!$A *�� �'���!A *� â �� G��" )!++�#

��
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*�$!2 +# 2�� â = x� M�&�� ' ���%# 2�� G�� 5 ��2�� + -
� +!+�� 8 I�� !)+����$# 2�� )!�% G��&� +����� ����'��
C$����)�% )�'+�)���&� ��)*����$�� ( )$!2�"��B '�$ -
2 � x1, x2, . . . , xn

L(x1, x2, . . . , xn/a, σ
2) = p(x1)p(x2) . . . p(xn) =

=
1√
2πσ

e−
(x1−a)2

2σ2
1√
2πσ

e−
(x2−a)2

2σ2 . . .
1√
2πσ

e−
(xn−a)2

2σ2 =

=
1

(2π)
n
2 σn

e
− 1

2σ2

n∑
i=1

(xi−a)2

.

6�� ����'���)( �!��� �" *��'��*���3 (� 62�' ���#

)!++� �'������' �I 3��
n∑

i=1
(xi − â)2 + � +�$%�� '

��+  ��$%�� ��+ )$!2��# ��&�� �!��� ( *��'��*���-
3 ( L(x1, x2, . . . , xn/a, σ

2) +��) +�$%��� 1�*��% +�@��
��3��% � ���+�$%��)� ������ 2�)��&� ��)*����$�� (  #
)$��!( 8 I��!#  )���% ����� �� �'�)���B *���+����'
 � ��&� !)$�' (# 2��3� �!��� ( *��'��*���3 ( *� � +�-
$� +��) +�$%��� ���2�� �� C���"��+ � 3�$�� ���+�$%��-
+! �* )�� A +������

C!)�% x1, x2, . . . , xn 5 '�3����  � �3)�$A��� ��*��-
��'��&� ��)*����$�� ( ) *$����)�%A '���(���)� 
p(x/θ1, θ2, . . . , θm)# ��' )(E�" �� m �� �'�)���B *���-
+����' θ1, θ2, . . . , θm�

(���������� ?$2� 9�'+�)���( *$����)�% ��)*����-
$�� ( )$!2�"��B '�$ 2 � x1, x2, . . . , xn

L(x1, x2, . . . , xn/θ1, θ2, . . . , θm) = L(θ1, θ2, . . . , θm) =

= p(x1/θ1, θ2, . . . , θm)p(x2/θ1, θ2, . . . , θm) . . .

��
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. . . p(xn/θ1, θ2, . . . , θm),

��))+��� '��+�( ��� �!��� ( �� θ1, θ2, . . . , θm# ' ����-
��" xi 5 )$!2�"��� '�$ 2 �� 5 G$�+���� �3)�������"
'�3��� # ����'���)( <��� ��� �����	�	�	
�
�

0'���+ *��(� � �!���  *��'��*���3 ( �$( '�3��� 
 � � )������&� ��)*����$�� (� C!)�% x1, x2, . . . , xn 5 '�-
3����  � � )������&� ��)*����$�� ( ������ 2�)��" )$!-
2�"��" '�$ 2 �� ξ# *� � +�AE�" ���2�� ( uk ) '���(�-
��)�(+ P{ξ = uk} = p(uk/θ1, θ2, . . . , θm) , k = 1, 2, . . . #
��' )(E + �� m �� �'�)���B *���+����' θ1, θ2, . . . , θm�
��))+��� + )�'+�)��!A '���(���)�% *� �(� ( )$!2�"-
��+ '�$ 2 ��+ ξ1, ξ2, . . . , ξn 5 G$�+����+ �3)�����-
��" '�3��� )���'��)�'���� ���2�� " x1, x2, . . . , xn�

P{ξ1 = x1, ξ2 = x2, . . . , ξn = xn} =

= P{ξ1 = x1}P{ξ2 = x2} . . . P{ξn = xn}.

(���������� ?$?� 9�'+�)���( '���(���)�% ���2�� "
)$!2�"��B '�$ 2 � x1, x2, . . . , xn

L(x1, x2, . . . , xn/θ1, θ2, . . . , θm) = L(θ1, θ2, . . . , θm) =

= p(x1/θ1, θ2, . . . , θm)p(x2/θ1, θ2, . . . , θm) . . .

. . . p(xn/θ1, θ2, . . . , θm),

��))+��� '��+�( ��� �!��� ( �� θ1, θ2, . . . , θm# ' ����-
��" xi 5 )$!2�"��� '�$ 2 �� 5 G$�+���� �3)�������"
'�3��� # ����'���)( <��� ��� �����	�	�	
�
�

��
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5�	��� 6� C!)�% x1, x2, . . . , xn 5 '�3����  � ��'��-
+����&� ��)*����$�� ( �� ������� [a, b]� 1�&��

p(x/a, b) =

{
1

b−a , �)$ a ≤ x ≤ b,

0, �)$ x /∈ [a, b].

 �!��� ( *��'��*���3 ( *� � +��� ' �

L(x1, x2, . . . , xn/a, b) = p(x1/a, b)p(x2/a, b) . . . p(xn/a, b) =

=

{
1

(b−a)n , �)$ x(1) ≥ a, x(n) ≤ b,

0 '  ��B )$!2�(B.

5�	��� '� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*��-
��$�� ( C!�))��� ) *���+����+ λ� 1�&��

p(x/λ) = P{ξ = x} =
λx

x!
e−λ, x = 0, 1, . . .

 �!��� ( *��'��*���3 (  +��� ���+!

L(λ) = p(x1/λ)p(x2/λ) . . . p(xn/λ) =
λx1+x2+...+xn

x1!x2! . . . xn!
e−nλ.

����� +��) +�$%��&� *��'��*���3 ( )�)�� � ' ��+#
2�� ' ��2�)�'� ������ '�3 ��A�)( ��� � ���2�� (
θ1, θ2, . . . , θm# *� ������B �!��� ( *��'��*���3 ( *� -
� +��� +��) +�$%��� ���2�� �� 0 ) $! ���3B�� +�&�
!)$�' ( G�)���+!+� ���� *� ��'�(�% �!$A 2�)���� *��-
 �'����� �!���  *��'��*���3 ( *� ��@��+!  � *���-
+����'� H� ��B�� �% 2�)���� *�� �'����� �� *�� �'���-
� ( n )�+��@ ��$�" �� �2��% !��3��� M!2I� *�)�!* �%
)$��!AE + �3����+� 1�� ��� �!��� ( L = lnL '����-
)��AE�(# �� ��2�� +��) +!+� �!���  *��'��*���3 (

�
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L(θ1, θ2, . . . , θm) )�'*����� ) ��2��" +��) +!+� ��� ����-
'��+�" �	����<������	� <��� �� �����	�	�	
�

L(θ1, θ2, . . . , θm) = lnL(θ1, θ2, . . . , θm)� C� ��'�(�+ �!$A
�� 2�)���� *�� �'������

∂L(θ1, θ2, . . . , θm)
∂θ1

=
n∑

k=1

∂ ln p(xk/θ1, θ2, . . . θn)
∂θ1

= 0,

∂L(θ1, θ2, . . . , θm)
∂θ2

=
n∑

k=1

∂ ln p(xk/θ1, θ2, . . . θn)
∂θ2

= 0,

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

∂L(θ1, θ2, . . . , θm)
∂θm

=
n∑

k=1

∂ ln p(xk/θ1, θ2, . . . θn)
∂θm

= 0.

N� G��" ) )��+� +�  ��"��+ ����� �� �'�)���B
*���+����' θ̂1, θ̂2, . . . , θ̂m 	D��)% *���*�$�&���)(# 2��
)$!2�" B���I "  ��� �����'�B G�)���+!+�'
�

5�	��� 7� ��))+��� + '�3���! 2 )�$ !)*�B�'
x1, x2, . . . , xn ' )B�+� ����!$$  � *� +��� �� �$( ���-
��� 2�)��" )$!2�"��" '�$ 2 �� ξ 5 2 )$� !)*�B�' ' ��-
��$%��+  )*����  5

P{ξ = x} = px(1 − p)1−x, x = 1, 0.

D��2 �# p(xi/p) = pxi(1−p)1−xi  �!��� ( *��'��*���3 (
*� � +��� ' �

L(p) = L(x1, x2, . . . , xn/p) = px1(1−p)1−x1px2(1−p)1−x2 . . .

. . . pxn(1 − p)1−xn = p

n∑
i=1

xi

(1 − p)
n−

n∑
i=1

xi

= pμ(1 − p)n−μ,

��
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&�� μ 5 2 )$� !)*�B�' ' n  )*���� (B� M�&�� �+ 2�)��(
�!��� ( *��'��*���3 ( ��'��

L(p) = lnL(p) = μ ln p+ (n− μ) ln (1 − p).

C� ��'� '�( *�� �'���!A *� p �!$A  ��+��(( p ��
�����! p̂# *�$!2 +

μ

p̂
− n− μ

1 − p̂
= 0,

���!�� p̂ = μ
n # ���� ' ��2�)�'� ����� '���(���)� !)*�B�

���� '�(�% �&� ����) ��$%�!A 2�)���!� 62�' ���# G��
��)+�E����(  # ' ) $! ������ 3�$%I B 2 )�$ ' ���+�
����!$$ # )�)��(��$%��( ������� C��@� +� !3�� +)(#
2�� ��� G����� '�� ' �$�))� ��)+�E����B  ��� ����-
'��+�B ��&!$(���B �������

5�	��� 8� N� ' �� �!���  *��'��*���3 ( *� +���
� ���$A2��+# 2�� ������+ +��) +�$%��&� *��'��*�-
��3 ( �$( a  b ' )$!2�� '�3���  � ��'��+����&�
��)*����$�� ( �� ������� [a, b] 3!�!� )���'��)�'����
â = x(1)  b̂ = x(n)�

5�	��� 9� �$( '�3���  � ��)*����$�� ( C!�))�-
�� *� +��� : $�&�� �+ 2�)��( �!��� ( *��'��*���3 (
 +��� ���+!

L(λ) = (x1 + x2 + . . .+ xn) lnλ− ln (x1!x2! . . . xn!) − nλ.

C� ��'� '�( *�� �'���!A *� λ �!$A  ��+��(( λ ��
�����! λ̂# *�$!2 +

x1 + x2 + . . .+ xn

λ̂
− n = 0,

��
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���!�� λ̂ = x�

��))+��� + )$!2�"# ��&�� *$����)�% ������ 2�)��-
&� ��)*����$�� ( p(x/θ) ��' ) � �� ����&� *���+���� θ�
�)����' + �) +*��� 2�)� � )'�")�'� ������ +��) +�$%-
��&� *��'��*���3 (� C���*�$�@ + '�*�$�����+ )$�-
�!AE � !)$�' (�

�� C���+��� θ  �&�  )� ���� ���2�� � θ0 $�@�� '�!-
��  ����'�$� (θ1, θ2)# ' ������+ )!E�)�'!A� *�� �'��-

��� ∂p
∂θ ,

∂2p
∂θ2 ,

∂3p
∂θ3 .

�� ��*!)� +� �'!������� � ������� ��'�� � *��

�����+  ���&��$�
+∞∫
−∞

p(x/θ)dx = 1�

�� i(θ0) = M
(

∂ln p
∂θ

)2∣∣∣
θ=θ0

> 0,
∣∣∣∂3p
∂θ3

∣∣∣ ≤
H(x), MH(ξ) ≤M # &�� M �� ��' ) � �� θ�

&�	���� ?$5� -
�	 
!������! �
��
	� ,�%�6� �� ���
.
���	� ���
�������	�

∂L(x/θ)
∂θ

= 0

	���� ��"��	� θ̂� �
�� ���
� 
�
���������� �������
θ0# )�� ������ ���
	�������� ���
�������	� �
	�.

����	��
�	 ��������� 
 ����������	 (θ0, 1
n·i(θ0)

) 	

�
	�����	��
�	 /**���	
���

��������$%)�'� �����+� ��: '���) �)( ' *� $�@�� ��

+������	� ,� 0 ��$%��"I�+ +� !' � +# 2�� i(θ0) +�-
@�� ������'��%)( ���  ����+�� ( � *���+���� θ0 ' ��-
��$%��+ ��3$A���  	���� ' ����+ '�3���2��+ ���2��  
#

��
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� '�$ 2 �� I(θ0) = ni(θ0) 5 ���  ����+�� ( � *���+����
θ0 ' '�3����� .) +*��� 2�)� ���+�$%��( ������ ����-
'���)( �) +*��� 2�)� G����� '��"# �)$ �� � )*��) (
��'�� 1

I(θ0) �

�  � !�"���
��� � �
��#����� � �����	��

$��
������� %
�&'�
���


C!)�% x1, x2, . . . , xn 5 '�3����  � �3)�$A��� ��*����'-
��&� ��)*����$�� ( ) *$����)�%A '���(���)� p(x/θ)# ��-
' )(E�" �� �� �'�)���&� *���+���� θ� D�* I�+ �!��� A
 $�&�� �+ 2�)�!A �!��� A *��'��*���3 (

L(θ) = L(x1, x2, . . . , xn/θ) = p(x1/θ)p(x2/θ) . . . p(xn/θ)

 

L(θ) = L(x1, x2, . . . , xn/θ) = lnL(x1, x2, . . . , xn/θ).

(���������� 5$8� 0�$ 2 ��

I(θ) = M
∣∣∣∂L(x1, x2, . . . , xn/θ)

∂θ

∣∣∣2
����'���)( ��<	��� ��� �	 ��A��� 	 ��������� θ
� ��
	��� x1, x2, . . . , xn� J)$ '�3���� )�)�� �  � ����-
&� ��3$A��� ( x1# ��  ����+�� ( ' ����" '�3����

i(θ) = M
∣∣∣∂ln p(x1/θ)

∂θ

∣∣∣2
����'���)( ��<	��� ��� �	 ��A��� 	 ���������
θ � ��
�9����� x1�

�:
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���-���+���

C���*�$�@ +# 2�� ������� � ������� ��'�� � *�
*���+���! θ *�� �����+  ���&��$�

∫
R

p(x/θ)dx# ��� 2��

∫
R

∂p(x/θ)
∂θ

dx =
∂
∫
R

p(x/θ)dx

∂θ
=
∂1
∂θ

= 0.

1�� ��� )$!2�"��� '�$ 2 �� x1, x2, . . . , xn ' �3)�����-
��" '�3���� �� ����'� ��)*����$���# ��  ����+��  '
��3$A��� (B x1, x2, . . . , xn �� ����'�  ��'�� i(θ)� C�-
G��+!

I(θ) = M
∣∣∣∂ln [p(x1/θ)p(x2/θ) . . . p(xn/θ)]

∂θ

∣∣∣2 =

= M
[ n∑

i=1

∂ln p(xi/θ)
∂θ

]2
=

n∑
i=1

M
∣∣∣∂ln p(xi/θ)

∂θ

∣∣∣2+
+

n∑
i=1

n∑
j=1, j �=i

M
[∂ln p(xi/θ)

∂θ

∂ln p(xj/θ)
∂θ

]
=

n∑
i=1

i(θ)+

+
n∑

i=1

n∑
j=1, j �=i

∫∫
R2

∂ln p(xi/θ)
∂θ

∂ln p(xj/θ)
∂θ

p(xi/θ)p(xj/θ)·

·dxidxj = ni(θ)+

+
n∑

i=1

n∑
j=1, j �=i

∫
R

∂p(xi/θ)
∂θ

dxi

∫
R

∂p(xj/θ)
∂θ

dxj = ni(θ).

1�� ����# 2��  ����+��  ' ��3$A��� (B )$�@ $ )%#
�3!)$�'$�� ����' ) +�)�%A G� B ��3$A��� "� N���#
I(θ) = ni(θ)�

��
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&�	���� 5$2� 5�
��
,2 ����
�� ������	�� ��� L(x1, x2, . . . , xn/θ) = 0� ��

��
	
	� �� ��������� θ:

%2 ����
�	�� �	**�����	��
��	� ��� ������ 
����.

 �	� �
�� 	��������
 �� ��������� θ;∫
· · ·
∫

Rn

θ̂(x1, x2, . . . , xn)L(x1, x2, . . . , xn/θ)dx1dx2 . . . dxn

	

∫
· · ·
∫

Rn

L(x1, x2, . . . , xn/θ)dx1dx2 . . . dxn,

��� θ̂n = θ̂(x1, x2, . . . , xn) 1 ��������� ������ ���������

θ:

62 I(θ) �= 0#
<���� 
!�������
� ����������	 ��	:/������;

M(θ̂n − θ)2 ≥ |1 + b′(θ)|2
I(θ)

,

��� b(θ) = Mθ̂n − θ 1 
�����	� �����	 θ̂n�

� � � � � � � � $ % ) � ' � *��'���+ �$( )$!2�(# ��-
&�� L(x1, x2, . . . , xn/θ) > 0# *�)��$%�! '� ')�B ��$�� ��)-
)+��� '��+�B *� +���B G�� '�*�$�(��)(� ��� � ��� (
��������$%)�'� �� )$!2�" !)$�' ( �
 �����+� �� *���)��-
'$(�� 3�$%I�" )$�@��)� � C� !)$�' A �����+�

Mθ̂n = θ + b(θ) =

=
∫

· · ·
∫

Rn

θ̂(x1, x2, . . . , xn)L(x1, x2, . . . , xn/θ)dx1dx2 . . . dxn.

�;



K :� N����+�� ( ' ��3$A���   '�3����� H���'��)�'�
���-���+���

C� )'�")�'! *$����)� ��)*����$�� ( '���(���)��" )$!-
2�"��&� '������

1 =
∫

· · ·
∫

Rn

L(x1, x2, . . . , xn/θ)dx1dx2 . . . dxn.

� ������� �!( *�)$��� � �'� ��'��)�'� *� θ   )*�$%-
�!( !)$�' � �
# *�$!2 +

1 + b′(θ) =
∫

· · ·
∫

Rn

θ̂(x1, x2, . . . , xn)
∂L(x1, x2, . . . , xn/θ)

∂θ
·

·dx1dx2 . . . dxn, (4.1)

0 =
∫

· · ·
∫

Rn

∂L(x1, x2, . . . , xn/θ)
∂θ

dx1dx2 . . . dxn. (4.2)

0�2 ��(  � 	:��
 ��'��)�'� 	:��
# !+��@����� �� θ#  '��-
'��( �3� 2�)� *�$!2����&� ��'��)�'� ' �'�����# *� B�-
� + � )�����I�� A

|1 + b′(θ)|2 =
∣∣∣ ∫ · · ·

∫
Rn

(θ̂(x1, x2, . . . , xn) − θ)·

·∂L(x1, x2, . . . , xn/θ)
∂θ

dx1dx2 . . . dxn

∣∣∣2.
1�� ��� ∂L

∂θ = L∂L
∂θ # �� *� +��(( ����'��)�'� ��I -

�!�(��')��&�-T'����# *�$!2 +

|1 + b′(θ)|2 =
∣∣∣ ∫ · · ·

∫
Rn

(θ̂(x1, x2, . . . , xn) − θ)·

·
√
L(x1, x2, . . . , xn/θ) · ∂L(x1, x2, . . . , xn/θ)

∂θ
·

��
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·
√
L(x1, x2, . . . , xn/θ)dx1dx2 . . . dxn

∣∣∣2 ≤

≤
∫

· · ·
∫

Rn

(θ̂(x1, x2, . . . , xn) − θ)2L(x1, x2, . . . , xn/θ)dx1·

·dx2 . . . dxn ·
∫

· · ·
∫

Rn

∣∣∣∂L(x1, x2, . . . , xn/θ)
∂θ

∣∣∣2·
·L(x1, x2, . . . , xn/θ)dx1dx2 . . . dxn =

= M(θ̂n−θ)2 ·M
∣∣∣∂L(x1, x2, . . . , xn/θ)

∂θ

∣∣∣2 = M(θ̂n−θ)2 ·I(θ).

N� *�)$����&� ����'��)�'� )$��!�� ����'��)�'� ���-
���+���� �

0 2�)���)� # �)$ ������ ��)+�E����(# �� )+�E�� �
b(θ) = Mθ̂n − θ = 0  M(θ̂n − θ)2 = Dθ̂n� C�G��+! �$(
��)+�E����B ������ ����'��)�'� ���-���+��� *� � +�-
�� )$��!AE " ' ��

Dθ̂n ≥ 1
I(θ)

=
1

ni(θ)
.

6�)A�� ' ���# 2�� �)$ � )*��) ( ����� +�$��%��(
	������  ����+�� '��(
# ��  ����+�� ( ' '�3���� �
*���+���� 3�$%I�(#  ���3����# �)$  ����+�� ( � *�-
��+���� +�$��%��(# �� � )*��) ( ����� 3�$%I�(� L���
���� �3Q()�(�� �)��)�'����)�% ���'�� ( 7 ����+�� (7
�$( I(θ)�

J)$ �$( ����� '�*�$�(A�)( !)$�' ( �����+� �#
*� ������B )*��'��$ '� ����'��)�'� ���-���+���# ��
����( ������ ����'���)( �����
��	��

��
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5�	��� ,� C!)�% x1, x2, . . . , xn 5 '�3����  � ���+�$%-
��&� ��)*����$�� ( ) *���+����+ (a, σ2)� H� �'�)���+
*���+����+ 3!��+ )2 ���% a� 1�� ���

p(x/a) =
1√
2πσ

e−
(x−a)2

2σ2 , ln p(x/a) = − ln
√

2πσ−(x− a)2

2σ2
,

∂ln p(x/a)
∂a

=
x− a

σ2
,

��  ����+�� ( � *���+���� a ' ��3$A���  

i(a) = M
∣∣∣∂ln p(x1/a)

∂a

∣∣∣2 = M
∣∣∣x1 − a

σ2

∣∣∣2 =
1
σ4
M(x1 − a)2 =

=
1
σ4
Dx1 =

1
σ4
σ2 =

1
σ2
.

0 ��2�)�'� ����� ������ 2�)��" )�����" a# ���  ��-
���# ��))+��� + '�3���2�!A )����AA# ������( ('$(��)(
��)+�E����"  )�)��(��$%��" ������" a� H�"��+ �� � )-
*��) A� 1�� ��� )$!2�"��� '�$ 2 �� x1, x2, . . . , xn ����-
' ) +�# �� *� )'�")�'�+ � )*��)  

Dx =
1
n2

n∑
i=1

Dxi =
σ2

n
.

0 ) $! ����'��)�'� ���-���+��� �$( $A3�" ��)+�E����"
��&!$(���" ����� ân *���+���� a

Dân ≥ 1
I(a)

=
1

ni(a)
=
σ2

n
= Dx.

N���# )��� ')�B ��)+�E����B ��&!$(���B ������ *���-
+���� a ������ x  +��� �� +��%I!A � )*��) A� 1�� +
�3����+# ��� G����� '�� ' �$�))� ��)+�E����B ��&!$(�-
��B �������

��
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5�	��� %� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����-
$�� ( C!�))��� ) *���+����+ λ� �$( ������ 2�)��" )$!-
2�"��" '�$ 2 ��

p(x/λ) = P{ξ = x} =
λx

x!
e−λ, x = 0, 1, . . . .

C�G��+!

ln p(x/λ) = x lnλ− lnx! − λ,
∂ln p(x/λ)

∂λ
=
x

λ
− 1.

9$���'���$%��#  ����+�� ( � *���+���� λ ' ��3$A���  

i(λ) = M
∣∣∣∂ln p(x1/λ)

∂λ

∣∣∣2 = M
∣∣∣x1

λ
− 1
∣∣∣2 =

1
λ2
M(x1 − λ)2 =

=
1
λ2
Dx1 =

1
λ2
λ =

1
λ
.

1�� ��� Mξ = λ# �� ' ��2�)�'� ����� λ )��'� '��%+�+
'�3���2�!A )����AA x� J� � )*��) (

Dx =
1
n2

n∑
i=1

Dxi =
λ

n
.

J)$ λ̂n 5 $A3�( ��)+�E����( ��&!$(���( ������ λ# ��
' ) $! ����'��)�'� ���-���+���

Dλ̂n ≥ 1
ni(λ)

=
λ

n
= Dx.

C�G��+! x 5 G����� '��( ������ *���+���� λ ' �$�))�
��)+�E����B ��&!$(���B �������

+������	� ,� 1����+� :�� )���+!$ ��'���  ��������
�$( �3)�$A��� ��*����'��&� )$!2�(# � ' *� +��� � +�

:
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*� +�� $ �� � � )������+! )$!2�A� H� )�+�+ ��$�
*� +���� )$��!AE " ���$�& G��" �����+� �$( '�3����
 � � )������&� ��)*����$�� (�

&�	���� 5$?� 5�
��
,2 ����
�� ������	�� ��� L(x1, x2, . . . , xn/θ) = 0� ��

��
	
	� �� ��������� θ:

%2 ����
�	�� �	**�����	��
��	� ��� ������ 
����.

 �	� �
�� 
��� �� ��������� θ;∑
x1

∑
x2

. . .
∑
xn

θ̂(x1, x2, . . . , xn)L(x1, x2, . . . , xn/θ) 	

∑
x1

∑
x2

. . .
∑
xn

L(x1, x2, . . . , xn/θ),

��� θ̂n = θ̂(x1, x2, . . . , xn) 1 ��������� ������ ���������

θ:

62 I(θ) �= 0#
<���� 
!�������
� ����������	 ��	:/������;

M(θ̂n − θ)2 ≥ |1 + b′(θ)|2
I(θ)

,

��� b(θ) = Mθ̂n − θ 1 
�����	� �����	 θ̂n�

�$( '�3����  � � )������&� ��)*����$�� ( ����� #
!��'$��'��(AE � !)$�' (+ G��" �����+�# ���@� ����'�-
A�)( �����
������ ��������$%)�'� �����+� :�� *�2� 
��)$�'�� *�'���(�� ��������$%)�'� �����+� :��# ��$%��
'+�)�� ����'��)�'� ��I -�!�(��')��&�-T'���� �$(
 ���&��$�' ���� *� +��(�% ���� +����� ����'��)�'�
�$( )!++�

:�
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+����� ,� ����@ �� �����+! :���

5�	��� 6� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*��-
��$�� ( ����!$$ ) *���+����+ p 	���� ξ 5 2 )$� !)*�B�'
' ����$%��+  )*����  ' )B�+� n ����' ) +�B  )*���� "
����!$$ ) '���(���)�%A !)*�B� p
� ����� 3�$� ��"����
$�&�� �+ 2�)��( �!��� ( *��'��*���3 (

L(p) = μ ln p+ (n− μ) ln (1 − p).

C�G��+!  ����+�� ( *� 8 I��! ' '�3���� � *���+����
p ��'��

I(p) = M
∣∣∣∂L(p)
∂p

∣∣∣2 = M
∣∣∣μ
p
− n− μ

1 − p

∣∣∣2 =

=
1

p2(1 − p)2
M(μ− np)2 =

1
p2(1 − p)2

Dμ =
n

p(1 − p)
.

0 ��2�)�'� ����� '���(���)� !)*�B� p ���  ����� '��%-
+�+ ����) ��$%�!A 2�)���! μ

n � ����� !)����'$���# 2��
��� ��)+�E����(  )�)��(��$%��(� J� � )*��) (

D
μ

n
=

1
n
Dμ =

pq

n
, &�� q − 1 − p.

J)$ p̂ 5 $A3�( ��)+�E����( ��&!$(���( ������ p# �� '
) $! ����'��)�'� ���-���+���

Dp̂ ≥ 1
I(p)

=
pq

n
= D

μ

n
.

1�� + �3����+# μ
n 5 G����� '��( ������ p ' �$�))�

��)+�E����B ��&!$(���B �������

:�
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� (� ���)������� ����
�*��� �
�
����������

+���
 ,�-��


0 G��+ �����$� 3!��+  )*�$%��'��% +��� 2��� �3����-
2�� (# ' 2�)���)� # 3!�'� T 3!��� �3����2��% �*���� A
����)*�� ��'�� ( +��� ��# '������ 3!�!� ��))+��� -
'��%)( ��� +��� ��� 1��# �)$ x = (x1, x2, . . . , xn)T # ��
x 5 '�����-)��$3��# � xT = (x1, x2, . . . , xn) 5 '�����-
)������ J)$ A = (aij) 5 �'�������( +��� �� *��(���
n# ��

xTAx =
n∑

i,j=1

aijxixj 5

�'����� 2��( ���+�# +��� �� ������" �)�% A�

C!)�% ξ = (ξ1, ξ2, . . . , ξn)T 5 )$!2�"��" '�����P ��&��
'����� aξ = Mξ = (Mξ1,Mξ2, . . . ,Mξn)T ����'���)(
�������������� 	�������� ����	�� ξ# � +��� ��
Cξ = (cov(ξi, ξj)) 5 �	����� �	��	� ����� ��  $ 
����� �� �	����� �� ����	�� ξ� 62�' ���# Cξ 5
) ++��� 2�)��( +��� ���

6���� @$8� -
�	 x = (x1, x2, . . . , xn)T 1 ��
�����.

�!� 
������ � ξ = (ξ1, ξ2, . . . , ξn)T 1 
������!� 
������
��

D(xT ξ) = xT Cξx.

� � � � � � � � $ % ) � ' �� 9�&$�)�� )'�")�'�+ � )*��)  

D(xT ξ) = D
( n∑

i=1

xiξi

)
=

n∑
i,j=1

xixjcov(ξi, ξj) = xTCξx.

�

:�
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1�� ��� xTCξx = D(xT ξ) ≥ 0 �$( $A3�B
x1, x2, . . . , xn# ��  � $�++� ��� )$��!��# 2�� Cξ 5 ����� -
����$%�� �*����$����( +��� ��� N���# ��'�� �� ����(
+��� �� $A3�&� )$!2�"��&� '������ ) ++��� 2�)��(  
����� ����$%�� �*����$����(�

(���������� @$2� ,�'��(�# 2�� �������������
�������	�	 ����	�� ξ �	����	�	���	 �� �	���=�	:
��� S# �)$ 

P{ξ ∈ S} = 1.

6���� @$?� ��� ����� ����! ��
��������	� 
�����.
���� 
������ ξ �!�� 
�
���������� 
 ��������� �	���.
���
��
�	� �������	�� 	 ��
�������� ����! ��� ��
�.

�	��	����� ����	�� Cξ �!�� 
!��������
� � � � � � � � $ % ) � ' �� MA3�( & *��*$�)��)�%  +���

' �
L = {x : aTx = q},

&�� a 5 ���!$�'�" '�����# ����&���$%��" L�
=������	��
��� C!)�% ��)*����$�� � ξ )�)������2�-

�� ' L� 1�&�� P{aT ξ = q} = 1# ���� ) '���(���)�%A � )$!-
2�"��( '�$ 2 �� aT ξ *�)��(���� C� )'�")�'�+ � )*��)  
 $�++� ��� D(aT ξ) = aTCξa = 0� 1�� ��� Cξ ) ++��� 2-
��  ����� ����$%�� �*����$���# �� ' ��������+ 3�� )�
��� *� '�� �)( � � �&���$%��+! ' �!# *� 2�+ �� � �-
&���$ )��(� 2 )$� λ1 ≥ 0, λ2 ≥ 0, . . . , λn ≥ 0� 0 G��+
3�� )� �'����� 2��( ���+� aTCξa *� '�� �)( � ' �!

λ1a
′
1
2 +λ2a

′
2
2 + . . .+λna

′
n
2 = 0� 9$���'���$%��# )!E�)�'!-

�� λi = 0 	' *��� '��+ )$!2��# ' ) $! ��&�# 2�� a �= 0,
3�$� 3� λ1a

′
1
2 +λ2a

′
2
2 + . . .+λna

′
n
2 > 0
� D��2 � |Cξ| = 0

 Cξ '���@�����

::



K �� ���&�+����� ���+�$%��� ��)*����$�� �� M�++�
8 I���

��
�������
��� C!)�% Cξ '���@����P ��&��
' ��������+ 3�� )� ��� � �&���$%�� ) G$�+����-
+ λ1 ≥ 0, λ2 ≥ 0, . . . , λn ≥ 0# *� 2�+ B��( 3�
���� λj = 0� 0�3 ��( ' ��2�)�'� a �� � 2��"
'�����# j-( ����� ���� ������&� ��'�� �# *�$!2 +
aTCξa = λ1a

2
1 + λ2a

2
2 + . . . + λna

2
n = 0� C� $�++� ���

D(aT ξ) = 0# ���� )!E�)�'!�� *�)��(���( q ����(# 2��
P{aT ξ = q} = 1� D��2 � ��)*����$�� � ξ )�)������2���
' & *��*$�)��)� L = {x : aT ξ = q}. �

6���� @$5� 5�
�� η = Aξ + a� ��� A 1 ��
�����.

��� ����	��� ξ 1 
������!� 
������ a 1 ��
������!�


�����# <����

Cη = ACξA
T .

� � � � � � � � $ % ) � ' �� 0 ) $! $�++� ���

xTCηx = D(xT η) = D(xT (Aξ + a)) = D(xTAξ) =

= D((ATx)T ξ) = (AT x)TCξA
Tx = xT (ACξA)x,

���� �'� �'����� 2��� ���+� )�'*���A� *� $A-
3�B ���2�� (B x1, x2, . . . , xn� C�G��+! ��'�� +�@-
�! )�3�" +��� �� G� B �'����� 2��B ���+�
Cη = ACξA

T . �

(���������� @$@� !���������� �	��������
�������������� � Rn ����'���)( ��)*����$�� � )$!-
2�"��&� '������ ξ = (ξ1, ξ2, . . . , ξn)T # ����� ���� ������-
&� 5 ����' ) +�� )$!2�"��� '�$ 2 ��#  +�AE � )���-
������� ���+�$%��� ��)*����$�� ��

62�' ���# 2��

pξ(x) =
n∏

i=1

pξi
(xi) =

n∏
i=1

( 1√
2π
e−

x2
i
2

)
=

1
(
√

2π)n
e
− 1

2

n∑
i=1

x2
i

=

:�
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=
1

(
√

2π)n
e−

1
2
xT x.

1�� ��� �$( )���������&� ���+�$%��&� ��)-
*����$�� ( Mξi = 0, cov(ξi, ξj) = 0 *� i �=
j  cov(ξi, ξi) = Dξi = 1# �� aξ = Mξ = 0, Cξ = E 5
�� � 2��( +��� ���

(���������� @$B�+	�������� ��������������
� Rn ����'���)( ��)*����$�� � )$!2�"��&� '������

η = Aξ + a,

&�� A 5 ��)$!2�"��( ���!$�'�( +��� ��# a 5 ��)$!-
2�"��" '�����# ξ 5 )$!2�"��" '�����#  +�AE "
)���������� ���+�$%��� ��)*����$�� � ' Rn�

62�' ���# aη = Mη = A · Mξ + a = A · aξ + a =
a, Cη = ACξA

T = AAT � 9 +'�$ 2�)� ��� ����# 2��
)$!2�"��" '����� η  +��� n-+����� ���+�$%��� ��)*��-
��$�� � ) +���+�� 2�)� + �@ ��� �+ aη  ��'�� �� ��-
��" +��� ��" Cη# 3!��+ �3����2��% ��� η ∼ Nn(aη, Cη)�
0 2�)���)� # �)$ ξ  +��� )���������� ���+�$%��� ��)-
*����$�� � ' Rn# �� G�� ����� +�@�� 3��% ��* )��� ���
ξ ∼ Nn(0, E)�

1�� ��� |Cη| = |A|2# �� +��� �� Cη  A '���@����
 $ ��'���@���� ����'��+����� J)$ +��� �� A '���-
@����# �� *� $�++� ��� ��)*����$�� � '������ η )�)��-
����2��� ' ��������" & *��*$�)��)�  # )$���'���$%��#
)$!2�"��" '����� η ��  +��� *$����)� '���(���)� '
Rn�

J)$ @� A ��'���@����# �� Cη ��'���@����   +���
+�)��

:;
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&�	���� @$C� -
�	 ����	�� A ��
!�������� �� ��
.
��������	� 
��������� 
������ η = Aξ + a� ��� ξ ∼
Nn(0, E)� ��
�� ��� ������!
��� � 
���
��
�
� ���
������
�� ��
��������	� 
�������
��� ������
� *��.
�����

pη(x) =
1

(
√

2π)n
√|Cη|

e−
1
2
(x−a)T Cη

−1(x−a). (5.1)

� � � � � � � � $ % ) � ' �� 9���'��)�'!AE�� *���3��-
��'�� A η = Aξ + a )$!2�"��B '������' *���3����'�� �
*���+����B y = Ax+a ('$(��)( &$��� + ) ��$ 2��+ ��
�!$( (��3 ���+ |A|� C� G��+ �3������ *���3����'�� �
 +��� ' � x = A−1(y − a)� C� �����+� ������ 	���+!$�
	������

 )$!2�"��" '����� η �3)�$A��� ��*����'��# �
*$����)�% �&� ��)*����$�� ( '���(���)��" ��'��

pη(y) = pξ(A−1(y − a)) · 1
|A| =

=
1

(
√

2π)n|A|e
− 1

2
(y−a)T (AAT )−1(y−a) =

=
1

(
√

2π)n
√|Cη|

e−
1
2
(y−a)T Cη

−1(y−a). �

��))+��� + 2�)���" )$!2�" �'!+����&� )$!2�"��&�
'������ η = (η1, η2)T � 63����2 + 2���� σ2

1 = Dξ1, σ
2
2 =

Dξ2, r = cov(η1, η2)
σ1σ2

5 ��G�� � ��� �����$(�  +�@�! η1

 η2� M�&�� ' ���%# 2�� |Cη| = (1 − r2)σ2
1σ

2
2 #

Cη
−1 =

1
1 − r2

·
(

1
σ2
1

− r
σ1σ2

− r
σ1σ2

1
σ2
2

)
.

C�G��+!

pη1,η2(x1, x2) =
1

2πσ1σ2

√
1 − r2

·

:�
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·e
− 1

2(1−r2)

[
(x1−a1)2

σ2
1

−2r· (x1−a1)(x2−a2)
σ1σ2

+
(x2−a2)2

σ2
2

]
. (5.2)

0 *��)����)�'� Ox1x2z G�� *$����)�%  +��� ' � 7B�$+�7
) '��I ��" ' ��2�� (a1, a2,

1
2πσ1σ2

√
1−r2

)# ������" $�@ �

'�I� *$�)��)� Ox1x2  �) +*��� 2�)� )*!)����)( �
��" *� x1 → ∞, x1 → ∞� 0 )�2��  &��� �� *$��-
��)� *$�)��)�(+ # *���$$�$%��+ �) Oz# *�$!2�A�)(
�� '��# *���3��� ����+����+ *$����)�(+ ���+�$%��&�
��)*����$�� (# � ' )�2��  *$�)��)�(+ # *��*��� �!$(�-
��+ �) Oz# *�$!2�A�)( G$ *)� 	)+� � )�;


(x1 − a1)2

σ2
1

− 2r · (x1 − a1)(x2 − a2)
σ1σ2

+
(x2 − a2)2

σ2
2

= C

	*�)��$%�! �'����� 2��( ���+�# )��(E�( ' $�'�" 2�)� 
*�)$����&� ��'��)�'�# *�$�@ ��$%�� �*����$���
�

z=p (x ,x )1 2

x2a2

����1 2,

x1

z

a1

� )�;

:�
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!�������� @$D� -
�	 
������!� 
����� η = (η1, η2)T

	���� ���������� ��
��������	� 	 ��� �����	���! η1 	
η2 1 ��������	��
���!� 
������!� 
��	�	�!� �� η1 	 η2

����
	
	�! 	 ������ 	� �	� 	���� ���������� ��
���.

�����	��
� � � � � � � � $ % ) � ' �� J)$ η1  η2 5 �������-

$ ��'����� )$!2�"��� '�$ 2 ��# �� ��G�� � ��� ���-
��$(�  +�@�! � + r = 0� N� 	���
 )$��!��# 2��

pη1,η2(x1, x2) =
1√

2πσ1

e
− (x1−a1)2

2σ2
1 · 1√

2πσ2

e
− (x2−a2)2

2σ2
2 .

0 ) $! )$��)�' ( �����: G�� ����2���# 2�� η1  η2 ����' -
) +�  η1 ∼ N(a1, σ

2
1), η2 ∼ N(a2, σ

2
2). �

D�+�� +# 2�� G�� !�'��@��� � �2�' ���+ �3����+
�3�3E���)( �� n-+����" )$!2�"�

&�	���� @$E� ��� ����� ����! η ∼ Nn(a,D)� ���
a = (a1, a2, . . . , an)T , D 1 �	���������� ����	�� 
 /��.

������	 σ2
1, σ

2
2 , . . . , σ

2
n �� �	������	� �������	�� 	 ��.


�������� ����! 
������!� 
��	�	�! η1, η2, . . . , ηn �!.
�	 ����
	
	�!�	 	 ηi ∼ N(ai, σ

2
i )�

� � � � � � � � $ % ) � ' �� ��)����2��)�% �2�' ����
�$( ��������$%)�'� ���3B�� +�)� ��+�� +# 2�� ) !2�-
��+ ' �� +��� �� D ���+!$� 	���
 *� +�� ' �

pη(x) =
1

(
√

2π)nσ1σ2 . . . σn

e
− 1

2

n∑
i=1

(xi−ai)
2

σ2
i =

=
1√

2πσ1

e
− (x1−a1)2

2σ2
1

1√
2πσ2

e
− (x2−a2)2

2σ2
2 . . .

1√
2πσn

e
− (xn−an)2

2σ2
n .

:�
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��$�� �)����)( *� +�� �% ��))!@��� (#  )*�$%��'�����
*� ��������$%)�'� )$��)�' ( ���� �

1�� + �3����+# �)$ ����� ���� n-+����&� ���-
+�$%��&� '������ *�*���� �������$ ��'���# �� �� 
����' ) +�  ��@��(  � � B  +��� ���+�$%��� ��)*��-
��$�� ��

&�	���� @$84� 5�
�� η = (η1, η2, . . . , ηn)T ∼
Nn(0, σ2E)� C 1 ������������� ����	��# <���� ζ =
Cη ∼ Nn(0, σ2E)� �#�# ������������� ���������
��	�

�������� ����
	
	��
�� �����	��� ����������� 
��.

������� 
�������

� � � � � � � � $ % ) � ' �� 9���'��)�'!AE�� *���3-
����'�� A ζ = Cη )$!2�"��B '������' *���3����'�� �
*���+����B y = Cx 5 &$����� ) ��$ 2��+ �� �!$( (��-
3 ���+� 63������ *���3����'�� � �)�% x = C−1y = CTy#
*� 2�+ |CT | = |C| = 1� C� �����+� ������ 	���+!$�
	������

 )$!2�"��" '����� ζ �3)�$A��� ��*����'��# �
*$����)�% �&� ��)*����$�� ( '���(���)��" ��'��

pζ(y) = pη(CTy) · 1 =
1

(
√

2π)nσn
e−

1
2σ2 (CT y)T CT y =

=
1

(
√

2π)nσn
e−

1
2σ2 yT y.

�
H�*�+� +# 2�� )$!2�"��( '�$ 2 �� χ2

n =
ξ21 + ξ22 + . . . + ξ2n ����'���)( )$!2�"��" '�$ 2 ��"
=�:������� � n ������
�� ��	
	��# �)$ )$!2�"���
'�$ 2 �� ξ1, ξ2, . . . , ξn ����' ) +�# � ��@��(  � � B
 +��� )���������� ���+�$%��� ��)*����$�� ��

�
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6���� ��A���� 5�
�� 
������!� 
��	�	�!

ξ1, ξ2, . . . , ξn ����
	
	�!� ������ 	� �	� 	����

���������� ��
��������	� 
 ����������	 (0, σ2) 	

��� p < n 
������!� 
��	�	�! η1, η2, . . . , ηp �
��.
 �
� �	����!�	 ����	���	��	 �� ξ1, ξ2, . . . , ξn 


����	��� ��/**	�	����
� 
����	 ������� ����.

����	��
��! 0�#�# �����������! 	 ��	�� ������


�����.
����	 ��
�� ,2# <���� �
�����	���� *����

Q(ξ1, ξ2, . . . , ξn) =
n∑

k=1

ξ2k − η2
1 − η2

2 − . . . − η2
p �� ��
	
	�

�� η1, η2, . . . , ηp 	
Q
σ2 = χ2

n−p�

� � � � � � � � $ % ) � ' �� C!)�%

η1 = c11ξ1 + c12ξ2 + . . . + c1nξn,

η2 = c21ξ1 + c22ξ2 + . . . + c2nξn,

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ηp = cp1ξ1 + cp2ξ2 + . . .+ cpnξn

5 �������� ' !)$�'  $�++� $ ��"��� ��+3 ���  # *� -
2�+ cij !��'$��'��(A� !)$�' A �������+ ��'����)� 

n∑
j=1

cijckj = δik, i, k = 1, p.

��*�$� + +��� �! ��G�� � ����' n − p )�����+ ���#
2��3� *�$!2����( +��� �� C 3�$� ����&���$%��" 	$A-
3!A ) )��+! �������+ ��'����B '������' +�@�� ��*�$-
� �% �� �������+ ��'����&� 3�� )� ' n-+����+ $ ��"-
��+ *��)����)�'�
#  ''���+ )$!2�"��� '�$ 2 ��

ηp+1 = cp+1,1ξ1 + cp+1,2ξ2 + . . .+ cp+1,nξn,

��
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ηp+2 = cp+2,1ξ1 + cp+2,2ξ2 + . . .+ cp+2,nξn,

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ηp = cn1ξ1 + cn2ξ2 + . . .+ cnnξn.

1�&�� )$!2�"��� '������ η = (η1, η2, . . . , ηn)T  ξ =
(ξ1, ξ2, . . . , ξn)T )'(���� ����&���$%��+ *���3����'�� -
�+ η = Cξ� C� �����+� ���
 )$!2�"��� '�$ 2 ��
η1, η2, . . . , ηn ����' ) +�# � ��@��(  � � B  +��� ���-
+�$%��� ��)*����$�� � ) *���+����+ (0, σ2)� 62�' ���#
ξ = C−1η = CTη� C�G��+!

Q(ξ1, ξ2, . . . , ξn) = ξT ξ− η2
1 − η2

2 − . . .− η2
p = (CT η)TCTη−

−η2
1 − η2

2 − . . .− η2
p = ηT η − η2

1 − η2
2 − . . .− η2

p =

= η2
p+1 + η2

p+2 + . . .+ η2
n =

= σ2
[(ηp+1

σ

)2
+
(ηp+2

σ

)2
+ . . .+

(ηn

σ

)2]
= σ2χ2

n−p.

1�� ��� Q(ξ1, ξ2, . . . , ξn) = η2
p+1+η2

p+2+. . .+η2
n 5 3���$�'-

)��( �!��� ( �� ηp+1, ηp+2, . . . , ηn# ������� �� ��' )(�
�� η1, η2, . . . , ηp# ��  Q �� ��' ) � �� � B� �

!�������� �� ����� ��A���� 5�
��

x1, x2, . . . , xn 1 
!����� 	� ����������� ��
�������.
�	� 
 ����������	 (a, σ2)# <���� 
������!� 
��	�	�! x
	 S2 ����
	
	�! 	

nS̃2

σ2
=

(n− 1)S2

σ2
= χ2

n−1.

� � � � � � � � $ % ) � ' �� H� �&��� 2 '�( �3E��)� #
+�@�� )2 ���% a = 0 	 ��2� ���� *���"� � )$!2�"��+

��
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'�$ 2 ��+ x1 − a, x2 − a, . . . , xn − a# ������� �3���!A�

'�3���!  � N(0, σ2) ) ��+ @� S̃2  S2
� 1�&��

Q(x1, x2, . . . , xn) = nS̃2 = (n− 1)S2 =

=
n∑

i=1

x2
i − nx2 =

n∑
i=1

x2
i − η2

1 ,

&�� η1 =
√
nx = 1√

n
x1 + 1√

n
x2 + . . . + 1√

n
xn = c11x1 +

c12x2 + + . . . + c1nxn  
n∑

i=1
c21i = 1� C� $�++� 8 I��� nS̃2

�� ��' ) � �� η2
1 = nx2  

nS̃2

σ2
= χ2

n−1. �

� .� !�����
�*��� ����	� �����������



�
������

0 )B�+� ����!$$ # ��� +� *�+� +# ��)+�E����"# )�)��(-
��$%��"  G����� '��" ' �$�))� ��)+�E����B ��&!$(�-
��B ������ ������" '���(���)� !)*�B� p ('$(��)( ����-
) ��$%��( 2�)���� p̂ = μ

n � 0�()� +# ��)��$%�� ��� 3$ ���
� ���� '��+�+! *���+���! p� C� )$��)�' A  �  ���&��$%-
��" �����+� �!�'��-M�*$*)� *� 3�$%I B n

P{|p̂− p| < ε} = P
{∣∣∣μ
n
− p
∣∣∣ < ε

}
≈ 2Φ

(
ε

√
n

pq

)
.

63����2�( ε = t
√

pq
n # *�$!2 +

P
{
|p̂− p| < t

√
pq

n

}
≈ 2Φ(t).

��
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H���'��)�'�# )��(E�� *�� �����+ '���(���)� # G�' '�-
$����� ����'��)�'!(

1 +
t2

n

)
p2 − 2

(
p̂+

t2

n

)
p+ p̂2 ≤ 0,

��I�� � ������&�  +��� ' �

p̂+ t2

2n − t

√
p̂(1−p̂)

n +
(

t
2n

)2

1 + t2

n

≤ p ≤
p̂+ t2

2n + t

√
p̂(1−p̂)

n +
(

t
2n

)2

1 + t2

n

.

(6.1)
D���� + ������	��� 0�	����������9 ���	
��	���F
�	;<<� ���� �	����
3 P # &�� 0.5 < P < 1� O�E� ')�-
&� 3��!� P = 0.95  $ P = 0.99� H�B��( t *� ��3$ ��+
�!���  M�*$�)�  � !��'��� ( 2Φ(t) = P # *�$!2��+ ��-
'�� ��$%��"  ����'�$ 	�������
 �$( �� �'�)���&� *���-
+���� p# �  +���� 	;��
� 92 ���+# 2�� p ')�&�� ��B�� �)(
' ��+# *� G��+ ' )�����+ �I 3��+)( *� 3$ � ��$%�� '
100 · (1 − P ) )$!2�(B  � 100� J)$ P = 0.99# �� �I 3��
*�� )B�� � ' )�����+ *� 3$ � ��$%�� ' � )$!2��  � �

�
O )$� α = 1 − P ����'���)( ��	���� ������	����

6�+�� +# 2�� )$!2�"��+ ('$(A�)( ����� �������
	 ����'�$�
# � p B��%  �� �'�)���# �� ('$(��)( 2 )$�+# �
�� )$!2�"��" '�$ 2 ��"� C�G��+! *��' $%��� &�'�� �%#
2�� ��'�� ��$%��"  ����'�$

( p̂+ t2

2n − t

√
p̂(1−p̂)

n +
(

t
2n

)2

1 + t2

n

,
p̂+ t2

2n + t

√
p̂(1−p̂)

n +
(

t
2n

)2

1 + t2

n

)
*����'��� ) ����@��)�%A P �� �'�)���" *���+��� p# ��
�� !�'��@���%# 2�� ) ����@��)�%A P *���+��� p *�*���-
�� ' G��� ��'�� ��$%��"  ����'�$�

�:
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J)$ n '�$ ��# �� *����3��&�( ' 	;��
 '�$ 2 ��+ 3�-
$�� '�)���&� *��(���# 2�+ 1√

n
# *�$!2 + 3�$�� *��)��"

��'�� ��$%��"  ����'�$

p̂− t

√
p̂(1 − p̂)

n
< p < p̂+ t

√
p̂(1 − p̂)

n
.

1�� ��� p̂ 5 ��2�2��( ������ p# �� ��'�� ��$%��"  �-
���'�$ ' G��+ )$!2�� �����'���)( ) ++��� 2��+ ����-
) ��$%�� G��" ��2�2��" ����� � C�$�' �� �$ �� G��&�

 ����'�$�# ���� '�$ 2 �� δ = t

√
p̂(1−p̂)

n # �� �����!A +�@��
*� �3)�$A���" '�$ 2 �� ���$�� �%)( p̂ �� p# ����'���)(
�	��	���9 	 �����

C���"��+ � ) )��+�� 2�)��+!  �$�@�� A �����"
��+�� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (
F (x/θ)# ��' )(E�&� �� �� �'�)���&� *���+���� θ� C��
)��� )� ��" 3!��+ *�� +��% $A3!A 3���$�')�!A �!��-
� A �� x1, x2, . . . , xn# ��� 2�� *� *��)����'�� ' ���
)$!2�"��B '�$ 2 � 5 G$�+����' �3)�������" '�3��� 
5 *�$!2���)( )$!2�"��( '�$ 2 ���

(���������� B$8� 9��� )� �� θ� = θ�(x1, x2, . . . , xn)
����'���)( 	��	��	�	���� ���=��� �	��������:
��� ������	� ��
 ���������	�	 ��������� θ � ��:
����	���9 0�	���������	� ���	
��	���9F �	;<:
<� ����	� �	����
3 P 	
��UVU�
  $ � ��	����
������	��� α = 1 − P # �)$ 

P{θ < θ�} = P.

9��� )� �� θ� = θ�(x1, x2, . . . , xn) ����'���)( 	��	:
��	�	���� ������ �	����������� ������	� ��

���������	�	 ��������� θ � ������	���9 0�	����:
�����	� ���	
��	���9F �	;<<� ����	� �	����
3

��
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P 	
��UVU�
  $ � ��	���� ������	��� α = 1 − P #
�)$ 

P{θ > θ�} = P.

C� G��+  ����'�$� (−∞, θ�)  (θ�,+∞) ����'�A�)(
)���'��)�'���� ���=���  ������ 	��	��	�	�����
0���	��	�	����  ����	��	�	����3 �	��������:
���� ����������� ��
 ���������	�	 ���������
θ � ������	���9 0�	���������	� ���	
��	���9F
�	;<<� ����	� �	����
3 P  $ � ��	���� �����:
�	��� α = 1 − P �

(���������� B$2� 9��� )� � θ� = θ�(x1, x2, . . . , xn)
 θ� = θ�(x1, x2, . . . , xn) ����'�A�)( )���'��)�'���� ���:
��	�	����� ������ � ���=��� �	������������
��������� )���'��)�'���� ��
 ���������	�	 ����:
����� θ � ������	���9 0�	���������	� ���	
��	:
���9F �	;<<� ����	� �	����
3 P  $ � ��	����
������	��� α = 1 − P # �)$ 

P{θ� < θ < θ�} = P.

C� G��+  ����'�$ (θ�, θ�) ����'���)( �����	�	����
�	����������� ��������	� ��
 ���������	�	
��������� θ � ������	���9 0�	���������	� ��:
�	
��	���9F �	;<<� ����	� �	����
3 P  $ �
��	���� ������	��� α = 1 − P �

+������	� ,� 6�+�� +# 2�� ' G� B �*����$�� (B θ
('$(��)( B��%  �� �'�)���+# �� 2 )$�+# � )$!2�"��+ 
('$(A�)( θ�  θ��

+������	� %� J)$ θ̂n 5 ��2�2��( ������ *���+����
θ# � �'!)������ " ��'�� ��$%��"  ����'�$ �$( �� �'�)�-

�;
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��&� *���+���� θ ) ++��� 2�� ����) ��$%�� ����� θ̂n�

θ̂n − δ < θ < θ̂n + δ,

�� δ ����'���)( �	��	���9 ����������	� 	 �����

6���� 0	 �	���	���� �����	�	���= �	����:
������= ��������	� �	 	��	��	�	����
� -
�	 θ� 	
θ� 1 
���
��
�
���� �	��	� 	 
����	� ����
�����.

�	� ������! ��� ��	�
�
����� ��������� θ 
 �������.

�� P (0.5 < P < 1)� �� θ� 	 θ� �
�� �
� �
�
�����.
�	�	 ��
��	�����!�	 ��������	 ��� θ 
 �������
�� 
γ = 2P − 1�

� � � � � � � � $ % ) � ' �� C� !)$�' A P{θ > θ�} =
P, P{θ < θ�} = P � 9$���'���$%��#

P{θ� < θ < θ�} = P{θ < θ�} − P{θ ≤ θ�} =

= P − (1 − P ) = 2P − 1 = γ.

9�&$�)�� �*����$�� A ;�� G�� ����2���# 2�� θ�  θ� 5
�'!)������ � ��'�� ��$%��� *����$� �$( θ ) ����@��-
)�%A γ. �

6���� 0	 ����	����	� �������������3� -
.
�	 *����	� ��
��������	� F (x) 
�������� 
��	�	�! ξ
������!
��� �� 
�������� 
��	�	�� η = F (ξ) ��
�����.
�� ��
��������� �� ������� [0, 1]�

� � � � � � � � $ % ) � ' �� 1�� ��� 0 ≤ F (x) ≤ 1 ∀x#
�� 0 ≤ F (ξ) ≤ 1� C�G��+! �$( x ≤ 0 Fη(x) = P{F (ξ) <
x} = 0# � �$( x > 1 Fη(x) = P{F (ξ) < x} = 1� J)$ @�
0 < x ≤ 1# ��

Fη(x) = P{F (ξ) < x} = P{ξ < F−1(x)} = F (F−1(x)) = x.

��
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N���#

Fη(x) =

⎧⎪⎨⎪⎩
0, �)$ x ≤ 0,
x, �)$ 0 < x ≤ 1,
1, �)$ x > 1.

L�� ����2���# 2�� η ��'��+���� ��)*����$��� �� �������
[0, 1]. �

(��	���
 ��	���� ����������	�	 	 �������
�
5�
�� x1, x2, . . . , xn 1 
!����� 	� ��
��������	� F (x/θ)�
��
	
����� �� ��	�
�
����� ��������� θ 	 ζ =
ζ(x1, x2, . . . , xn/θ) 1 ��������� ������

��� *����	� ��

x1, x2, . . . , xn� ����� ��
	
���� �� θ# >���� �����

��
�� G(x/θ) 1 ��
	
���� �� θ *����	� ��
��������	�

�������� 
��	�	�! ζ� ������� ������!
�� �� x#

,# -
�	 G(x/θ) ��	 *	�
	��
����� x �� 
����
����
�� θ� �� ����
������	� ��
��	�����!� ������! ��� θ 

�������
�� P �������
� 	� ���
���	�

G(ζ/θ�) = P, G(ζ/θ�) = 1 − P, 0.5 < P < 1, (6.2)

� �
�
������	� ������! 
 �������
�� γ 1 	� ���
��.

�	�

G(ζ/θ�) =
1 + γ

2
, G(ζ/θ�) =

1 − γ

2
. (6.3)

%# -
�	 G(x/θ) ��	 *	�
	��
����� x �� ��!
��� ��

θ� �� ����
������	� ��
��	�����!� ������! ��� θ 
 ��.
�����
�� P �������
� 	� ���
���	�

G(ζ/θ�) = 1 − P, G(ζ/θ�) = P, 0.5 < P < 1, (6.4)

� �
�
������	� ������! 
 �������
�� γ 1 	� ���
��.

�	�

G(ζ/θ�) =
1 − γ

2
, G(ζ/θ�) =

1 + γ

2
. (6.5)

��
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� � � � � � � � $ % ) � ' �� �� C!)�% G(x/θ) *� � �) ��-
'����+ x �� '����)���� *� θ# � θ�  θ� 5 ���� !��'��� "
	;��
� 1�� ��� *� $�++� � ��'��+����+ ��)*����$��  
η = G(ζ/θ) ��'��+���� ��)*����$��� �� ������� [0, 1]# ��

P{θ > θ�} = P{G(ζ/θ) ≤ G(ζ/θ�)} = P{G(ζ/θ) ≤ P} =

= P{η ≤ P} = P.

C� $�++� � ��B�@���  �'!)������ B *����$�' *� ����-
)������ + θ�  θ� 5 �'!)������ � ��'�� ��$%��� *����-
$� ) ����@��)�%A γ = 2P − 1� D��2 �# �� ��"�!�)(  �
��B @� !��'��� " 	;��
# ������� *� � +�A� ���+! 	;��

*� ��+��� P �� γ+1

2 �

�� 9$!2�" ��!3�'�AE�" *� θ �!���  G(x/θ) ��)-
)+��� '���)( *���3��+ )*�)�3�+� �

+����� ,� ����@ �� *!��� � �����+��

C$����)�% ��)*����$�� ( )$!2�"��" '�$ 2 �� B -
�'����� ) n )��*��(+ )'�3��� �)�%

kn(x) =

⎧⎨⎩
1

2
n
2 Γ(n

2
)
x

n
2
−1e−

x
2 , �)$ x > 0,

0, �)$ x ≤ 0.

9���'��)�'!AE!A �!��� A ��)*����$�� ( �3����-

2 + Kn(x) = P{χ2
n < x} =

x∫
−∞

kn(t)dt� 62�' ���#

Kn(x) = 0 �$( x ≤ 0  Kn(x) =
x∫
0

kn(t)dt �$( x > 0�

D���� + 2 )$� α ∈ (0, 1)�
O )$� χ2

α, n = χ2(100α%; n)# ����'���)( �������:
��	� �	��	� ������������
 =�:�������# )���'��-

��
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)�'!AE�" !��'�A ���2 +�)� α  2 )$! )��*���" )'�-
3��� n  $ 100α-��	 ����	� �	��	� ������������

=�:������� ) n )��*��(+ )'�3���# �)$ 

P{χ2
n ≥ χ2(100α%; n)} =

∞∫
χ2(100α%; n)

kn(x)dx = α.

N+�A�)( ��3$ �� *��������B ��2�� ��)*����$�� (
B -�'������

H�*�+� +# 2�� ����I�� �

tn =
ζ√
χ2

n

,

' ������+ 2 )$ ��$%  ���+�����$% 5 ����' ) +�� )$!-
2�"��� '�$ 2 ��# ζ ∼ N(0, 1)# � χ2 5 )$!2�"��( '�$ 2 -
�� B -�'����� ) n )��*��(+ )'�3���# ����'���)( 	��	:
A����� !��9����� � n ������
�� ��	
	��# � ��)-
*����$�� � G��&� ����I�� ( 5 �������������� !��9:
����� � n ������
�� ��	
	��� C$����)�% ��)*����$�-
� ( 9�%A�����  +��� ' �

sn(x) =
Γ
(

n+1
2

)
√
πΓ
(

n
2

)(1 + x2
)−n+1

2
.

63����2 + )���'��)�'!AE!A �!��� A ��)*����$�-

� ( Sn(x) = P{tn < x} =
x∫

−∞
sn(t)dt� 1�� ��� sn(x) 5

2����( �!��� (# �� Sn(x)+Sn(−x) = Sn(x)+
−x∫
−∞

sn(t)dt =

Sn(x) +
+∞∫
x
sn(t)dt = Sn(x) + P{tn ≥ x} = Sn(x) +

;
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1 − Sn(x) = 1� N���# �!��� ( ��)*����$�� ( ����I�� (
9�%A����� !��'$��'��(�� )'�")�'!

Sn(x) + Sn(−x) = 1.

���  �$( ��)*����$�� ( B -�'�����# �$( ��)*����-
$�� ( 9�%A�����  +�A�)( ��3$ �� *��������B ��2���
O )$� tα, n = t(100α%; n)# ����'���)( ���������	�
�	��	� ������������
 !��9�����# )���'��)�'!AE�"
!��'�A ���2 +�)� α  2 )$! )��*���" )'�3��� n  $ 
100α-��	 ����	� �	��	� ������������
 !��9���:
�� ) n )��*��(+ )'�3���# �)$ 

P{tn ≥ t(100α%; n)} =

∞∫
t(100α%; n)

sn(x)dx = α.

D�"+�+)( ������" *���+����' ���+�$%��&� ��)*��-
��$�� (� C!)�% x1, x2, . . . , xn 5 '�3����  � ���+�$%��&�
��)*����$�� ( N(a, σ2)� 1��3!��)( *�)��� �%  ����'�$%-
��� ����� �$( *���+����' a  σ2� 0��+�@�� ) �!��  #
��&�� �� �  � *���+����' ��2��  �'�)���  ���3B�� +�
���� �% ��!&�"  ��&�� �� �'�)��� �3� *���+����  
���3B�� +� ���� �% ��@��"  � � B� ��))+��� + :
)$!2�(�

�� 5�
�� σ2 	�
�
���� �������
� ����	�� a�

1�� ��� x1, x2, . . . , xn ����' ) +�  ��@��(  � G� B
)$!2�"��B '�$ 2 �  +��� ���+�$%��� ��)*����$�� �# ��

 
n∑

i=1
xi  +��� ���+�$%��� ��)*����$�� �� C� $�++� �

���+�$%��+ ��)*����$��  '�3���2��( )����(( x =

;�
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1
n

n∑
i=1

xi ���@�  +��� ���+�$%��� ��)*����$�� �� C�)��$%-

�! Mx = a, Dx = σ2

n # �� x ∼ N(a, σ2

n )� C� $�++� � ���-
+�$%��+ ��)*����$��  ζ = x−a

σ√
n

∼ N(0, 1)� C��)��' + ζ

' �� �!��� A ��)*����$�� ( N(x)� C� !'�$ 2��  a '�-
$ 2 �� x−a

σ√
n
!+��%I���)(� 1�� ��� N(x) 5 '����)��AE�(

�!��� (# �� *� G��+ N
(

x−a
σ√
n

)
���@� !+��%I �)(� 1�� +

�3����+# N
(

x−a
σ√
n

)
�� '����)���� *� a� C� �)��'��" �����-

+�  ����'�$%��&� ���� '�� ( � @� "  '��B� " �'!)��-
���� � ��'�� ��$%��� *����$� a�  a� ) ����@��)�%A γ
��"�!�)(  � !��'��� "

N
(x− a�

σ

√
n
)

=
1 + γ

2
, N

(x− a�
σ

√
n
)

=
1 − γ

2
.

63����2 + 2���� t = tγ �����% !��'��� ( Φ(t) = γ
2 � C�-

)��$%�! N(x) = 1
2 + Φ(x)  Φ(x) 5 ��2����( �!��� (#

��
x− a�
σ

√
n = t,

x− a�
σ

√
n = −t,

���!��  )��+�" ��'�� ��$%��"  ����'�$  +��� ' �

x− σ√
n
tγ < a < x+

σ√
n
tγ ,

&�� tγ 5 �����% !��'��� ( Φ(tγ) = γ
2 # ������" ��B�� �)(

 � ��3$ � �!���  M�*$�)��

�� 5�
�� σ2 ��	�
�
���� �������
� ����	�� a�
C�$%��'��%)( *�)�������+ '�I�  ����'�$�+ +� ��

+�@�+# ��� ��� ' �&� ����� 'B�� � �� �'�)���( '�$ 2 ��
σ� 0 *�����!E�+ *!���� ' ��2�)�'� ζ# � &!� �!AE�+ '
�)��'��" �����+�  ����'�$%��&� ���� '�� (# +� 3��$ 

;�
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x−a
σ√
n
� O��3�  )�$A2 �% ��)A�� �� �'�)��!A σ# '�3���+ '

��2�)�'� ζ )$!2�"�!A '�$ 2 �!

ζ = tn−1 =
x− a

S√
n

=

x−a
σ√
n

S
σ

,

������( *���)��'$(�� )�3�" ����I�� � 9�%A����� ) n−1
)��*��(+ )'�3���� 0 )�+�+ ��$�# 2 )$ ��$% x−a

σ√
n

∼
N(0, 1)  ���+�����$% S

σ 5 ����' ) +�� )$!2�"��� '�$ -
2 �� ��� 3���$�')� � �!���  �� ����' ) +�B )$!2�"-
��B '�$ 2 � x  S2# � *� )$��)�' A  � $�++� 8 I���
(n−1)S2

σ2 = χ2
n−1# ���!��

S
σ =
√

χ2
n−1

n−1 �
C��)��' + )$!2�"�!A '�$ 2 �! ζ ' �� @� �!��-

� A ��)*����$�� ( Sn−1(t) # ������( �� !3�'���� C� 
!'�$ 2��  a ��&!+��� x−a

S√
n

!+��%I���)(# )$���'���$%-

��# Sn−1

(
x−a

S√
n

)
�� !'�$ 2 '���)(� C�G��+! �!��� (

Sn−1

(
x−a

S√
n

)
�� '����)���� *� a  *� �)��'��" �����+�  �-

���'�$%��&� ���� '�� ( � @� "  '��B� " �'!)�����-
� � ��'�� ��$%��� *����$� ) ����@��)�%A γ ��"�!�)(
 � !��'��� "

Sn−1

(x− a�
S√
n

)
=

1 + γ

2
, Sn−1

(x− a�
S√
n

)
=

1 − γ

2
.

63����2 + x−a�
S√
n

= t� 1�&�� Sn−1(t) = 1+γ
2 � 0 ) $!

)'�")�'� �!���  ��)*����$�� ( 9�%A����� Sn−1(−t) =
1 − Sn−1(t) = 1 − 1+γ

2 = 1−γ
2 # ���!�� x−a�

S√
n

= −t� N���#
a� = x− S√

n
t, a� = x+ S√

n
t� ��$��#

P{tn−1 ≥ t} = 1 − Sn−1(t) =
1 − γ

2
.

;�
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1�� + �3����+#  )��+�" ��'�� ��$%��"  ����'�$

x− S√
n
t < a < x+

S√
n
t,

&�� t = t(1001−γ
2 %; n− 1)�

���!+���)(# 2�� G� + ��'�� ��$%��+  ����'�$�+
+�@�� *�$%��'��%)(  ' )$!2��# ��&�� σ2  �'�)���# ��
*� ����"  ��" @� ����@��)�  ����'�$# *�)�������"
' ��# 3!��� 'B�� �% ' �����"  ����'�$# ���� 3!��� 3�$��
 ����+�� '��+� L�� )'(���� ) ��+# 2�� *� *�)�����  
��'�� ��$%��&�  ����'�$� ' �� ��  )*�$%��'�$�)%  ����-
+�� ( � ��2��+ ���2��  σ2�

H� *���� �� 2�)�� '��� ���� ����2�� ����'� 2 )$� ��-
3$A��� " n# �3�)*�2 '�AE�� ) �����" ����@��)�%A γ
�!@�!A ��2��)�% Δa  ����'�$%��" ����� � �$( *�)���-
����" ��+ ����� ��2��)�% δa = S√

n
t# ����

P{x− δa < a < x− δa} = γ.

H�+ ���� '�3���% n  � !)$�' (

P{x− Δa < a < x− Δa} ≥ γ,

���!�� Δa ≥ δa = S√
n
t� 1�� + �3����+#

n ≥ t2
S2

Δ2
a

,

&�� t = t(1001−γ
2 %; n− 1)�

�� 5�
�� a 	�
�
���� �������
� ����	�� σ2�

����� 3�$  ))$���'��� �'� ��2�2��� ����� S̃2  
S2 ������ 2�)��" � )*��)  σ2� H� ' )$!2��# ��&�� ���-
2�� � *���+���� a ��2��  �'�)���# $!2I�  )*�$%��'��%

;:
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��2�2�!A �����!

S∗2 =
1
n

n∑
i=1

(xi − a)2,

' �����!A 'B�� � G�� ���2�� �� 1�� ��� )$!2�"��� '�-
$ 2 �� x1−a

σ , x2−a
σ , . . . xn−a

σ ����' ) +�# � *� $�++� �
���+�$%��+ ��)*����$��  ��@��(  � � B  +��� )���-
������� ���+�$%��� ��)*����$�� �# �� )$!2�"��( '�$ -
2 ��

ζ =
nS∗2

σ2
=

n∑
i=1

(xi − a

σ

)2

('$(��)( )$!2�"��" '�$ 2 ��" B -�'����� ) n )��*��(+ 
)'�3���� C��)��' + ζ ' �� @� �!��� A ��)*����$�� (
Kn(t)� 1�� ��� *� !'�$ 2��  σ2 '�$ 2 �� nS∗2

σ2 !+��%-

I���)(# Kn(t) 5 ��!3�'�AE�( �!��� (# �� Kn

(
nS∗2

σ2

)
�� '����)���� *� σ2� C� �)��'��" �����+�  ����'�$%��&�
���� '�� ( �'!)������ � ��'�� ��$%��� *����$� �$( σ2

) ����@��)�%A γ ��"�!�)(  � !��'��� "

Kn

(nS∗2

σ2
�

)
=

1 + γ

2
, Kn

(nS∗2

σ2
�

)
=

1 − γ

2
.

63����2 + nS∗2

σ2
�

= χ2
1,γ ,

nS∗2

σ2
�

= χ2
2,γ � 1�&�� σ2

�
=

nS∗2

χ2
1,γ
, σ2

�
= nS∗2

χ2
2,γ

� ��$��#

P{χ2
n ≥ χ2

1,γ} = 1 −Kn(χ2
1,γ) = 1 −Kn

(nS∗2

σ2
�

)
=

= 1 − 1 + γ

2
=

1 − γ

2
,

;�
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P{χ2
n ≥ χ2

2,γ} = 1 −Kn(χ2
2,γ) = 1 −Kn

(nS∗2

σ2
�

)
=

= 1 − 1 − γ

2
=

1 + γ

2
.

1�� + �3����+#  )��+�" ��'�� ��$%��"  ����'�$

nS∗2

χ2
1,γ

< σ2 <
nS∗2

χ2
2,γ

,

&��

χ2
1,γ = χ2

(
100

1 − γ

2
%; n

)
, χ2

2,γ = χ2
(
100

1 + γ

2
%; n

)
.

:� 5�
�� a ��	�
�
���� �������
� ����	�� σ2�

C� )$��)�' A  � $�++� 8 I���

(n− 1)S2

σ2
= χ2

n−1.

C�'���(( ��))!@��� ( *�����!E�&� *!���� ) ��+���" n
�� n−1, S∗2 �� S2# *�$!2��+# 2��  )��+�" ��'�� ��$%-
��"  ����'�$  +��� ' �

(n− 1)S2

χ2
1,γ

< σ2 <
(n− 1)S2

χ2
2,γ

,

&��

χ2
1,γ = χ2

(
100

1 − γ

2
%; n−1

)
, χ2

2,γ = χ2
(
100

1 + γ

2
%; n−1

)
.

;;



K �� 6)��'�� ( ����  *��'��� )��� )� 2�)� B
& *�������

� /� 0����
��� ������ 
�����	�

��
��������	�� )�
����� +���


$�1�
�
&2�����
� %
�������� �
������

��3��� 	�������

C!)�% x1, x2, . . . , xn 5 '�3����  � �3)�$A��� ��*����'-
��&� ��)*����$�� ( ) *$����)�%A p(x)# ������( ��+ �� �-
'�)���� 0����� x = (x1, x2, . . . , xn)T ����'�+ ����	�	�
��
�9�����# � +��@�)�'� �&� '��+�@��B ���2�� " X
5 ��
	�	���� ��	��������	�� �� B�� + *��'�� �%
	��	���9  $ ��� �� �E� ����'�A� ������9 ���	:
���� H0# )�)��(E!A ' ��+# 2�� p(x) = p0(x)# &�� p0(x)
5 �������( *$����)�% ��)*����$�� ( '���(���)��" 	����

p0(x) ≥ 0,
+∞∫
−∞

p0(x)dx = 1
� H!$�'!A & *����! +�@��

)���+!$ ��'��% *� ��!&�+!� 1�� ��� ��3$A��� ( ' '�-
3���� ����' ) +�# �� *$����)�% ��)*����$�� ( )$!2�"��-
&� '������ x ��'�� L(x) = p(x1)p(x2) . . . p(xn)� C�G��+!
�!$�'�( & *����� )�)�� � ' ��+# 2�� ' '�3���2��+ *��-
)����)�'� X '����� ��3$A��� " x ��)*����$�� ) *$��-
��)�%A L(x)(= L(x1, x2, . . . , xn)) = L0(x)# &�� L0(x) =
p0(x1)p0(x2) . . . p0(xn)� 0 )���'��)�' � )� )�������+# ) +-
'�$ 2�)� �!$�'!A & *����! 3!��+ ��* )�'��% $ 3� ' ' -
��

H0 : p(x) = p0(x), $ 3� ' ' �� H0 : L(x) = L0(x).

��))+��� '��+�( �!$�'�( & *����� ('$(��)( ��	��	�#
 3� '���@��� �� �)�'����� ��)*����$�� � p0(x)� J)$ 
�!$�'�( & *����� '���@��� *� ���$�@��)�% p(x) � ����-
����+! �$�))! ��)*����$�� "# )�)��(E�+! 3�$�� 2�+  �
����&� ��)*����$�� (# �� ��� ����'���)( ��	��	�� H�-
*� +��# & *�����# )�)��(E�( ' ��+# 2�� '�3���� '�(��  �

;�
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���+�$%��&� ��)*����$�� (# ('$(��)( )$�@��"#  3� ���
)�)�� � ' *� ���$�@��)� p(x) �$�))! ���+�$%��B *$��-
��)��" {p(x/a, σ2), a ∈ R, σ > 0}�

C���*�$�@ +# 2�� +� B�� + *��'�� �% *��)�!A & -
*����! H0 *��� ' �	�������9>�� ���	����  $ ���:
��������� H1� C���*�$�&���)(# 2�� '���� ����  ��$%��
����  � & *���� H0  $ H1� 9��2�$� ��))+��� + �� -
3�$�� *��)��" )$!2�"# ��&�� *��'��(��)( *��)��( & *�-
���� H0 : L(x) = L0(x) *��� ' *��)��" �$%�����-
� '� H1 : L(x) = L1(x) (p(x) = p1(x))� D��)%
p1(x) 5��������( *$����)�% '���(���)� # ��$ 2��( ��
p0(x), L1(x) = p1(x1)p1(x2) . . . p1(xn)�

/�������  $ ��A�9>�� ������	 �$( *��'��� 
�!$�'�" & *����� 3!��+ )��� �% �� �)��'��  '�3��� '
'�3���2��+ *��)����)�'� X �� � 2�)��" �3$�)� K ��-
��"# 2�� �)$ '����� ��3$A��� " x ∈ K# �� �!$�'�( & *�-
���� H0 ��'��&���)( 	���� *� � +���)( �$%������ '� H1
#
� �)$ x ∈ K̄ = X\K# �� �!$�'�( & *����� H0 *� � +���-
)( 	���� ��'��&���)( H1
� J)$ �� � 2�)��( �3$�)�%  +���
' � K = {x ∈ X : ϕ(x) ≥ C}# &�� ϕ : Rn −→ R 5 ����-
����( 3���$�')��( �!��� (# C 5 ��������( *�)��(���(#
�� ϕ(x) ����'���)( ���������	� �������
�

C� � +�(  $ ��'��&�( �!$�'!A & *����!# +� +�@�+
)�'��I �% �I 3� �'!B ����'�

�� 6I 3�� �-&� ���� *�� )B�� �# �)$ �!$�'�( & *���-
�� H0 ��'��&���)(# B��(# �� )�+�+ ��$�# ��� '����� %��	:

��	��� 	A�
�� 8:�	 �	�� ��'��

α = P{x ∈ K/H0 '����} =
∫
K

L0(x)dx.

C� ��!&�+! '���(���)�% �I 3� �-&� ���� α ����'�A�
��	���� ������	��� �������
�

;�



K �� 6)��'�� ( ����  *��'��� )��� )� 2�)� B
& *�������

�� 6I 3�� �-&� ���� *�� )B�� �# �)$ �!$�'�( & *�-
���� H0 *� � +���)(# B��( ��� ��'����� %��	
��	���
	A�
�� 2:�	 �	�� ��'��

β = P{x ∈ K̄/H1 '����} =
∫
K̄

L1(x)dx.

D��)% ��))+��� '��+��  ���&��$� ('$(A�)( n-
������+ # dx = dx1dx2 . . . dxn�

�� ��� " *��'��� ('$($)( 3�  ���$%��+# �)$ 3�
'���(���)� �I 3�� �3� B ����' α  β ��'�($ )% �!-
$A� � )�@�$�� A# +� �� +�@�+ G��&� )��$��%# *�)��$%-
�! ��B�� +)( ' !)$�' (B ���*����$����)� # '��'����"
)$!2�"��)�%A *��'�� +�B  �+���� "� �+��%I�( '���-
(���)�% �I 3� �-&� ����# +� ��+ )�+�+ !'�$ 2 '��+
'���(���)�% �I 3� �-&� ����  ���3����# !'�$ 2 '�( '�-
��(���)�% �I 3� �-&� ����# +� !+��%I��+ '���(���)�%
�I 3� �-&� ����� ��")�' ��$%��# )!@�( �� � 2�)�!A
�3$�)�% K# +� !+��%I��+ *��'�"  �  ���&��$�'  !'�-
$ 2 '��+ '����"  ���&��$  ���3����� C�G��+! ���3B�-
� +� ��"� ��������" ��+*��+ ))# *� ������+ '���-
(���)� �I 3�� �3� B ����' 3�$ 3� �����2 ��$%��+ �
C� �$�)) 2�)��+ *��B��� *���$�&���)( '�3 ���% �� -
� 2�)�!A �3$�)�% K  � ��&� !)$�' (# 2��3� '���(���)�%
�I 3� �-&� ���� 3�$� + � +�$%�� *� !)$�'  # 2�� '�-
��(���)�% �I 3� �-&� ���� �� *��'�)B�� � ��������"
�� � 2�)� " !��'��% 	!��'��% ���2 +�)� 
 α0� 9 +'�-
$ 2�)� G�! ����2! �*� + ���  ��* )�'�A� ' ' ��

H�"� K : β → min *� !)$�'  # 2�� α ≤ α0.

1�� ��� *� !+��%I��  α '�$ 2 �� β ��)���# �� �����(
�*� + ��� ����( ����2� G�' '�$����� )$��!AE�"�

H�"� K : β → min *� !)$�'  # 2�� α = α0.

;�
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(���������� C$8� O )$�

1−β = 1−P{x ∈ K̄/H1 '����} = P{x ∈ K/H1 '����} =

=
∫
K

p1(x)dx

����'���)( �	>�	���9 �������
� �� ��� "# �$(
������&� +�E��)�% +��) +�$%��# ����'���)( ���
	���
�	>����

� � + � ��'��% �I 3�! �-&� ���� 5 G�� �� @� )�-
+��# 2�� +��) + � ��'��% +�E��)�% �� ��� (� C�G��-
+! )���+!$ ��'����( '�I� ����2� �*� + ���  +�@��
3��% ��* )��� ' ���+�

H�"� K : 1 − β → max *� !)$�'  # 2�� α = α0.

9$��!AE " ���!$%��� ��I��� *�)��'$���!A ����2!�

6���� +������:G���	��� 4� 

�� ��������
�

K∗ ⊂ X 
 *	�
	��
����� 
�������
�� �"	��	 ,.�� ��.

�� ∫
K∗

L0(x)dx = α0

��	�	��
��� ����
�� 
���	������� 
	�� K = {x :
L1(x) ≥ zL0(x)} ���� ��	����� ����!� ��	���	� 0����

��	����"� �"	��� %.�� ����2# 3��	������� ������	�

z ����� �!�� ������� 	� ���
���	�∫
K

L0(x)dx = α0.

�




K �� 6)��'�� ( ����  *��'��� )��� )� 2�)� B
& *�������

� � � � � � � � $ % ) � ' �� C� !)$�' A∫
K

L0(x)dx =
∫

K∗

L0(x)dx = α0.

C�G��+!

(1 − β) − (1 − β∗) =
∫
K

L1(x)dx −
∫

K∗

L1(x)dx =

=
∫

K\(K∩K∗)

L1(x)dx −
∫

K∗\(K∩K∗)

L1(x)dx ≥

≥ z

∫
K\(K∩K∗)

L0(x)dx − z

∫
K∗\(K∩K∗)

L0(x)dx =

= z
( ∫

K

L0(x)dx −
∫

K∗

L0(x)dx
)

= z(α0 − α0) = 0,

���!�� 1 − β ≥ 1 − β∗. �

C���*�$�@ + ��*��%# 2�� '����� ��3$A��� " x  +���
*$����)�% ��)*����$�� ( L(x)# *� ���$�@�E!A )�+�"-
)�'! ��)*����$�� " {L(x/θ)}# ��*����'�� ��' )(E�+! ��
��������&� *���+���� θ ∈ Θ� �� B�� + *��'�� �% *��-
)�!A & *����! H0 : θ = θ0 *��� ' )$�@��" �$%�����-
� '� H1 : θ ∈ Θ \ {θ0}� 0 ���+ ��B �!���  *��'-
��*���3 ( �!$�'�( & *�����  �$%������ '� +�&!� 3��%
��* )��� ���

H0 : x ' '�3���2��+ *��)����)�'� ��)*����$��

) *$����)�%A L(x/θ0),

��
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H1 : x ' '�3���2��+ *��)����)�'� ��)*����$��

) *$����)�%A L(x/θ),

&�� θ ∈ Θ \ {θ0} 5 $A3�� ��")�' ��$%��� 2 )$�.

8!��� A �� *���+���� θ# �*����$���!A ��'��)�'�+
f(θ) = P{x ∈ K/ )� ���� ���2�� � *���+���� �)�% θ}#
����'�+<��� ��� �	>�	���� J)$ ��� �) ��'��% θ =
θ1 �= θ0# �� *� $�++� H�"+���-C �)��� �*� +�$%��( �� -
� 2�)��( �3$�)�% �$( *��'��� *��)��" & *����� H0 :
θ = θ0 *��� ' *��)��" �$%������ '� H1 : θ = θ1
 +��� ' � Kθ1 = {x : L(x/θ1) ≥ z1L(x/θ0)}� J)-
$ ��� �) ��'��% ��!&�� ���2�� � *���+���� θ2# �� �*-
� +�$%��� ���2�� � z2 +�@�� ������%)(# '��3E� &�'�-
�(# ��!& +� N���# ' � �*� +�$%��" �� � 2�)��" �3$�)� 
Kθ = {x : L(x/θ) ≥ z(θ)L(x/θ0)} ��' ) � �� *���+����
θ�

�� ��� " *��'��� *��)��" & *����� H0 : θ = θ0
*��� ' )$�@��" �$%������ '� H1 : θ ∈ Θ \ {θ0}
����'���)( ����	����	 ���
	��� �	>���# �)$ ' �
)���'��)�'!AE�" �+! �*� +�$%��" �� � 2�)��" �3$�)� 
�� ��' ) � �� *���+���� θ� 6�+�� +# 2�� ��'��+����
�� 3�$�� +�E��" �� ��� " )!E�)�'!�� ��$��� �� ')�&���

5�	��� ,� C!)�% x1, x2, . . . , xn 5 '�3����  � ���-
+�$%��&� ��)*����$�� ( N(a, 1)� 8!��� ( *��'��*���-
3 (  +��� ���+!

L(x/a) =
1

(
√

2π)n
e
− 1

2

n∑
i=1

(xi−a)2

.

C��'�� + *��)�!A & *����! H0 : a = 0 *��� ' )$�@��"
�$%������ '� H1 : a > 0� 0 � �*� +�$%��" �� � 2�)��"

��



K �� 6)��'�� ( ����  *��'��� )��� )� 2�)� B
& *�������

�3$�)� ��B�� �)(  � !)$�' ( L(x/a) ≥ z(a)L(x/0)# ����

e
− 1

2

n∑
i=1

(xi−a)2+ 1
2

n∑
i=1

x2
i ≥ z(a),

2�� G�' '�$�����

a

n∑
i=1

xi ≥ na2

2
+ ln z(a).

1�� + �3����+# �� � 2�)��( �3$�)�%  +��� ' �

K = {x : x ≥ C},

������" �� ��' ) � �� *���+���� a� D��2 � )!E�)�'!��
��'��+���� �� 3�$�� +�E��" �� ��� "� �$( �*����$�-
� ( *�)��(���" C '�3���+ ��  � ��&� !)$�' (# 2�� '���-
(���)�% �I 3� �-&� ���� ��'�� �������+! !��'�A ���-
2 +�)� α0�

P{x ∈ K/H0} = P{x ≥ C/a = 0} = α0.

1�� ��� *� a = 0 )��� )� �� �� ��� ( x ∼ N
(
0, 1

n

)
# ����√

nx ∼ N(0, 1)# ��

α0 = P{√nx ≥ C
√
n/a = 0} = 1−N(C

√
n) =

1
2
−Φ(C

√
n).

1�� + �3����+# *�)��(���( C ��B�� �)(  � !��'��� (

Φ(C
√
n) =

1
2
− α0.

�� ��� " �$( *��'��� H0 *��� ' H1 )$��!AE "�
�)$ x ≥ C# �� )2 ���+# 2�� a > 0P
�)$ x < C# �� )2 ���+# 2�� a = 0�

��
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D�+�� +# 2�� �)$ 3� )$�@��( & *����� H1  +�$� ' �
a �= 0# �� ' ��' ) +�)� �� ����� a ' � �� � 2�)��" �3$�-
)� �3$�)� �*����$($)( 3� ����'��)�'�+ *��� '�*�-
$�@��&� �����# ���� ' � �� � 2�)��" �3$�)� ��' )�$ 3�
�� a� C�G��+! �$( ����&� )$!2�( ��'��+���� �� 3�$��
+�E��&� �� ��� ( �� )!E�)�'!���

� 4� '������� ��
�������� '������1 χ2

2�����


J)$  +���)( ��$%�� �!$�'�( & *�����  ��� � ����" �$%-
������ '�  $ �$%������ '� )$ I��+ )$�@��(# �� *��
'���(���)�% �I 3� �-&� ���� ��3�'�A�  )���(� �� ��-
�  # !2 ��'�AE � ��$%�� '���(���)�% �I 3� �-&� �����
0���(���)�% �I 3� �-&� ���� ��&�� ����'�A� ��	����
������	��� �������
� 0 G��+ )$!2�� *��'��(�+!A & -
*����! ����'�A� ���	���	� ������	���# � �� ���  
�$( �� *��'��� 5 �������
�� ������	���� C�)��$%-
�! �� !2 ��'���)( �I 3�� �-&� ����# �� ��� � �� ���  
+���� ����@��� D���'�( !��'��% ���2 +�)� α 	�3�2-
�� 3��!� α = 0.05  $ α = 0.01
# ��B��(� �� � 2�)�!A
�3$�)�% K  � !)$�' (

P{x ∈ K/H0} = α,

&�� H0 5 *��'��(�+�( & *������ J)$ *�  +�AE +)(
)��� )� 2�)� + �����+ �����'���)(# 2�� x ∈ K# ��
*���*�$�&�(# 2�� & *����� H0 '����# +� *�$!2��+# 2��
' ���!$%���� *��'������B )$!2�"��B G�)*�� +����'
*�� ��I$� )�3�� �#  +�AE�� � 2��@�� +�$!A '���(�-
��)�% α� ��'��(�% G��+! '�(� $  +��� )+�)$# *�G��+!
)2 ���+# 2�� '��' �!�� ��*��' $%��� *���*�$�@�� �#
 & *����! H0 ���� ��'��&�!�%� J)$ @� ���@��)(# 2��

�:



K �� �� ���  ���2 +�)� � �� ��� " χ2 C �)���

x ∈ K̄# �� *���*�$�@ '# 2�� ��I� & *����� '�*�$�(��)(#
+� *�$!2��+# 2�� *�� ��I$� )�3�� �#  +�AE�� 3�$%-
I!A '���(���)�% 1 − α� C�G��+! +�@�� )��$��% '�'��
� ��+# 2�� )��� )� 2�)� � ������ �� *��� '���2�� '�-
�' �!��" & *������ L�� '�')� �� ����2���# 2�� & *����!
���� *� �(�%� H� )�+�+ ��$�# �$( ��&�# 2��3� *� �(�%
) �*����$����" !'������)�%A *��'��(�+!A & *����!#
���� �� *��'�� �% �� ��)����2�� 3�$%I�+ ��$ 2�)�'�
'�3����� J)$ '� ')�B )$!2�(B & *����� �� *��� '���2 �
 +�AE +)( �����+# �� ��$%�� ��&�� �� +�@�� *� �(�%�
0 G��+ �)��'��" ����)�����  &��� ��'�� ( '���(���)� 
�I 3� �-&� �����

.� 5�
�����	� ��	���	�
 ����	��
�	 �� 	����
���.
�!� ��������

6�� +  � )*�)�3�' *�)����� ( �� ��� �' ���2 +�-
)� ('$(��)(  )*�$%��'�� � ��'�� ��$%��B  ����'�$�'�
C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� ( F (x/θ)#
��' )(E�&� �� *���+���� θ#  �$( G��&� *���+���� *�-
)����� �'!)������ " ��'�� ��$%��"  ����'�$�

P{θ� < θ0 < θ�} = γ,

&�� θ0 5  )� ���� ���2�� � *���+���� θ 	��+�� +# 2��
*� *�)�����   ����'�$%��B ������  )� ���� ���2�� �
*���+���� �3����2�$�)% θ# *�)��$%�! ��!& � ���2�� (
*���+���� ��+ ��  )*�$%��'�$ )%
� H��3B�� +� *��'�-
� �% & *����! H0 : θ = θ0� 0 ��2�)�'� �� � 2�)��"
�3$�)� '��%+�+

Kθ = {x : θ ≤ θ�  $ θ ≥ θ�}.
1�&�� '���(���)�% �I 3� *��'�&� ����

α = P{x ∈ Kθ/θ = θ0} = P{x ∈ Kθ0} =

��
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= 1 − P{θ� < θ0 < θ�} = 1 − γ.

��I�AE�� *��' $� 	�� ��� "
 �$( *��'��� & *�����
H0�

H0 ��'��&���)(# �)$ θ0 ≤ θ�  $ θ0 ≥ θ�P
H0 �� *��� '���2 � G�)*�� +����$%��+ �����+# �)-

$ θ� < θ0 < θ��
D�+�� +# 2�� *� *�)�����  �� ��� ( !��'��%

���2 +�)� �� ��� ( α *�$!2���)( '�2 ��� �+  � �
����@��)� )���'��)�'!AE�&� ��'�� ��$%��&�  ����'�-
$� γ� . �� � 2�)��( �3$�)�% ('$(��)( ��*�$��� �+ �
��'�� ��$%��+!  ����'�$! ' '�3���2��+ *��)����)�'��

C���*�$�@ +# ��*� +��# 2�� x1, x2, . . . , xn 5 '�3��-
��  � ���+�$%��&� ��)*����$�� ( N(a, σ2)�

W C!)�% *���+��� σ2  �'�)���� �� B�� + *��'�� �%
& *����! H0 : a = a0� C� *�)�����   ����'�$%��B
������ +� *�$!2 $ # 2��

P
{
x− σ√

n
tγ < a0 < x+

σ√
n
tγ

}
= γ,

&�� tγ 5 �����% !��'��� ( Φ(tγ) = γ
2 � D���� + !��'�%

���2 +�)� α = 1 − γ  '�3���+ �� � 2�)�!A �3$�)�%
���

Ka =
{
x : a ≤ x− σ√

n
tγ  $ a ≥ x+

σ√
n
tγ

}
.

1�&�� P{x ∈ Ka/H0} = P{x ∈ Ka0} = α� C�$!2��+ )$�-
�!AE " �� ��� " *��'��� & *����� H0�

�)$ a0 ≤ x− σ√
n
tγ  $ a0 ≥ x+ σ√

n
tγ # �� H0 ��'��&�-

��)(# ���� )2 ���+# 2�� a �= a0P
�)$ x− σ√

n
tγ < a0 < x+ σ√

n
tγ # �� )2 ���+# 2�� H0 ��

*��� '���2 � G�)*�� +����$%��+ �����+�

�;
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C� G��+# *� �������+! !��'�A ���2 +�)� α 2 )$�
tγ ��"���)( ��� �����% !��'��� ( Φ(tγ) = 1−α

2 �

WW C!)�% ��*��% *���+��� σ2 �� �'�)���  ���� *��-
'�� �% �! @� & *����! H0 : a = a0� C� *�)�����  
 ����'�$%��B ������ +� *�$!2 $ # 2��

P
{
x− S√

n
t < a0 < x+

S√
n
t
}

= γ,

&�� t = t(1001−γ
2 %; n− 1)�

�� ��� " *��'��� ��I�" & *����� '�&$(� � )$��!-
AE + �3����+�

�)$ a0 ≤ x− S√
n
t  $ a0 ≥ x+ S√

n
t# �� H0 ��'��&���)(#

���� )2 ���+# 2�� a �= a0P
�)$ x − S√

n
t < a0 < x + S√

n
t# �� )2 ���+# 2�� H0 ��

*��� '���2 � G�)*�� +����$%��+ �����+�
C� G��+# *� �������+ !��'�� ���2 +�)� α 2 )$�

t = t(100α
2 %; n− 1)�

WWW ��*!)� +# 2�� *���+��� a  �'�)���� 1��3!��)(
*��'�� �% & *����! H0 : σ2 = σ2

0 � ����� 3�$� !)����'-
$���# 2��

P
{nS∗2

χ2
1,γ

< σ2
0 <

nS∗2

χ2
2,γ

}
= γ,

&�� χ2
1,γ = χ2

(
1001−γ

2 %; n
)
, χ2

2,γ = χ2
(
1001+γ

2 %; n
)
�

C�G��+! �� ��� " *�'��� & *����� σ2 = σ2
0 '�&$(-

� � )$��!AE + �3����+�
�)$ σ2

0 ≤ nS∗2

χ2
1,γ

 $ σ2
0 ≥ nS∗2

χ2
2,γ

# �� H0 ��'��&���)(# ����

)2 ���+# 2�� σ2 �= σ2
0P

�)$ nS∗2

χ2
1,γ

< σ2
0 <

nS∗2

χ2
2,γ

# �� )2 ���+# 2�� H0 �� *��� -
'���2 � G�)*�� +����$%��+ �����+�

��
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C� G��+ χ2
1,γ = χ2

(
100α

2 %; n
)
, χ2

2,γ =

χ2
(
100
(
1 − α

2

)
%; n

)
�

WWWW C!)�% *���+��� a �� �'�)���  ���3!��)( *��-
'�� �% & *����! H0 : σ2 = σ2

0 � ����� 3�$� !)����'$���#
2��

P
{(n− 1)S2

χ2
1,γ

< σ2
0 <

(n− 1)S2

χ2
2,γ

}
= γ,

&��

χ2
1,γ = χ2

(
100

1 − γ

2
%; n− 1

)
,

χ2
2,γ = χ2

(
100

1 + γ

2
%; n− 1

)
.

C�G��+! �� ��� " *�'��� & *����� σ2 = σ2
0 '�&$(-

� � )$��!AE + �3����+�

�)$ σ2
0 ≤ (n−1)S2

χ2
1,γ

 $ σ2
0 ≥ (n−1)S2

χ2
2,γ

# �� H0 ��'��&���)(#

���� )2 ���+# 2�� σ2 �= σ2
0 P

�)$ (n−1)S2

χ2
1,γ

< σ2
0 < (n−1)S2

χ2
2,γ

# �� )2 ���+# 2�� H0 ��
*��� '���2 � G�)*�� +����$%��+ �����+�

C� G��+ χ2
1,γ = χ2

(
100α

2 %; n − 1
)
, χ2

2,γ =

χ2
(
100
(
1 − α

2

)
%; n− 1

)
�

6�+�� +# 2�� �)$ +� B�� + *�)��� �% �� ��� " ���-
2 +�)� ) ����)�������" �� � 2�)��" �3$�)�%A# �� +�@-
��  )*�$%��'��% ����)������ � ��'�� ��$%���  ����'�-
$�� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (
F (x/θ)# ��' )(E�&� �� *���+���� θ#  �$( G��&� *���+��-
�� *�)����� *��'�)������ " ��'�� ��$%��"  ����'�$�

P{θ0 > θ�} = P,

��
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&�� θ0 5  )� ���� ���2�� � *���+���� θ� �$( *��'��� 
& *����� H0 : θ = θ0 ���� '�(�% $�'�)������AA �� � -
2�)�!A �3$�)�%

Kθ = {x : θ ≤ θ�}.

62�' ���# 2�� �� ��� " *��'��� & *����� H0  +���
)$��!AE " ' ��

H0 ��'��&���)(# �)$ θ0 ≤ θ�P

H0 �� *��� '���2 � G�)*�� +����$%��+ �����+# �)-
$ θ0 > θ��

C� G��+ !��'��% ���2 +�)� �� ��� ( α *�$!2���)(
'�2 ��� �+  � � ����@��)� )���'��)�'!AE�&� ��'�� -
��$%��&�  ����'�$� P �

�� >�	���		 
��
���	� ���������
 �
�� 
!������

C!)�%  +�A�)( �'� ����' ) +�� '�3��� 

x1, x2, . . . , xn1  � N(a1, σ
2
1)  

y1, y2, . . . , yn2  � N(a2, σ
2
2)

	'�3��� ����'�A�)( ������������# �)$ )$!2�"-
��� '�$ 2 �� x1, x2, . . . , xn1 , y1, y2, . . . , yn2 ����' ) +�
�

W C!)�% σ2
1  σ2

2  �'�)���� 1��3!��)( *��'�� �% & -
*����! H0 : a1 = a2�

1�� ��� x ∼ N
(
a1,

σ2
1

n1

)
, y ∼ N

(
a2,

σ2
2

n2

)
����' ) +�#

�� y−x  +��� ���+�$%��� ��)*����$�� �� J&� *���+����
M(y − x) = a2 − a1, D(y − x) = Dy + Dx = σ2

1
n1

+ σ2
2

n2
#

���� y − x ∼ N
(
a2 − a1,

σ2
1

n1
+ σ2

2
n2

)
� C� $�++� � ���+�$%��+

��)*����$��  

ζ =
y − x− (a2 − a1)√

σ2
1

n1
+ σ2

2
n2

∼ N(0, 1).

��
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C���*�$�@ +# 2�� & *����� H0 '����# ��&��

ζ0 = ζ
∣∣∣
H0

=
y − x√
σ2
1

n1
+ σ2

2
n2

∼ N(0, 1).

C��(���# 2�� 2�+ 3$ @� ��!& � ��!&! a1  a2# ��+ +��%I�
*� �3)�$A���" '�$ 2 �� )��� )� �� ζ� C�G��+! ' ��2�)�'�
�� � 2�)��" �3$�)� �)��)�'���� '�(�%

K = {x : |ζ| ≥ C}.
H����2�( !��'��% ���2 +�)� α# '�3���+ *�)��(��!A C
 � !)$�' (

P{x ∈ K/H0} = P{|ζ| ≥ C/H0} = P{|ζ0| ≥ C} =

= 1 − P{|ζ0| < C} = 1 − 2Φ(C) = α,

���!�� C ��B�� �)( *� ��3$ ��+ �!���  M�*$�)� ���
�����% !��'��� ( Φ(C) = 1−α

2 �
�� ��� " *��'��� & *����� a1 = a2  +��� )$��!A-

E " ' ��
�)$ |ζ0| ≥ C# �� & *����� ��'��&���)(P
�)$ |ζ0| < C# �� )2 ���+# 2�� & *����� �� *��� '���-

2 � G�)*�� +����$%��+ �����+�

WW C!)�% σ2
1 = σ2

2 = σ2 �� �'�)���� 1��3!��)( *��'�-
� �% �! @� & *����! H0 : a1 = a2� 0 ) $! �*����$�� (
)$!2�"��" '�$ 2 �� B -�'����� �$( '�3���2��B � )*��-

) " S̃2
x = 1

n1

n1∑
i=1

(xi−x)2  S̃2
y = 1

n2

n2∑
i=1

(yi−y)2 '�*�$�(A�)(
��'��)�'�

n1S̃2
x

σ2
= χ2

n1−1;
n2S̃2

y

σ2
= χ2

n2−1;
n1S̃2

x + n2S̃2
y

σ2
= χ2

n1+n2−2.

(8.1)

�
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C�G��+! √
n1S̃2

x + n2S̃2
y

σ
√
n1 + n2 − 2

=

√
χ2

n1+n2−2

n1 + n2 − 2
.

��� 3�$� !)����'$��� '�I�#

y − x− (a2 − a1)

σ
√

1
n1

+ 1
n2

∼ N(0, 1). (8.2)

0 ) $! $�++� 8 I���  ��&�# 2�� ��))+��� '�A�)( ����-
' ) +�� '�3��� # )$!2�"��� '�$ 2 �� 	���
  	���
 ����-
' ) +�# )$���'���$%��#

ζ =

y−x−(a2−a1)

σ
√

1
n1

+ 1
n2√

n1S̃2
x+n2S̃2

y

σ
√

n1+n2−2

=
y − x− (a2 − a1)√

n1S̃2
x + n2S̃2

y

√
n1n2(n1 + n2 − 2)

n1 + n2

('$(��)( ����I�� �+ 9�%A����� ) n1 + n2 − 1 )��*��(+ 
)'�3����

C���*�$�@ +# 2�� & *����� H0 '����# ��&��

ζ0 =
y − x√

n1S̃2
x + n2S̃2

y

√
n1n2(n1 + n2 − 2)

n1 + n2

 +��� ��)*����$�� � 9�%A����� ) n1 + n2 − 1 )��*��(+ 
)'�3���� C��(���# 2�� 2�+ 3$ @� ��!& � ��!&! a1  a2#
��+ +��%I� *� �3)�$A���" '�$ 2 �� )��� )� �� ζ� C�G��-
+! ' ��2�)�'� �� � 2�)��" �3$�)� �)��)�'���� '�(�%

K = {x : |ζ| ≥ C}.

��
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H����2�( !��'��% ���2 +�)� α# '�3���+ *�)��(��!A C
 � !)$�' (

P{x ∈ K/H0} = P{|ζ| ≥ C/H0} = P{|ζ0| ≥ C} =

= 2P{ζ0 ≥ C} = α,

���!�� C = t
(
100α

2 %; n1 + n2 − 1
)
�

�� ��� " *��'��� & *����� a1 = a2  +��� )$��!A-
E " ' ��

�)$ |ζ0| ≥ C# �� & *����� ��'��&���)(P
�)$ |ζ0| < C# �� )2 ���+# 2�� & *����� �� *��� '���-

2 � G�)*�� +����$%��+ �����+�

�$( ��))+����� ( )$��!AE�&� )$!2�( ''���+
(���������� D$8� 6���I�� �

Fn1,n2 =
χ2

n1
n1

χ2
n2

n2

,

' ������+ 2 )$ ��$%  ���+�����$% ('$(A�)( ����' ) -
+�+ )$!2�"��+ '�$ 2 ��+ # ����'���)( F : 	��	A�:
����  $ 	��	A����� ��A��� � n1 � n2 ������
:
�� ��	
	��# � ��)*����$�� � G��&� ����I�� ( 5 F :
��������������  $ �������������� ��A��� � n1

� n2 ������
�� ��	
	��� O )$� F (100α%; n1, n2)# !��-
'$��'��(AE�� !��'��� A

P{Fn1,n2 ≥ F (100α%; n1, n2)} = α,

����'���)( 100α-��	 ����	� �	��	� F :
������������
 � n1 � n2 ������
�� ��	
	���

N+�A�)( ��3$ �� *��������B ��2�� F -
��)*����$�� (�

��
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+����� ,� C���@ ��# 2�� *$����)�% ��)*����$�� (
)$!2�"��" '�$ 2 �� Fn1,n2  +��� ' �

gn1,n2(x) =
(n1

n2

)n1
2
B−1
(n1

2
,
n2

2

)
x

n1
2
−1
(
1 +

n1

n2
x
)−n1+n2

2
,

&�� B(a, b) =
1∫
0

xa−1(1 − x)b−1dx 5  ���&��$ L"$����

WWW C���*�$�@ +# 2�� a1  a2 �� �'�)���P ���3!��-
)( *��'�� �% & *����! H0 : σ2

1 = σ2
2� �$(  )*��'-

$����B '�3���2��B � )*��) " S2
x = 1

n1−1

n1∑
i=1

(xi − x)2  

S2
y = 1

n2−1

n2∑
i=1

(yi−y)2 ' ) $! )$��)�' (  � $�++� 8 I���

S2
x

σ2
1

=
χ2

n1−1

n1 − 1
,

S2
y

σ2
2

=
χ2

n2−1

n2 − 1
.

L� �'� )$!2�"��� '�$ 2 �� ����' ) +�# *�)��$%�! ��-
��)(�)( � ����' ) +�+ '�3����+� C�G��+! *� '�*�$��-
�  & *����� H0 ����I�� �

S2
x

S2
y

=

χ2
n1−1

n1−1

χ2
n2−1

n2−1

 +��� ��)*����$�� � 8 I��� ) n1 − 1  n2 − 1 )��*��(+ 
)'�3���# � ����I�� �

S2
y

S2
x

=

χ2
n2−1

n2−1

χ2
n1−1

n1−1

 +��� ��)*����$�� � 8 I��� ) n2 − 1  n1 − 1 )��*�-
�(+ )'�3���� C� �(�� '�3 ���% ' ��2�)�'� )��� )� � 

��



,M.0. �� �.1J�.1NOJ9�.� 91.1N91N�.

�� ��� ( ��  � G� B �'!B ����I�� "# ! ������&� 2 )$ -
��$% 3�$%I� ���+�����$(� C!)�% S2

1 = max (S2
x, S

2
y), S2

2 =
min (S2

x, S
2
y)� 1�&��

ζ =
S2

1

S2
2

,

*� 2�+ *� '�*�$���  & *����� H0

ζ0 = ζ
∣∣∣
H0

= Fk1,k2,

&�� k1  k2 $�&�� '�* )�'�A�)( *� n1  n2#  +��%I�
����&�  � � B �� � 	����# �)$ S2

x > S2
y # �� k1 = n1−1, k2 =

n2 − 1# � �)$ S2
x < S2

y # �� k1 = n2 − 1, k2 = n1 − 1
� C!)�%
2 )$� F1  F2 '�3����  � !)$�' (

P{Fk1,k2 ≤ F1} = P{Fk1,k2 ≥ F2} =
α

2
,

&�� α 5 !��'��% ���2 +�)� �� ��� (� 62�' ���#

P{Fk1,k2 ≤ F1} = P{Fk2,k1 ≥ 1
F1

} =
α

2
.

1�� + �3����+#

F2 = F
(
100

α

2
%; k1, k2

)
;

1
F1

= F
(
100

α

2
%; k2, k1

)
.

0�3���+ �� � 2�)�!A �3$�)�% ���

KF1,F2 = {x : ζ ≤ F1  $ ζ ≥ F2}.

1�&��

P{x ∈ K/H0} = P{ζ ≤ F1  $ ζ ≥ F2/H0} =

= P{Fk1,k2 ≤ F1  $ Fk1,k2 ≥ F2} =

�:



K �� �� ���  ���2 +�)� � �� ��� " χ2 C �)���

= P{Fk1,k2 ≤ F1} + P{Fk1,k2 ≥ F2} =
α

2
+
α

2
= α.

�� ��� " *��'��� & *����� σ2
1 = σ2

2  +��� )$��!A-
E " ' ��

�)$ ζ0 ≤ F1  $ ζ0 ≥ F2# �� & *����� H0 ��'��&���)(P
�)$ F1 < ζ0 < F2# �� & *����� H0 )�&$�)!��)( ) G�)-

*�� +����$%��+ �����+ �
6�+�� +# 2�� ��2�� ��� + @� )*�)�3�+# ������+

)��� $ )% �� ���  ���2 +�)� *� ��'�� ��$%��+  �-
���'�$�+# +�@�� ��I��% �3����!A ����2!# �  +����#
*� �� ��� (+ ���2 +�)� +�@�� )��� �% ��'�� ��$%���
 ����'�$�� H�*� +��# �$( �� ��� ( )��'��� ( W ' )$!-
2��  �'�)���B � )*��) " σ2

1  σ2
2 �$( a2 − a1 *�$!2���)(

��'�� ��$%��"  ����'�$

y − x− C

√
σ2

1

n1
+
σ2

2

n2
< a2 − a1 < y − x+ C

√
σ2

1

n1
+
σ2

2

n2
,

&�� C 5 �����% !��'��� ( Φ(C) = 1−α
2 �

0� >�	���	� χ2 5	�
��� ��� ��	���	� 
���
��.


�
	� 
�������
��� 
 ���	���	������ 
�����
��))+��� + n ����' ) +�B  )*���� "# ' ��@��+  �

������B +�@�� *�� ��"� �� �  � k ��)�'+�)� +�B  )-
B���'

u1, , u2, . . . , uk,

*� 2�+ '���(���)� G� B  )B���' ' ����$%��+  )*����  
��'��

p(u1) = P ({u1}) = p1, p(u2) = P ({u2}) = p2, . . . ,

p(uk) = P ({uk}) = pk (
k∑

i=1

pi = 1).

��
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63����2 + 2���� μi 2 )$� *�('$�� "  )B��� ui ' G� B n

 )*���� (B 	i = 1, k,
k∑

i=1
μi = n
� 9�)��' + )$��!AE!A

)��� )� �!�

χ2 =
k∑

i=1

(μi − npi)2

npi
.

C� +�+ 3�� ��������$%)�'� ��������� >#5	�
����

lim
n→∞P{χ2 < t} = P{χ2

k−1 < t},

��� χ2
k−1 1 
�������� 
��	�	�� �	.�
����� 
 k − 1 
��.

�����	 

����!�
9$���'���$%��# +�@�� )2 ���%# 2�� *� 3�$%I�+ �3Q-

�+� '�3��� n )$!2�"��( '�$ 2 �� χ2 '���� )�3( *� 3$ -
@���� ��� )$!2�"��( '�$ 2 �� B -�'����� ) k − 1 )��*�-
�(+ )'�3����

C���*�$�@ + ��*��%# 2�� *� ���!$%����+ n ����' ) -
+�B  )*���� " ���� *��'�� �% & *����!

H0 : p1 = p0
1, p2 = p0

2, . . . , pk = p0
k,

&�� p0
1, p

0
2, . . . , p

0
k 5 � �) ��'����� 2 )$� ��� �# 2��

p0
1 + p0

2 + . . . + p0
k = 1� 1�� ��� *� 3�$%I�+ n *� �����!

3�$%I B 2 )�$ μi

n ≈ pi# ���� μi − npi ≈ 0# �� ���2�� ( )��-
� )� � χ2 �� ��$@�� 3��% �2��% 3�$%I + � C�G��+!
�� � 2�)�!A �3$�)�% ��$�)��3����� '�3���% ��� + �3-
����+# 2��3� *� *��'�I��  �A ��������&� *���&�'�&�
���2�� ( & *����� ��'��&�$�)%� C�G��+! '��%+�+

Kp = {x : χ2 ≥ χ2
�����

}.
D���� + !��'��% ���2 +�)� α� C!)�%

χ2
0 = χ2

∣∣∣
H0

=
k∑

i=1

(μi − np0
i )

2

np0
i

.

�;



K �� �� ���  )�&$�) (

0�3���+ χ2
�����

���# 2��3�

P{x ∈ Kp/H0} = P{χ2 ≥ χ2
�����

/H0} = P{χ2
0 ≥ χ2

�����
} = α.

0 ) $! ���!$%���� C �)��� G�� ��'��)�'� +�@�� ��+�-
� �% *� 3$ @����+ ��'��)�'�+

P{χ2
k−1 ≥ χ2

�����
} ≈ α.

C�G��+! *� 3$ @���� χ2
�����

= χ2(100α%; k − 1)�
�� ��� " *��'��� & *����� H0  +��� )$��!AE!A

���+!�

�)$ χ2
0 ≥ χ2(100α%; k − 1)# �� & *����� H0 ��'��&�-

��)(P

�)$ χ2
0 < χ2(100α%; k − 1)# �� & *����� H0 )�&$�)!-

��)( ) G�)*�� +����$%��+ �����+ �

C��2�����+# 2�� ������ ��I�AE�� *��' $� +�@��
*� +��(�% ��$%�� �$( '�3���� ��)����2�� 3�$%I�&� �3Q-
�+��

� 5� '������� ��)�
���

C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� ( F (x)#
*� 2�+ �!��� ( ��)*����$�� ( F �� �'�)���� 1��3!��-
)( *��'�� �% & *����! H0 : F (x) = F 0(x)# &�� F 0(x)
5 �������( �!��� ( ��)*����$�� ( 	���� F 0 �� !3�'���#
��*����'�� )$�'�# F 0(−∞) = 0, F 0(+∞) = 1
� , *����!
����&� ' �� ����'�A� ���	���	� �	�����
# � �� ���  
�$( �� *��'��� 5 �������
�� �	�����
�

63�2�� �� ���  )�&$�) ( )���(� ���� ��� +� ���-
�+# ������ 2�)��( �!��� ( ��)*����$�� ( F  G+* � -
2�)��( �!��� ( ��)*����$�� ( F ∗

n +�$� ��$ 2�A�)( *� 
3�$%I B n� 0�3���+ �������!A +��! ���$���� ( νn =

��
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νn(F ∗
n , F ) = νn(x1, x2, . . . , xn) �!���  F ∗

n �� �!���  F �
L�� +��� '�3 ����)( ���������2��#  # ' ��' ) +�)� ��
)*�)�3� �� '�3���# *�$!2�A�)( ������ �� ���  )�&$�-
) (� C���*�$�@ +# 2�� ��+ !��$�)% ����)���% *����$%-
��� ��)*����$�� � )$!2�"��" '�$ 2 �� νn *� n → ∞�
C!)�% )$!2�"��( '�$ 2 �� ν �3$����� G� + ��)*����$�-
� �+� 1�&�� �� � 2�)�!A �3$�)�% '�3 ���+ ���

KF = {x : ν ≥ ν�����}.

��$�� *� �������+! !��'�A ���2 +�)� α ��B�� + ν�����
 � !��'��� (

P{x ∈ KF /H0} = P{ν ≥ ν�����/H0} = P{ν0 ≥ ν�����} = α,

&�� ν0 = ν
∣∣∣
H0

5 ���2�� � *����$%��" +��� ν ' *���*�-

$�@��  # 2�� '���� & *����� H0� N# �������# �� ��� "
*��'��� & *����� H0 )��� �)( )���������+ )*�)�3�+�

�)$ ν0 ≥ ν�����# �� H0 ��'��&���)(P

�)$ ν0 < ν�����# �� )2 ���+ & *����! H0 )�&$�)!AE�"-
)( ) G�)*�� +����$%��+ �����+ �

6�+�� +# 2�� �� ���  )�&$�) ( ('$(A�)( 2�)���+ 
' ��+ �� ��� �' ���2 +�)� # ��� ��� �� !2 ��'�A�
'���(���)�% �I 3� �-&� �����

,# >�	���	� χ2 5	�
��� ��� ��	���	� 
����
	��

C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (
F (x)# ������� ��+ �� �'�)���� C��'��(��)( & *����� H0 :
F (x) = F 0(x)# &�� F 0 5 �������( �!��� ( ��)*����-
$�� (� ����3Q�+ 2 )$�'!A �)% �� k ��*���)���AE B-
)( 2�)��" Δ1 = (z0 = −∞, z1), Δ2 = [z1, z2), Δ3 =

��



K �� �� ���  )�&$�) (

[z2, z3), . . . , Δk = [zk−1, zk = +∞)� 63����2 + 2���� ui

)�3�� �# )�)��(E�� ' ��+# 2�� ������ 2�)��( )$!2�"��(
'�$ 2 �� ξ *�*���� ' Δi# ��&�� pi = p(ui) = P{ξ ∈ Δi} =
F (zi) − F (zi−1) (i = 1, k)� 0 ) $! )'�")�' �!���  ��)-
*����$�� ( G�� '�*�$�(��)(  �$( Δ1, Δk� C!)�% μi 5
2 )$� '�3���2��B ���2�� " *�*�'I B ' Δi# ���� 2 )$�
*�('$�� "  )B��� ui ' n  )*���� (B�

C���*�$�@ +# 2�� & *����� H0 '����# ���� F = F 0�
1�&�� ��+ 3�$�� '���� & *����� H ′

0 : p1 = p0
1, p2 =

p0
2, . . . , pk = p0

k# &�� p
0
1 = F 0(z1) − F 0(z0) = F 0(z1), p0

2 =
F 0(z2) − F 0(z1), . . . , p0

k = F 0(zk) − F 0(zk−1) = 1 −
F 0(zk−1)�

1�� + �3����+# ����2� )'�$�)% � *��'���� & *�����
)���'��)�' ( '���(���)��" ' *�$ ��+ �$%��" )B�+�� 9�-
)��' + )��� )� �!

χ2 =
k∑

i=1

(μi − npi)2

npi
,

*����$%��� ��)*����$�� � ������" *� n → ∞ ' ) -
$! ���!$%���� C �)��� )�'*����� ) ��)*����$�� �+ χ2

) k − 1 )��*��(+ )'�3���� 0�2 )$(�+ p0
i = F 0(zi) −

F 0(zi−1), i = 1, k# ����+ '�2 )$(�+ ���2�� � )��� )� � 
χ2 ' *���*�$�@��  # 2�� & *����� H0 '�����

χ2
0 = χ2

∣∣∣
H0

=
k∑

i=1

(μi − np0
i )

2

np0
i

.

C� �������+! !��'�A ���2 +�)� α ��B�� + 100α-
*�������!A ��2�! ��)*����$�� ( χ2# )���'��)�'!AE!A
2 )$! k − 1 )��*���" )'�3����

�� ��� " *��'��� & *����� H0  +��� )$��!AE!A
���+!�

��
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�)$ χ2
0 ≥ χ2(100α%; k − 1)# �� & *����� H0 ��'��&�-

��)(P

�)$ χ2
0 < χ2(100α%; k − 1)# �� & *����� H0 )�&$�)!-

��)( ) G�)*�� +����$%��+ �����+ �

+������	� ,� 0 �����+ )$!2�� ' ��$ +��� ���$���-
� ( F ∗

n �� F )$!@ �

χ2 = ν(F ∗
n , F ) =

k∑
i=1

(μi − npi)2

npi
.

+������	� %� H� )��$%�� 2�)��"  ��� + �3����+ ���-
3 '��% 2 )$�'!A *�(+!A �� ΔiX H� G��� )2�� )!E�)�'!-
�� +��&� ���$ 2��B +��� "� �����$$  9�%A��� *���-
$�&�A� ��'�$%�� )$�@�!A *�����!�!# ' ������" 2�)� 
���3 �� ( '�3 ��A�)( ��� + �3����+# 2��3� '���(���-
)� *�*���� ( ' � B 3�$ �� ����'�� p0

1 = p0
2 = . . . =

p0
k = 1

k � 63�2�� *�)�!*�A� *��E�� ���3 '�A� *�$!����-
��� [x(1), x(n)) �� ��)����2�� 3�$%I�� 2 )$� k ��'��B 2�-
)��"# ����+ '�!����� � 2�)� 3��!� �� Δ2,Δ3, . . . ,Δk−1�
0 ��2�)�'� Δ1 3��!� �3Q�� ��� � ���"��" $�'�" 2�)� )
(−∞, x(1))# � ' ��2�)�'� Δn 3��!� �3Q�� ��� � ���"��"
*��'�" 2�)� ) [x(n),+∞)�

����+���!��)(# 2��3� �$( ��@��&� Δi '�*�$�($�)%
����'��)�'� np0

i ≥ 5� C�G��+! ��$@�� 3��% �����3���-
�� *�����!��  �+���� ( Δi �$( ��B 2�)��"# ' ������B
G�� !)$�' � ���!I���� 9�+� ���3 �� � 2 )$�'�" *�(+�"
 G�� *�����!�� ��$@�� 3��% '���3����� �� ��&�# ���
+� !' ��$ '�3���!� J)$ �� *��&��(A�)( *�� '�3��-
�!# �� ����� zi ���@!�)( �!��� (+ �� x1, x2, . . . , xn# ����
)$!2�"��+ '�$ 2 ��+ # � *����$%��" ���!$%��� C �)�-
�� ������� ��$%�� �$( )$!2�( 2�)��" ) � �) ��'����+ 

�




K �� �� ���  )�&$�) (

�����+ � C� +���+ *�����!��# *��'�$(AE�" !��'$��'�-
� �% !)$�' � np0

i ≥ 5# ('$(��)( )$��!AE�(� �)$ G�� !)$�-
' � '�*�$�(��)( ' Δ1# �� �)��'$(�+ �&�P �)$ ���# �� '
��2�)�'� ��'�&� Δ1 3���+ �3Q�� ��� � )����B Δ1  Δ2�
J)$  ' ��'�+ Δ1 !)$�' � �� '�*�$�(��)(# �� �3Q�� �(-
�+ Δ1, Δ2, Δ3 ' ��'�� Δ1  ���� �� ��B *��# *��� '�*�$-
� �)( !)$�' �� 0�3��' Δ1# 3���+ )$��!AE "  ����'�$  
�3Q�� �(�+ �&� ) *�)$��!AE + �� ��B *��# ��&�� !)$�-
' � '�*�$� �)(  ���� C� G��+ 2 )$� 2�)��" ���3 �� (
!+��%I �)(  $ �)�����)( ��� + @��

6�+�� + ���@�# 2�� �� ��� �+ C �)��� +�@�� *�$%-
��'��%)( ��$%�� �$( '�3���� 3�$%I�&� �3Q�+�� H� 3�$��
�)����@��� �'���� ����+���!A� *� +��(�% �&� �$(
n ≥ 150# �)�% ����+�����  3�$�� )+�$��# ��*� +��#
*���$�&���)(# 2��3� n ≥ 30�

+������	� 6� �� *������'��+# 2�� ������ 2�)��( )$!-
2�"��( '�$ 2 ��  +��� ���+�$%��� ��)*����$�� �# �� *�-
��+���� �� �'�)���� 1�&�� �)��)�'���� *��'��(�% & *�-
���! H0 : ξ ∼ N(x, S2)� ��@�� $ *�$%��'��%)( �� -
��� �+ χ2X ��������# 2�� ' G��+ )$!2�� ')( *�����!-
�� �)����)( ' ) $� ) �� �)�'����+ ���$ 2 �+# 2�� ��-
�� 3���% *�������!A ��2�! ) 2 )$�+ )��*���" )'�3���
k − 3# � �� k − 1� N '��3E�# �)$ & *���� 2�)� '�3��-
�� 3����)(  � ��)*����$�� ( F 0(x/θ1, θ2, . . . , θm)# ��' )(-
E�&� �� m �� �'�)���B *���+����'# �� )��2�$� ��B��(�-
)(  B ����� θ̂1, θ̂2, . . . , θ̂m 	)���&� &�'��( ) *�+�E%A
��� ����'��+�&� +����� + � +!+� χ2  $ �) +*��� 2�-
)� G�' '�$�����&� �+! +����� +��) +�$%��&� *��'��-
*���3 (
� D���+ *��'��(��)( & *����� H0 : F (x) =
F 0(x/θ̂1, θ̂2, . . . , θ̂m)� 1�&�� ���!$%��� C �)��� �)����)(

��
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' ) $�# ��$%�� *����$%��+ ��)*����$�� �+ )��� )� � 

χ2 =
k∑

i=1

(μi − npi)2

npi

3!��� B -�'����� ��)*����$�� � ) k−m−1 )��*��(+ )'�-
3���� C�G��+! �� ��� " C �)��� 3!��� *� +�� +# ��$%-
�� 2 )$� )��*���" )'�3��� ! *��������" ��2�  �+�� �)(
) k − 1 �� k −m− 1� J)��)�'����# 2�� 2 )$� 2�)��" ���-
3 �� ( k ��$@�� 3���%)( 3�$%I +# 2�+ m�

��



K �� �� ���  )�&$�) (

%# >�	���	� 
����
	� ω2�

C� *� +����  �� ��� ( )�&$�) ( χ2 ���3 �� � 2 -
)$�'�" *�(+�" �� 2�)� ' �*����$����" )��*�� *�� �-
'�$%��� ���!$%��� *� +���� ( �� ��� ( C �)��� ��' -
) � �� )*�)�3� ���3 �� (# 2�� )'(���� ) *�����"  ����-
+��  � L��&� ����)����� $ I�� ��))+��� '��+�" � @�
�� ��� "�

,����+��# ��� ��)  H�0�9+ ���' '*��'�� ��))+�-
���$ +��� ���$���� ( G+* � 2�)��" �!���  ��)*��-
��$�� ( �� ������ 2�)��" �!���  ��)*����$�� ( ' ��

ν(F ∗
n , F ) =

+∞∫
−∞

|F ∗
n(x) − F (x)|2dK(x),

&�� K(x) 5 ' ��)����2��" +��� *�� �'�$%��( ��!3�'�A-
E�( �!��� (� H�0�9+ ���' *���$�@ $ ' ��2�)�'� K(x)
'�(�% F (x)  ��))+����$ +��!

ω2 =

+∞∫
−∞

|F ∗
n(x) − F (x)|2dF (x).

J)$ *��)��' �% ' G���  ���&��$

F ∗
n(x) =

⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

0, �)$ x ≤ x(1),
1
n , �)$ x(1) < x ≤ x(2),
2
n , �)$ x(2) < x ≤ x(3),

. . . . . . . . . . . . . . . . . .

1, �)$ x > x(n)

 *�)2 ���%# �� *�$!2 �)(

ω2 =
1

12n2
+

1
n

n∑
k=1

[
F (x(k)) −

2k − 1
2n

]2
.

��
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+����� ,� C�)2 ��"�� G���  ���&��$�

9+ ���' ������$# 2�� �
�	 F (x) ������!
��� �� ���
Wn = nω2 
���
�
���

lim
n→∞P{Wn < x} = P{W < x},

�� ��
	
��	� �� F �
N+�A�)( ��3$ �� �� � 2�)� B ��2�� ��)*����$�� (

*����$%��" )$!2�"��" '�$ 2 �� W # *��'�$(AE � *�
!��'�A ���2 +�)� α ��B�� �% �� � 2�)�!A ��2�! Wα#
������( ('$(��)( �����+ !��'��� ( P{W ≥Wα} = α�

D���� + !��'��% ���2 +�)� α  ��"��+ *� ��+! Wα�
��$�� *��)2 ��'��+

Wn0 = nω0 = nω
∣∣∣
H0

= n
{ 1

12n2
+

1
n

n∑
k=1

[
F 0(x(k))−

2k − 1
2n

]2}
.

�� ��� " *��'��� & *����� H0 ����"�
�)$ Wn0 ≥ Wα# �� & *����� F (x) = F 0(x) ��'��&���-

)(#
�)$ Wn0 < Wα# �� & *����� F (x) = F 0(x) �� *��� -

'���2 � G�)*�� +����$%��+ �����+�

6# >�	���	� 
����
	� >��������
��

.�H���$+�&���' *���$�@ $ ' ��2�)�'� +��� ���$�-
��� ( G+* � 2�)��" �!���  ��)*����$�� ( �� ������ -
2�)��" �!���  ��)*����$�� ( ��))+��� '��%

Dn = sup
x∈R

|F ∗
n(x) − F (x)|.

�:



K �� �� ���  )�&$�) (

6� ������$# 2�� �
�	 F (x) ������!
��� �� ��� 
��������

��	�	�! Kn =

√
nDn 
���
�
��� �� ��
	
��	� �� F

�������

lim
n→∞P{Kn < x} = P{K < x} = 1 − 2

∞∑
r=1

(−1)r−1e−2r2x2
.

N+�A�)( ��3$ �� �� � 2�)� B ��2�� ��)*����$�� ( *��-
��$%��" )$!2�"��" '�$ 2 �� K# *��'�$(AE � *� !��'�A
���2 +�)� α ��B�� �% �� � 2�)�!A ��2�! Kα# ������(
('$(��)( �����+ !��'��� ( P{K ≥ Kα} = α�

D���� + !��'��% ���2 +�)� α  ��"��+ *� ��+! Kα�
��$�� *��)2 ��'��+

Kn0 =
√
nDn0 =

√
nDn

∣∣∣
H0

=
√
n sup |F ∗

n(x) − F 0(x)|.

�� ��� " *��'��� & *����� H0 ����"�
�)$ Kn0 ≥ Kα# �� & *����� F (x) = F 0(x) ��'��&���)(#
�)$ Kn0 < Kα# �� & *����� F (x) = F 0(x) �� *��� '�-

��2 � G�)*�� +����$%��+ �����+�

��
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� �6� 0���"
	�����1 ���
��������1 
�
���

C���*�$�@ +# 2�� ��3$A����)( m ����' ) +�B
���+�$%�� ��)*����$����B )$!2�"��B '�$ 2 �
ξ1, ξ2, . . . , ξm#  +�AE B ���!  �! @� � )*��) A σ2#
 *!)�% Mξ1 = a1, Mξ2 = a2, . . . , Mξm = am� C!)�%
��@��� ξi  �+��(��)( n ����

ξ1 : x11, x12, . . . , x1n

ξ2 : x21, x22, . . . , x2n

. . . . . . . . . . . . . . . . . . . . . . . .

ξi : xi1, xi2, . . . , xin

. . . . . . . . . . . . . . . . . . . . . . . .

ξm : xm1, xm2, . . . , xmn

C� )��'��� A ) ��+# 2�� ��))+��� '�$�)% �����# ! ��)
 +���)( �� ���� ������ 2�)��( )$!2�"��( '�$ 2 ��# � m
����' ) +�B ������ 2�)� B )$!2�"��B '�$ 2 �#  ��@-
��(  �+��(��)( n ���� C� G��+ ')� mn )$!2�"��B '�$ -
2 � xij ����' ) +� +�@�! )�3�" 	��&�� '�3��� ��))+�-
�� '�A�)( ��� �3)��������
�

�� B�� + *��'�� �% �!$�'!A & *����!

H0 : a1 = a2 = . . . = am.

���!$%���� G�)*�� +���� !��3�� ��* )��% ' ' �� ��3$ -
��

D��)%

x1. =
1
n

n∑
j=1

x1j, . . . , xi. =
1
n

n∑
j=1

xij, . . . , xm. =
1
n

n∑
j=1

xmj 5

�;



K �
� 6�����������" � )*��) ����" ���$ �

H�+��
)$!2�"��"
'�$ 2 ��
	&�!**�


H�+��  �+���� (
9���� �

� � � . . . Y

� x11 x12 x13 . . . x1n x1.

� x21 x22 x23 . . . x2n x2.

� x31 x32 x33 . . . x3n x3.

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

m xm1 xm2 xm3 . . . xmn xm.

)���� � �� �+�� 2�)� � ���!$%����'  �+���� " '�!�� 
&�!**� C!)�%

x =
1
mn

m∑
i=1

n∑
j=1

xij =
1
m

m∑
i=1

xi. 5

)������ �� �+�� 2�)��� ')�B  �+���� "�

���$�@ + *�$�!A )!++! �'������' ���$���� " '�-
3���2��B ���2�� " �� '�3���2��" )�����" *� ')�+ mn
 �+���� (+�

m∑
i=1

n∑
j=1

(xij − x)2 =
m∑

i=1

n∑
j=1

(xij − xi. + xi. − x)2 =

=
m∑

i=1

n∑
j=1

(xij − xi.)2 +
m∑

i=1

n∑
j=1

(xi. − x)2+

+2
m∑

i=1

n∑
j=1

(xij − xi.)(xi. − x).

��
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H� *�)$���(( )!++�

S =
m∑

i=1

n∑
j=1

(xij−xi.)(xi.−x) =
m∑

i=1

(xi.−x)
n∑

j=1

(xij−xi.) = 0,

��� ���

n∑
j=1

(xij − xi.) =
n∑

j=1

xij − nxi. = nxi. − nxi. = 0.

1�� + �3����+#
Q2 = Q2

1 +Q2
2,

&��

Q2 =
m∑

i=1

n∑
j=1

(xij − x)2 5 *�$��( )!++� �'������',

Q2
1 =

m∑
i=1

n∑
j=1

(xi. − x)2 = n

m∑
i=1

(xi. − x)2 5 +�@&�!**�'�(

)!++� �'������' 	B������� �!�� )��*��% ��)B�@��� (

' ) )��+�� 2�)� B *�&��I��)�(B &�!**
,

Q2
2 =

m∑
i=1

n∑
j=1

(xij −xi.)2 5 '�!�� &�!**�'�( )!++� �'��-

����' 	B������� �!�� )��*��% ��)B�@��� ( '�!�� &�!**
.

C���*�$�@ +# 2�� & *����� H0 '����� 1�&�� ')� mn
��3$A��� " +�@�� ��))+��� '��% ��� '�3���!  � ����&�
 ��&� @� ���+�$%��&� ��)*����$�� ( N(a1, σ

2)� C�G��-
+! *� �*����$�� A )$!2�"��" '�$ 2 �� B -�'�����

Q2

mn− 1
= σ2 · χ

2
mn−1

mn− 1
.

��



K �
� 6�����������" � )*��) ����" ���$ �

62�' ���# x1., x2., . . . , xm. ����' ) +�# Dxi. = σ2

n � C�-
G��+!

1
m− 1

m∑
i=1

(xi. − x)2 =
Q2

1

n(m− 1)
=
σ2

n

χ2
m−1

m− 1
.

��$��#

1
n− 1

n∑
j=1

(xij − xi.)2 = σ2 χ
2
n−1

n− 1
,

���!��
n∑

j=1

(xij − xi.)2 = σ2χ2
n−1.

1�� ��� *� ���$ 2��B i = 1,m G� )$!2�"��� '�$ 2 ��
����' ) +�# ��

Q2
2 =

m∑
i=1

n∑
j=1

(xij − xi.)2 = σ2χ2
m(n−1),

����
Q2

2

m(n− 1)
=
σ2χ2

m(n−1)

m(n− 1)
.

C�G��+!# ' *���*�$�@��  # 2�� & *����� H0 '����# )��-
� )� ��

F =
1

m−1Q
2
1

1
m(n−1)Q

2
2

=
χ2

m−1

m−1

χ2
m(n−1)

m(n−1)

�)�% ����I�� � 8 I��� ) m − 1  m(n − 1) )��*��(+ 
)'�3���� C!)�% Fα = F (100α%; m− 1, m(n − 1)) 5 *��-
������( ��2�� F -��)*����$�� (# ���� �����% !��'��� (

P{Fm−1,m(n−1) > Fα} = α.

��
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C� �������+! !��'�A ���2 +�)� α *� ��3$ ��+ *��-
������B ��2�� F -��)*����$�� ( ��B�� + Fα�

�� ��� " *��'��� & *����� H0 '�&$(� � ����
�)$ F ≥ Fα# �� & *����� H0 ��'��&���)(P
�)$ F < Fα# �� & *����� �� *��� '���2 � G�)*�� -

+����$%��+ �����+�
9B�+! ������������&� � )*��) ����&� ���$ �� !��3-

�� *���)��' �% ' ' �� ��3$ �� 	)+� ��3$� �
�
C� G��+ �$( '�2 )$�� " !��3�� *�$%��'��%)( )$��!-

AE + ���+!$�+ �

Q2 =
m∑

i=1

n∑
j=1

x2
ij −mnx2; Q2

1 = n
[ m∑

i=1

xi.
2 −mx2

]
;

Q2
2 = Q2 −Q2

1.

��))+��� + )$!2�"# ��&�� 2 )$� ��3$A��� " ' &�!*-
*�B +�&!� ��$ 2��%)(� J)$ ni 5 2 )$� ��3$A��� " '

i-" &�!**�# N =
m∑

i=1
ni# �� ��))+�������( )B�+� �)�����)(

)*��'��$ '�" )� )$��!AE +  �+���� (+ �

xi. =
1
ni

ni∑
j=1

xij , x =
1
N

m∑
i=1

ni∑
j=1

xij =
1
N

m∑
i=1

nixi.,

Q2 = Q2
1 +Q2

2,

&�� ��*��%

Q2 =
m∑

i=1

ni∑
j=1

(xij − x)2; Q2
1 =

m∑
i=1

ni(xi. − x)2;

Q2
2 =

m∑
i=1

ni∑
j=1

(xij − xi.)2.

�





K �
� 6�����������" � )*��) ����" ���$ �

1�3$ �� ��

��+*������
� )*��)  

9!++�
�'������'

O )$�
)��*�-
��"

)'�3���

9���� "
�'�����

��@�!
&�!**�+ 
	������-
��(


∑
i,j

(xi. − x)2 m− 1 1
m−1

∑
i,j

(xi. −
x)2

0�!�� 
&�!**

	�)����2-
��(


∑
i,j

(xij −
xi.)2

mn−m 1
mn−m

∑
i,j

(xij −
xi.)2

63E�(
∑
i,j

(xij −x)2 mn− 1 1
mn−1

∑
i,j

(xij −
x)2

�
�
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1�3$ 2��( )B�+�  �+�� �)( )$��!AE + �3����+�

1�3$ �� ��

��+*������
� )*��)  

9!++�
�'������'

O )$�
)��-
*���"
)'�-
3���

9���� "
�'�����

��@�!
&�!**�+ 
	������-
��(


m∑
i=1

ni∑
j=1

(xij−
x)2

m− 1 1
m−1

m∑
i=1

ni∑
j=1

(xij −
x)2

0�!�� 
&�!**

	�)����2-
��(


m∑
i=1

ni∑
j=1

(xij−
xi.)2

N−m 1
N−m

m∑
i=1

ni∑
j=1

(xij −
xi.)2

63E�( m∑
i=1

ni∑
j=1

(xij−
x)2

N − 1 1
N−1

m∑
i=1

ni∑
j=1

(xij −
x)2

�
�
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� ��� 0����� ����1��)� ��)���������)�


�
���


��&��)) ����" ���$ � ('$(��)( +�E��+ ��!@ �+
+���+�� 2�)��" )��� )� �   )*�$%�!��)( �$( !)����'-
$�� ( G+* � 2�)� B ��' ) +�)��" +�@�! )$!2�"��+ 
)�3�� (+ # +�@�! )$!2�"��+ '�$ 2 ��+  +�@�!
)$!2�"��+ *����))�+ � �� ��))+��� + ��2�$� G��"
����  *� +�� ��$%�� � )$!2�"��+ '�$ 2 ��+� Z��-
���$%��+ *��(� �+ ' ��" ('$(��)( *��(� � !)$�'��&�
+���+�� 2�)��&� �@ ��� (# �3E�� �*����$�� � ����-
��&� )��� �)( ) *�+�E%A  �'�)���" �����+� ������-
H ��� +�  � ����  +���� 0 �3E�+ �!�)� ''�)� �����
�*����$�� � *���)��'$(��)( ��'��+�@��+# *�G��+! +�
''���+ �*����$�� � �$( 2�)���B )$!2��' � )������B
 �3)�$A��� ��*����'��B )$!2�"��B '�$ 2 �# *� 2�+
3�$�� *����3�� ��))+��� + � )������" )$!2�"# �$( ��-
����&� ��$%���� *��)+��� '�A�)(  ��"��� �)�3����)� 
''�� +�&� *��(� (�

88$8$ ���	��	� ������������	� 	�������

C!)�% (ξ, η) 5 � )������" )$!2�"��" '�����# *� -
� +�AE " ���2�� ( (xi, yj)  � ��������&� �� 3�$�� 2�+
)2����&� +��@�)�'� '��+�@��B ���2�� " ) '���(���)�(-
+ 

pij = P{ξ = xi, η = yj}.
��� +� ����+# 2�)���� ��)*����$�� ( ��+*����� G��&�
'������ �*����$(A�)( )�����I�� (+ 

pi. = P{ξ = xi} =
∑

j

pij; p.j = P{η = yj} =
∑

i

pij.

(11.1)

�
�
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C���*�$�@ +# 2�� )$!2�"��( '�$ 2 �� η  +��� +���-
+�� 2�)��� �@ ��� �

Mη =
∑

j

yj P{η = yj} =
∑

j

yjp.j (11.2)

	���� �(� 	����
 �3)�$A��� )B�� �)(
� �� B�� + �*����-
$ �% !)$�'��� +���+�� 2�)��� �@ ��� � )$!2�"��" '�-
$ 2 �� η *� !)$�'  # 2�� *�� ��I$� )�3�� � {ξ = xi}�
�$( G��&� �)��)�'���� ' 	����
 '���(���)�% p.j = P{η =
yj} ��+�� �% �� !)$�'�!A '���(���)�%

qj/i = P{η = yj/ξ = xi} =
P{ξ = xi, η = yj}

P{ξ = xi} =

=
pij

pi.
=

pij∑
j
pij
.

C�G��+! ���+ )$��!AE��

(���������� 88$8$ C!)�% )$!2�"��( '�$ 2 �� η
 +��� +���+�� 2�)��� �@ ��� �� ���	���� ������:
�������� 	�������� �������	� �������� η ���
���	���F ��	 ��������
 �������� ξ ����
�� ���:
����� xi# ����'���)( 2 )$�

M(η/ξ = xi) =
∑

j

yj qj/i =
∑

j

yj P{η = yj/ξ = xi} =

=
1
pi.

∑
j

yj pij . (11.3)

1�� ��� pij ≤ p.j# �� �3)�$A���( )B�� +�)�% �(��
	����
 '�������  � �3)�$A���" )B�� +�)� �(�� 	����
�

�
:
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.��$�& 2�� �*����$(��)( !)$�'��� +���+�� 2�)���
�@ ��� � )$!2�"��" '�$ 2 �� ξ *� !)$�'  # 2�� *��-
 ��I$� )�3�� � {η = yj}�

M(ξ/η = yj) =
∑

i

xi pi/j =
∑

i

xi P{ξ = xi/η = yj} =

=
1
p.j

∑
i

xi pij. (11.4)

' *���*�$�@��  )!E�)�'�'�� ( Mξ# &��

pi/j = P{ξ = xi/η = yj} =
P{ξ = xi, η = yj}

P{η = yj} =

=
pij

p.j
=

pij∑
i
pij
.

C�)��$%�! �$( ���$ 2��B ���2�� " i 2 )$� xi ���$ 2-
��# �� ���$ 2�� ���@� )�3�� ( {ξ = xi}� L�� ����2���#
2�� �$( ���$ 2��B i !)$�'��� +���+�� 2�)� � �@ ��� (
M(η/ξ = xi)# '��3E� &�'��(# ��$ 2�A�)(� 1�� + �3����+#
M(η/ξ = xi) ('$(��)( �!��� �" �� xi# �����!A �3����-
2 + 2���� f(xi)�

f(xi) = M(η/ξ = xi). (11.5)

(���������� 88$2$ C!)�% )$!2�"��( '�$ 2 �� η
 +��� +���+�� 2�)��� �@ ��� �� ���	���� ������:
�������� 	�������� �������	� �������� η ���
���	��� ξ  $ 	��	�������	 ξ ����'���)( f(ξ)# &��

�
�
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�!��� ( f �*����$(��)( ��'��)�'�+ 	����
�

1�� ��� ξ = ξ(ω) ('$(��)( �!��� �" �� G$�+�������-
&�  )B��� ω ∈ Ω# �� M(η/ξ) ('$(��)( )$�@��" �!��� �"
f(ξ(ω))# ������( �� +��@�)�'�B {ω : ξ(ω) = xi}
*� � +��� ���2�� ( f(xi) = M(η/ξ = xi)� 1�� +
�3����+# M(η/ξ) 5 � )������( )$!2�"��( '�$ 2 ��#
*� � +�AE�( ���2�� ( M(η/ξ = xi) ) '���(���)�(+ 
pi. = P ({ω : ξ(ω) = xi}) = P{ξ = xi}�

?
��
�
� �
��
���� �������	��
���� ��	���	�#

�� J)$ η(ω) = C 5 *�)��(���( 	��)$!2�"��(
 '�$ -
2 ��# ��

M(η/ξ) = M(C/ξ) = C.

��")�' ��$%��# �� ')�B +��@�)�'�B {ω : ξ(ω) = xi}#
�3���!AE B ���3 �� � Ω# )$!2�"��( '�$ 2 �� M(η/ξ)
*� � +��� ����  �� @� ���2�� � C ' ) $! ��&�# 2��

M(C/ξ = xi) = C P{η = C/ξ = xi} = C P{Ω/ξ = xi} = C

	!)$�'��( '���(���)�% ��)��'����&� )�3�� ( ��'��
�� � ��
�

�� M(η1 + η2/ξ) = M(η1/ξ) +M(η2/ξ)�
��������$%)�'� G��&� )'�")�'� ���$�& 2�� ������-

��$%)�'! )���'��)�'!AE�&� )'�")�'� �$( 3��!)$�'��B
	�3�2��B
 +���+�� 2�)� B �@ ��� "�

�� N+��� +�)�� ���+!$� �	��	�	 ������������	�	
	������
�

MM(η/ξ) = Mη.

�
;
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0 )�+�+ ��$�# ��� ��� M(η/ξ) 5 � )������( )$!2�"-
��( '�$ 2 ��# *� � +�AE�( ���2�� ( M(η/ξ = xi) ) '�-
��(���)�(+ pi.# �� ) !2���+ ���+!$ 	����
-	����
 �� +�-
��+�� 2�)��� �@ ��� � ��'��

MM(η/ξ) =
∑

i

M(η/ξ = xi) pi. =
∑

i

∑
j

1
pi.
yj pij pi. =

=
∑

i

∑
j

yj pij =
∑

j

∑
i

yj pij =
∑

j

yj

∑
i

pij =

=
∑

j

yj p.j = Mη.

0��+�@��)�%  �+���� ( *��(��� )!++ ��'�� ( )$��!��
 � �3)�$A���" )B�� +�)� �'�"��&� �(���

+������	� ,# ��))+��� + 2�)���" )$!2�"# ��&�� η ('-
$(��)(  �� ������+ )�3�� ( A# ����

η(ω) = IA(ω) =

{
1, �)$ ω ∈ A,

0, �)$ ω /∈ A.

C���*�$�@ +# 2�� )�3�� ( H1, H2, . . . Hn �3���!A� *�$-
�!A &�!**!# ���� H1 +H2 + . . .+Hn = Ω� C!)�% )$!2�"��(
'�$ 2 �� ξ *� � +��� �� +��@�)�'�B H1, H2, . . . Hn )�-
��'��)�'���� ���2�� ( 1, 2, . . . , n� H� +��@�)�'� Hi =
{ω : ξ(ω) = i} )$!2�"��( '�$ 2 �� M(IA/ξ) *� � +���
���2�� � M(IA/ξ = i) = 1 · P{IA = 1/ξ = i} + 0 · P{IA =
0/ξ = i} = P{A/ξ = i} = P (A/Hi)� C�G��+! �� +���+�� -
2�)��� �@ ��� � ��'�� MM(IA/ξ) =

∑
i
P (A/Hi)P (Hi)�

9 ��!&�" )������# MIA = 1 · P (IA = 1) + 0 · P (IA =

�
�
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0) = P (A)� 1�� + �3����+# )'�")�'� � ' ��))+��� '��-
+�+ 2�)���+ )$!2�� *��'��E���)( ' �3�2�!A ���+!$!
*�$��" '���(���)� �

P (A) =
∑

i

P (Hi)P (A/Hi).

:� J)$ a(x) 5 3���$�')��( �!��� (# ��

M(a(ξ)η/ξ) = a(ξ)M(η/ξ).

9��2�$� *�()� + )+�)$ ��  ��! � '��+ !��'��� C� 
� �) ��'�����+ ���2��  ξ# ��'��+ xi# +��@ ��$% a(ξ)
*��'��E���)( ' *�)��(��!A 	��)$!2�"�!A# ���� �� ��' -
)(E!A �� ω
 '�$ 2 �!� C�)��(��!A +�@�� '���) �% ��
���� +���+�� 2�)��&� �@ ��� (# )$���'���$%��

M(a(ξ) η/ξ = xi) = M(a(xi) η/ξ = xi) = a(xi)M(η/ξ = xi),

���!��  )$��!�� ������'��+�� )'�")�'��
1�*��% ��� + )���&�� ��������$%)�'�� D��!+��!�+

*�� �'�$%��+ �3����+ ')� '��+�@��� ���2�� ( )$!2�"-
��" '�$ 2 �� a(ξ) η ) *�+�E%A  ����)� s ���# 2�� ��&��
ξ  η *��3�&�A� +��@�)�'� )'� B ���2�� " xk  yj )�-
��'��)�'����# ��� *��3�&��� ���2�� ( zs  � �� 3�$�� 2�+
)2����&� +��@�)�'�� N�+���� � *��(��� )!++ ��'�� (  
&�!** ��'�� 2$���' �(��# *�� �'�� +�� ��$��# �������
' ) $! �&� �3)�$A���" )B�� +�)� � N+��+�

M(a(ξ) η/ξ = xi) =
∑

s

zs P (a(ξ) η = zs/ξ = xi) =

=
∑

s

zs
∑

(k,j): zs=a(xk) yj

P (ξ = xk, η = yj/ξ = xi) =

�
�
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=
∑
(k,j)

∑
s: zs=a(xk) yj

zs P (ξ = xk, η = yj/ξ = xi) =

=
∑

k

∑
j

a(xk) yj P (ξ = xk, η = yj/ξ = xi) =

=
∑

j

a(xi) yj P (η = yj/ξ = xi) = a(xi)M(η/ξ = xi).

D��)% !2 ��'�$�)%# 2�� *� � �) ��'����B xk  yj )!-
E�)�'!�� �� �)�'����� s# �$( ������&� zs = a(xk) yj #  
��� ����# 2��

P (ξ = xk, η = yj/ξ = xi) =
P (ξ = xk, η = yj, ξ = xi)

P (ξ = xi)
=

= δki
P (η = yj, ξ = xi)

P (ξ = xi)
= δki P (η = yj/ξ = xi),

&�� δki 5 ) +'�$ ���������� D��2 � �� +��@�)�'�B
{ω : ξ(ω) = xi} )$!2�"��� '�$ 2 �� M(a(ξ) η/ξ)  
a(ξ)M(η/ξ) )�'*���A�� 1�� ��� G� +��@�)�'� �3���!-
A� ���3 �� � *��)����)�'� G$�+�������B  )B���' Ω#
�� !�������� )$!2�"��� '�$ 2 �� )�'*���A� �� ')�+ Ω�

�� J)$ ξ  η 5 ����' ) +�� )$!2�"��� '�$ 2 ��# ��
M(η/ξ) = Mη�

��")�' ��$%��#

M(η/ξ = xi) =
∑

j

yj P (η = yj/ξ = xi) =

=
∑

j

yj P (η = yj) = Mη.

�
�



,M.0. �� �.1J�.1NOJ9�.� 91.1N91N�.

��))+��� + ��*��% �3)�$A��� ��*����'��" )$!2�"-
��" '����� (ξ, η) ) *$����)�%A ��)*����$�� ( '���(���-
)��" pξ,η(x, y)� O�)���� *$����)� ��)*����$�� ( '���(�-
��)��" ��+*����� G��&� '������# ��� +� ����+# �*����-
$(A�)( )�����I�� (+ 

pξ(x) =

+∞∫
−∞

pξ,η(x, y)dy; pη(y) =

+∞∫
−∞

pξ,η(x, y)dx.

(���������� 88$?$ C!)�% )$!2�"��( '�$ 2 �� η
 +��� +���+�� 2�)��� �@ ��� �� ���	���� ������:
�������� 	�������� �������	� �������� η ���
���	���F ��	 ��������
 �������� ξ ����
�� ���:
����� x# ����'���)( 2 )$�

M(η/ξ = x) =

+∞∫
−∞

y pη/ξ(y/x)dy,

&��

pη/ξ(y/x) =
pξ,η(x, y)
pξ(x)

5

��� ����'��+�( ���	���
 ��	��	��� ������������

���	
��	���� )$!2�"��" '�$ 2 �� η *� !)$�'  # 2��
)$!2�"��( '�$ 2 �� ξ *� �($� ���2�� � x�

.3)�$A���( )B�� +�)�%  ���&��$�# !2�)�'!AE�&� '
�*����$��  # )$��!��  � �3)�$A���" )B�� +�)�  ���&��-
$� M |η|�

C� � �) ��'����+ ���2��  x !)$�'��� +���-
+�� 2�)��� �@ ��� � ('$(��)( 2 )$�+� 1�� ��� �$(
���$ 2��B x G� 2 )$�# '��3E� &�'��(# ���$ 2��# ��

��
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M(η/ξ = x) ('$(��)( �!��� �" �� x� J)$ ' G�! �!��-
� A '+�)�� x *��)��' �% )�+! )$!2�"�!A '�$ 2 �! ξ#
�� *�$!2 �)( )$!2�"��( '�$ 2 ��# �����!A ����'�A�
!)$�'��+ +���+�� 2�)� + �@ ��� �+ η ����) ��$%�� ξ�

(���������� 88$5$ C!)�% )$!2�"��( '�$ 2 �� η
 +��� +���+�� 2�)��� �@ ��� �� ���	���� ������:
�������� 	�������� �������	� �������� η ���
���	��� ξ  $ 	��	�������	 ξ ����'���)( f(ξ)# &��
�!��� ( f �*����$(��)( ��'��)�'�+ f(x) = M(η/ξ = x)�

9'�")�'� !)$�'��B +���+�� 2�)� B �@ ��� "# ��-
�������� �$( )$!2�( � )������&� )$!2�"��&� '������#
�)��A�)( ' ) $�  �$( )$!2�( �3)�$A��� ��*����'��&�
'�������

88$2$ ��������
$ (��	���
 ��	����
��������	��	�	 �������$ ��������
 ������	�

���������

(���������� 88$@$ ���'��� � η = f(ξ) = M(η/ξ)
����'���)( ���������� ��������� η �� ξ# � !��'��� �
ξ = g(η) = M(ξ/η) 5 ���������� ��������� ξ �� η�

��&��)) ( ����'���)( ����
	������	�# �)$ f(x) 5
+��&�2$�� �� +���� '����" )��*�� #  ������	�# �)$ 
f(x) = a0 + a1 x# &�� a1 �= 0� ��&��)) ( η �� ξ *�����-
'��� ��� ' )�����+ +��(��)( '�$ 2 �� η *�  �+����  
'�$ 2 �� ξ�

���
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(��	���
 ��	���� ��������	��	�	 �������
0���� �� �������A�= �������	�3�

=�	���"	� ��������� 
�������� 
��	�	�! η ��


�������� 
��	�	�� ξ 
 
������ �
�����	��
��� 
�!
��
�
����
� �
��
��� �������	��
��� ��	���	� M(η/ξ)
0��	���"	� 
 ���� 
�!
�� ������� ����
� ���
���	��

�����

		2�

C�()� + 3�$�� *����3�� ���+!$ ��'�! �����+��
J)$ ' *��)����)�'� )$!2�"��B '�$ 2 � ''�)� )���-
�AA �'����� 2�)�!A +��� �! ρ(ξ, η) = (M(ξ − η)2)

1
2

	+��� �! L2
  ����'��% *��&����+ η *� ξ $A3!A
�!��� A h(ξ) ∈ L2# �� ' �����+� !�'��@����)(# 2��
 � ')�B '��+�@��B *��&����' η *� ξ !)$�'��� +���+�-
� 2�)��� �@ ��� � M(η/ξ) ('$(��)( )�+�+ 3$ �� +
� *��&��� �!�+�" '�$ 2 �� η *� G��+! ��))��(� A�
M(η − f(ξ))2 ≤M(η − h(ξ))2# &�� f(ξ) = M(η/ξ)�

� � � � � � � � $ % ) � ' �� C� )'�")�'! $ ��"��)� +���-
+�� 2�)��&� �@ ��� (

M(η − h(ξ))2 = M(η − f(ξ) + f(ξ) − h(ξ))2 =

= M(η−f(ξ))2+M [(η−f(ξ))(f(ξ)−h(ξ))]+M(f(ξ)−h(ξ))2 .
C� )'�")�'�+ :  � !)$�'��&� +���+�� 2�)��&� �@ ��� (

M [(η−f(ξ))(f(ξ)−h(ξ))/ξ] = [f(ξ)−h(ξ)]M [(η−f(ξ))/ξ] =

= [f(ξ) − h(ξ)] [M(η/ξ) − f(ξ)M(1/ξ)] =

= [f(ξ) − h(ξ)] [M(η/ξ) − f(ξ)] = 0,

C� ���+!$� *�$��&� +���+�� 2�)��&� �@ ��� ( 	)'�"-
)�'� �


M [(η − f(ξ))(f(ξ) − h(ξ))] = 0.

���
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9$���'���$%��#

M(η−h(ξ))2 = M(η−f(ξ))2+M(f(ξ)−h(ξ))2 ≥M(η−f(ξ))2.

1����+� ��������� �

��))+��� + )$!2�" $ ��"��" ��&��))  η �� ξ�

f(ξ) = M(η/ξ) = a0 + a1 ξ. (11.6)

0'���+ �3����2�� (�

a = Mξ; b = Mη; σξ =
√
Dξ; ση =

√
Dη; r =

cov(ξ, η)
σξ ση

.

C� )'�")�'! � !)$�'��B +���+�� 2�)� B �@ ��� "

b = Mη = MM(η/ξ) = a0 + a1Mξ = a0 + a1 a. (11.7)

0�2 ��( 	����
  � 	���;
   )*�$%�!( )'�")�'� �# *�$!2 +�

M(η − b/ξ) = a1 (ξ − a). (11.8)

�+��@�( 	����
 �� ξ − a  *� +��(( )'�")�'� :#  +��+

M [(ξ − a) (η − b)/ξ] = a1 (ξ − a)2. (11.9)

���( +���+�� 2�)��� �@ ��� � �� �3� B 2�)��" 	����
  
 )*�$%�!( )'�")�'� �# *�$!2 +�

M [(ξ − a)(η − b)] = a1M(ξ − a)2

 $ # 2�� �� @� )�+��# r σξ ση = a1 σ
2
ξ # ���!��

a1 = r
ση

σξ
.

���
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1�� + �3����+#

M(η − b/ξ) = r
ση

σξ
(ξ − a).

C�G��+! !��'��� � $ ��"��" ��&��))  η �� ξ  +��� ' �

η − b = r
ση

σξ
(ξ − a). (11.10)

.��$�& 2��# !��'��� � $ ��"��" ��&��))  ξ �� η 3!���
 +��% ���+!

ξ − a = r
σξ

ση
(η − b). (11.11)

6)��'��( �����+� ��&��)) ����&� ���$ �� *�����'�-
��# 2�� ' )$!2�� $ ��"��" ��&��))  η �� ξ !��'��� �
	����

 ���� �� $!2I " ' )�����+ �'����� 2�)��+ )+�-
)$� *��&��� )$!2�"��" '�$ 2 �� η *� )$!2�"��" '�$ -
2 �� ξ� 6I 3�� ����&� *� 3$ @�� ( ��'��

δη/ξ = η − b− r
ση

σξ
(ξ − a).

� )*��) ( G��" �I 3� 5

σ2
η/ξ = M(δη/ξ−Mδη/ξ)

2 = Mδ2η/ξ = M [η−b−rση

σξ
(ξ−a)]2 =

= M(η − b)2 − 2r
ση

σξ
M [(ξ − a)(η − b)] + r2

σ2
η

σ2
ξ

M(ξ − a)2 =

= σ2
η − 2r

ση

σξ
rσξση + r2

σ2
η

σ2
ξ

σ2
ξ = σ2

η(1 − r2).

N���# )������'����� 2�)��� ���$���� � �I 3� *� -
3$ @�� ( ' !��'���  ��&��))  η �� ξ ��'��

ση/ξ = ση

√
1 − r2. (11.12)

��:
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.��$�& 2��# )������'����� 2�)��� ���$���� � �I 3� 
*� 3$ @�� ( ' !��'���  ��&��))  ξ �� η ��'��

σξ/η = σξ

√
1 − r2. (11.13)

N� !��'��� " $ ��"��" ��&��))  ' ���# 2�� �3� *�(+��
��&��))  *��B��(� 2���� ����� )�'+�)���&� ��)*����$�-
� ( (Mξ, Mη) = (a, b)� �&$�'�� ��G�� � ���� *�(+�B
��&��))  ��'��

tg α = r
ση

σξ
; tg β =

1
r

ση

σξ
.

63� !&$�'�B ��G�� � ���� ����&� ����� ) r# )$���'�-
��$%��# $ 3� ! �3� B *�(+�B !&�$ ���$��� � �) OX
�)���"# $ 3� ! �3� B 5 �!*�"� C� r = 0  � 	����

 ' ���#
2�� )������'����� 2�)��� ���$���� � �I 3� *� 3$ @�-
� ( η �� ξ )�'*����� )� )������'����� 2�)� + ���$���-
� �+ )$!2�"��" '�$ 2 �� η� L�� ����2���# 2�� *��&��� )
*�+�E%A !��'��� ( ��&��))  	����

 ����" @� ���*��-
��$����" ��� )�+� )$!2�"��( '�$ 2 �� η# ���� !��'��� �
���� 2�)� �� *��&��� �!�� ���2�� ( )$!2�"��" '�$ 2 -
�� η� ���'��� ( ��&��))  *��'��E�A�)( '

η = b, ξ = a.

���� $ �  ��&��))  	����

# 	�����
 *��*��� �!$(����
C� G��+ *��&��� η *� ξ '���@���)( ��� +���+�� 2�-
)��� �@ ��� � η  ��  )*�$%�!�� � ����"  ����+��  �
)$!2�"��" '�$ 2 �� ξ� N� 	�����
# 	�����
 ' ���# 2�� *� 
!'�$ 2��  r2 �� 
 �� � )������'����� 2�)� � �I 3� 
*� 3$ @�� ( !��'��� (+ ��&��))  !3�'�A� �� 
# *��-
'��E�()% ' ��&� *� r2 = 1� �&�$ +�@�! $ � (+ *� 
G��+ !3�'��� �� 90oC �� 0o� D�+�� +# 2�� *�(+�� ��-
&��))  )�'*���A� ��&��  ��$%�� ��&��# ��&�� r2 = 1� 0

���
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G��+ )$!2��# ��� +� ����+# η  ξ ) '���(���)�%A � )'(��-
�� $ ��"��" ��' ) +�)�%A# ������( ��� ��� '���@���)(
)�'*���AE + +�@�! )�3�" !��'��� (+ ��&��))  � 1�-
� + �3����+# !��'��� � ��&��))  '���@��� ' G��+ )$!-
2�� ��2��" *��&���� O�+ 3$ @� r2 � �# ��+ $!2I� ��2�-
)�'� *��&���� !��'��� (+ ��&��))  # 2�+ 3$ @� r � 
#
��+ ��2�)�'� *��&���� B!@��

C���*�$�@ + ��*��%# 2�� ��&��)) ( η �� ξ �� ('$(��-
)( $ ��"��"�

M(η/ξ) �= a0 + a1 ξ;

��+ �� +���� +� B�� + *�)��� �% �� $!2I " ' )+�)$�
)�����&� �'����� 2�)��&� ���$���� ( $ ��"��" *��&���
�$( '�$ 2 �� η� ��!& + )$�'�+ # ���3!��)( *���3���%
a0  a1 ��� + �3����+# 2��3�M(η−a0−a1 ξ)2 *� � +�$�
�� +��%I�� ���2�� �� N+��+

M(η−a0−a1 ξ)2 = M [(η−b)−a1(ξ−a)+(b−a1 a−a0)]2 =

= σ2
η + a2

1σ
2
ξ + (b− a1 a− a0)2 − 2a1rσξση.

�$( ��&�# 2��3� G�� '���@�� � ��'�$� + � +!+# ���3B�-
� +�# 2��3� 2�)���� *�� �'����� *� a0  a1 �3��E�$ )%
' 
�

b− a1a− a0 = 0;

2a1σ
2
ξ − 2a1rσξση = 0;

���!��

a1 = r
ση

σξ
; a0 = b− r

ση

σξ
a.

M�&�� *��'��(��)(# 2�� ��"�����( ��2�� 5 ��2�� + -
� +!+�� C�G��+! �� $!2I�� $ ��"��� *� 3$ @�� � �$(
η *� ξ ����)( ) *�+�E%A

η = a0 + a1 ξ = b− r
ση

σξ
a+ r

ση

σξ
ξ,

��;



K ��� 6)��'� $ ��"��&� ��&��)) ����&� ���$ ��

2�� )�'*����� ) !��'��� �+ $ ��"��" ��&��))  	����


'�$ 2 �� η �� ξ�

1�� + �3����+# !��'��� ( $ ��"��" ��&��))  ��A�
�� $!2I " *��&��� )��� ')�B $ ��"��B *��&����' ��@�
' ��+ )$!2��# ��&�� ��&��)) ( �� ('$(��)( $ ��"��"�

88$?$ %�
	�	���� ��������
 ������	� ���������

C!)�%  +���)( '�3���� (x1, y1), (x2, y2), . . . , (xn, yn, )
��G�' ) +�B ��3$A��� " )$!2�"��&� '������ (ξ, η)� H�
*���� �� 2 )$�'�� B������� )� � a = Mξ, b =
Mη, σξ =

√
Dξ, ση =

√
Dη, r = cov(ξ, η)/(σξση)#

��� *��' $�# �� �'�)���# � +� +�@�+ *�)��� �% ��$%��
 B ����� 

x =
1
n

n∑
i=1

xi; y =
1
n

n∑
i=1

yi;

Sx =

√√√√ 1
n− 1

n∑
i=1

(xi − x)2; Sy =

√√√√ 1
n− 1

n∑
i=1

(yi − y)2;

r� =
̂cov(ξ, η)
Sx Sy

.

D��)%

̂cov(ξ, η) =
1

n− 1

n∑
i=1

(xi − x) (yi − y) 5

������ cov(ξ, η)� C�G��+! !��'��� ( $ ��"��" ��&��))  
*�)��� �% ��'��+�@��� H� +� +�@�+ *��)��' �% ' G� 

���
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!��'��� ( '+�)�� *���+����' !�������� ����� # � '+�-
)�� ξ  η ��* )��% x  y� C�$!2��)( !��'��� (# ������� '
�*����$����+ )+�)$� ('$(A�)( *� 3$ @����+ !��'��-
� (+ $ ��"��" ��&��))   ����'�A�)( ��
	�	�����
��������
�� ������	� ����������

N���# '�3���2��� !��'��� ( $ ��"��" ��&��))  η ��
ξ  +�A� ' �

y − y = r�
Sy

Sx
(x− x),

� '�3���2��� !��'��� ( $ ��"��" ��&��))  ξ �� η 5
' �

x− x = r�
Sx

Sy
(y − y).

+������	� %� C� ��* ) '�3���2��B !��'��� " ��-
&��))  +�@�� *�$%��'��%)( )+�E����+ ������+ � )-
*��) "

S̃2
x =

1
n

n∑
i=1

(xi − x)2; S̃2
y =

1
n

n∑
i=1

(yi − y)2.

H� ��&�� �$( ����� �'������ ��'�� ��  ���@� ����
'�)*�$%��'��%)( )+�E����" ������"

̂cov1(ξ, η) =
1
n

n∑
i=1

(xi − x) (yi − y).

1�� ��� !&$�'�� ��G�� � ���� ' !��'��� (B ��&��))  
*� G��+ )�B���(A�)(# ��  '�3���2��� !��'��� (
��&��))  ��  �+��(�)(�

+������	� 6� C���*�$�@ +# 2�� )$!2�"��" '�����
(ξ, η)  +��� �'!+����� ���+�$%��� ��)*����$�� �� 0

���



K ��� 6)��'� $ ��"��&� ��&��)) ����&� ���$ ��

G��+ )$!2�� &�'��(� � ��� ����'��+�" ���+�$%��" ���-
��$(�  � ��))+��� + )$!2�"��" '�����

θ = η − b− r
ση

σξ
(ξ − a).

N+��+

M [θ(ξ − a)] = M [(ξ − a)(η − b)] − r σησξ = 0.

1�� ��� '����� (θ, ξ − a)  +��� �'!+����� ���+�$%���
��)*����$�� �  �&� ��+*������ �������$ ��'���# ��
�� ����' ) +�� 9$���'���$%��# ����' ) +� ���@� θ  
ξ#  *� )'�")�'! � !)$�'��B +���+�� 2�)� B �@ ��� "
M(θ/ξ) = Mθ = 0# ����

M(θ/ξ) = M(η/ξ) − b− r
ση

σξ
(ξ − a) = 0,

���!��

M(η/ξ) = b+ r
ση

σξ
(ξ − a).

1�� + �3����+# *� ���+�$%��" �����$(�  ��&��)) (
('$(��)( �3(����$%�� $ ��"��"�

��@�� *������%# 2�� *� ���+�$%��" �����$(�  '
)$!2�� 3�$%I�&� �3Q�+� '�3��� n ) ����@��)�%A γ �$(
��G�� � ���� �����$(�  r  ��G�� � ���� ��&��))  
kη/ξ = r

ση

σξ
*�$!2�A�)( )$��!AE � ��'�� ��$%���  ����-

'�$��

r� − Φ−1
(1 + γ

2

) 1 − r2
�√

n
< r < r� + Φ−1

(1 + γ

2

) 1 − r2
�√

n
;

k�y/x − Φ−1
(1 + γ

2

) 1 − r2
�√

n

Sy

Sx
< kη/ξ <

���
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< k�y/x + Φ−1
(1 + γ

2

) 1 − r2
�√

n

Sy

Sx
,

&�� k�y/x = r� (Sy/Sx) 5 '�3���2��" ��G�� � ���
��&��))  η �� ξ# ('$(AE ")( ������" ��G�� � ����
��&��))  kη/ξ , Φ(x) 5 �!��� ( M�*$�)��

+����� ,� C�$%�!()% *� '������+  ����'�$%��+ 
������+ # *�)��� �% �� ���  ���2 +�)� �$( *��'��� 
& *���� H0 : r = r0  H0 : kη/ξ = k0# &�� 0 ≤ r0 ≤ 1�

���@�+ �E� �� � )*�)�3 *�$!2�� ( '�3���2��B
!��'��� " $ ��"��" ��&��))  � C�)��$%�! !��'��� ( $ -
��"��" ��&��))  '���@�A� �� $!2I " $ ��"��" *��-
&��� ��@� ' )$!2�� ��$ ��"��" ��&��))  # �� +�@�� ��-
��(�%)(# 2�� *�B�@�( ) �!�� ( 3!��� )�B���(�%)(  �$(
'�3���2��B !��'��� " $ ��"��" ��&��))  � JE� ,�!))
�$( G+* � 2�)��&� �*����$�� ( �� $!2I�&� $ ��"��&�
*��&���� η *� ξ *� ���!$%����+ ��3$A��� " *���$�@ $
��� ����'��+�" ���	� �������A�= �������	�� C� 
$ ��"��+ *��&����

η̃ = Aξ +B

' i-+ ��3$A���  +� ��$��+ �I 3�! εi = yi − Axi − B�
��G�� � ���� A  B ��B��(�)(  � !)$�' (# 2��3� )!++�
�'������' �I 3�� 3�$� + � +�$%��"�

n∑
i=1

ε2i =
n∑

i=1

(yi −Axi −B)2 −→ min .

H��3B�� +�+ !)$�' �+ + � +!+� �!���  �'!B *���-
+����B A  B ('$(��)( ��'��)�'� �� 2�)���B *�� �'��-

��
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��B *� A  B �!$A�

n∑
i=1

xi (yi −Axi −B) = 0;

n∑
i=1

(yi −Axi −B) = 0.

�$( �*����$�� ( �� �'�)���B ��G�� � ����' A  B *�-
$!2���)( ) )��+� ��� ����'��+�B �	�������= ����:
������

(
n∑

i=1

x2
i )A+ (

n∑
i=1

xi)B =
n∑

i=1

xi yi;

(
n∑

i=1

xi)A+ nB =
n∑

i=1

yi.

J)$ ��"� A  B# �� ���@��)(# 2�� !��'��� � y = Ax+B
)�'*���� ) '�3���2��+ !��'��� �+ $ ��"��" ��&��))  
η �� ξ�

+����� %� ����@ �� G��� ���!$%����

H� *���� �� �$( !)����'$�� ( ' �� ��-
&��)) ����" ��' ) +�)�  ��3��@�A� ��2� 
(x1, y1), (x2, y2), . . . , (xn, yn)  *� &��� �! *� � ��-
'�A�# '���!& ����" �� '�" 	*� ���+�
 �� &�!** �!-
A�)(� H� �'�)���� ��G�� � ���� ��B��(� +�����+
�� +��%I B �'������'�

C!)�%# ��*� +��# ��&��)) ����( ��' ) +�)�%  +���
' � y = C eAx +B� 9!++� �'������' �I 3�� ��'��

n∑
i=1

ε2i =
n∑

i=1

(yi − C eAxi −B)2.

���
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�$( ��&�# 2��3� ��� 3�$� + � +�$%��# ���3B�� +�# 2��-
3� �� 2�)���� *�� �'����� *� B, C  A �3��E�$ )% '
��$%�

n∑
i=1

(yi − C eAxi −B) = 0;

n∑
i=1

(yi − C eAxi −B) eAxi = 0;

n∑
i=1

(yi − C eAxi −B) eAxi xi = 0.

6)����)( ��$%�� ��I �% G�! ) )��+! ����)���������B
!��'��� "�

� ��� 7���
������ ��
�����	�� $��������
� �


���
� ����
������ ��
�����	��

�	�
������
�*��� ����1���
� ������


'����)����
&8��	�9��
&%
�

C� 3�$%I B �3Q�+�B )��� )� 2�)��"  ����+��  '�@-
��� ���2�� �  +��� )����E�� �  +�AE B)( �����B� [�-
$���$%��# 2��3� ����� )����E�� � �� *� '�� $� � *���-
��  ����+��  � 6����'���)(# 2�� '� +��& B )$!2�(B G��
+�@�� )��$��% ) *�+�E%A ��� ����'��+�B ��)����2��B
)��� )� �# ��$ 2�)�'�  ����+��  *� 8 I��! ' ������B
)�'*����� ) ��$ 2�)�'�+  ����+��  ' '�3�����

C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (# ��-
' )(E�&� �� �� �'�)���&� *���+���� θ 	'��+�@�� '�����-
��&�# ���� θ = (θ1, θ2, . . . , θm))� C!)�% x = (x1, x2, . . . , xn)
5 '����� ��3$A��� "# �

T(x) = (T1(x1, x2, . . . , xn), T2(x1, x2, . . . , xn), . . .

���
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. . . , Tr(x1, x2, . . . , xn)) 5

'�������( )��� )� ��# ���� Ti(x) : Rn → R 5 3���$�')� �
�!���  �

(���������� 82$8� 9��� )� �� T(x) =
T(x1, x2, . . . , xn) ����'���)( �	����	��	�# �)$ *� 
�������+ ���2��  )��� )� � T ��)*����$�� � '������
��3$A��� " x �� ��' ) � �� θ# ���� �$( $A3�&� B ∈ B
!)$�'��( '���(���)�%

P{x ∈ B/T(x) = T}
�� ��' ) � �� θ 	 # ���2 �# �� ��)�� � ����"  ����+��  
����) ��$%�� θ
�

&�	���� <���	���� �� +������� @��������


���	
�	�� T (x) = T(x1, x2, . . . , xn) �
����
� ��
��.
������ 
���	
�	��� ����� 	 ������ ������ ����� 
�.

��
�
� � ������

�	� *����		 h(x) 	 gθ(y) ���	�� ���
*����	� ���
�������	� ����
��
����
� 
 
	��

L(x/θ) = gθ(T(x))h(x). (12.1)

C��2�����+# 2�� ���)% �!��� ( h(x) �� ��' ) � �� θ�
� � � � � � � � $ % ) � ' � *��'���+ ��$%�� �$( )$!-

2�(# ��&�� ������ 2�)��( )$!2�"��( '�$ 2 �� � )������
	'�3���� '�(��  � � )������&� ��)*����$�� (
�

=������	��
��� C!)�% T 5 ��)����2��( )��� )� ��#
x ∈ R  T(x) = t� 1�&��# �)$ �ξ = (ξ1, ξ2, . . . , ξn) 5 �����-
� 2�)� " '����� ��3$A��� "# ��

L(θ) = L(x/θ) = P{�ξ = x} = P{�ξ = x, T(x) = t} =

= P{�ξ = x, T(�ξ) = t} = P{T(�ξ) = t}P{�ξ = x/T(�ξ) = t} =

���
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= gθ(t)h(x) = gθ(T(x))h(x),

&�� h(x) = P{�ξ = x/T(�ξ) = t} �� ��' ) � �� θ# ��� ��� T
5 ��)����2��( )��� )� ���

��
�������
��� C!)�% L(x/θ) = gθ(T(x))h(x)� J)$ 
T(x) = t  P{T(�ξ) = t} �= 0# ��

P{�ξ = x/T(�ξ) = t} =
P{�ξ = x,T(�ξ) = t}

P{T(�ξ) = t}
=

=
P{�ξ = x,T(x) = t}

P{T(�ξ) = t}
=

P{�ξ = x}
P{T(�ξ) = t}

=

=
P{�ξ = x}∑

z: T(z)=t

P{�ξ = z}
=

gθ(T(x))h(x)∑
z: T(z)=t

gθ(T(z))h(z)
=

=
gθ(t)h(x)∑

z: T(z)=t

gθ(t)h(z)
=

h(x)∑
z: T(z)=t

h(z)

�� ��' ) � �� θ� �

+������	� ,� �$( '�3���  � �3)�$A��� ��*����'-
��&� ��)*����$�� ( �!��� �" *��'��*���3 ( +� ����-
'�$ *$����)�% )$!2�"��&� '������ ��3$A��� " x =
(x1, x2, . . . , xn)# � �$( '�3���  � � )������&� ��)*����-
$�� ( 5 '���(���)�% *� �(� ( ����� ����+ G��&� '��-
���� )'� B ���2�� " 	) *��)����'��" ' � B '+�)�� *�-
��+����B )$!2�"��B '�$ 2 � x1, x2, . . . , xn 5 G$�+��-
��' �3)�������" '�3��� 
� 1�2�� ��� @� +�@�� ''�)� 
<��� �9 �����	�	�	
�
 ��
 �	����	��	� �����:
����� T 5 LT(T(x)/θ) 5 *$����)�% )$!2�"��&� '����-
�� T(x) ' �3)�$A��� ��*����'��+ )$!2��  '���(���)�%

��:
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*� �(� ( G� + '������+ )'� B ���2�� " ' � )������+
)$!2��� C!)�% θ 5 )��$(���" *���+���� C����$@�( G�!
���$�& A# ����'�+ ��<	��� ��� �	 ��A��� ' ��)��-
��2��" )��� )� �� T 2 )$�

IT(θ) = M
∣∣∣∂lnLT(T(x)/θ)

∂θ

∣∣∣2.
��� ' ���  � ��������$%)�'� ���3B�� +�)� �����+�
H�"+��� gθ(t) = LT(t/θ)� C�G��+!

IT(θ) = M
∣∣∣∂ln gθ(T(x))

∂θ

∣∣∣2.
0 ) $! 	����


lnL(x/θ) = ln gθ(T(x)) + lnh(x),

� ��� ��� h(x) �� ��' ) � �� θ# ��

∂lnL(x/θ)
∂θ

=
∂ln gθ(T(x))

∂θ
.

C�G��+!

IT(θ) = M
∣∣∣∂ln gθ(T(x))

∂θ

∣∣∣2 = M
∣∣∣∂lnL(x/θ)

∂θ

∣∣∣2 = I(θ),

����  ����+�� ( � *���+���� θ ' ��)����2��" )��� )� ��
T(x) )�'*����� )  ����+�� �" ' '�3�����

+������	� %� ���'��� � *��'��*���3 (

∂ lnL(x/θ)
∂θi

= 0, i = 1,m,

G�' '�$����� !��'��� A

∂ ln gθ(T(x))
∂θi

= 0, i = 1,m.

���
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C�G��+! ����� +��) +�$%��&� *��'��*���3 (# ('$(A-
E �)( �&� ��I�� �+# ��' )(� �� '�3���2��B ���2�� "
��$%�� 2���� ��)����2�!A )��� )� �!�

5�	��� ,� C!)�% x1, x2, . . . , xn 5 '�3����  � ��'-
��+����&� ��)*����$�� ( �� ������� [0, 1]� J)$ T =
(x(1), x(n))# &�� x(1) = min(x1, x2, . . . , xn), x(n) =
max(x1, x2, . . . , xn) 5 ���"� � *��(���'�� )��� )� � # ��

L(x/a, b) =

{
1

(b−a)n , �)$ x(1) ≥ a, x(n) ≤ b,

0, '  ��B )$!2�(B
=

= ga,b(T) · h(x),

&�� h(x) = 1� C�G��+! T 5 ��)����2��( )��� )� ���

5�	��� %� C!)�% x1, x2, . . . , xn 5 '�3����  � ���+�$%-
��&� ��)*����$�� ( N(a, σ2)�

�� C!)�% a �� �'�)���# σ2  �'�)���� 1�&��

L(x/a) =
1

(
√

2πσ)n
e
− 1

2σ2

n∑
i=1

(xi−a)2

= ga(x) · h(x),

&��

ga(x) = e
na
σ2 (x−a

2 )

, h(x) =
1

(
√

2πσ)n
e
− 1

2σ2

n∑
i=1

x2
i
.

9$���'���$%��# x 5 ��)����2��( )��� )� ���

�� C!)�% σ2 �� �'�)���# a  �'�)���� 1�&��

L(x/σ2) =
1

(
√

2πσ)n
e
− 1

2σ2

n∑
i=1

(xi−a)2

= gσ2(S∗2
) · h(x),

��;
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&��

S∗2
=

1
n

n∑
i=1

(xi − a)2, gσ2(S∗2
) =

1
(
√

2πσ)n
e
− n

2σ2 S∗2

,

h(x) = 1.

C� �����+� H�"+��� S∗2
5 ��)����2��( )��� )� ���

�� C!)�% a  σ2 �� �'�)���� 1�&��

L(x/a, σ2) =
1

(
√

2πσ)n
e
− 1

2σ2

n∑
i=1

(xi−x+x−a)2

=

=
1

(
√

2πσ)n
e
− 1

2σ2

[
n∑

i=1
(xi−x)2+n(x−a)2

]
= ga,σ2(x, S2) · h(x),

&��

S2 =
1

n− 1

n∑
i=1

(xi − x)2,

ga,σ2(x, S2) =
1

(
√

2πσ)n
e
− 1

2σ2

[
(n−1)S2+n(x−a)2

]
, h(x) = 1.

C� �����+� ������ ���  (x, S2) 5 ��)����2��( )��� -
)� ���

C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*����$�� (
F (x/θ)# ��' )(E�&� �� �� �'�)���&� *���+���� θ� ��
����'�$ '�������" )��� )� ��" T = T(x1, x2, . . . , xn) =
(T1(x1, x2, . . . , xn), . . . , Tr(x1, x2, . . . , xn))# &�� Ti 5 3���-
$�')� � �!���  �� '�3���2��B ���2�� "� C� G��+ ���
�� ��' )�$� �� �� �'�)���&� *���+���� θ� 0 G��+ �����$�
'��+���� �����I + �" ��' )��% �� θ : T = T(x/θ)  
3!��+ ����'��% �� θ-)��� )� ��"�

���
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(���������� 82$2� θ-)��� )� �� T(x/θ) ����'���)(
�	����	��	�# �)$ 

L(x/θ) = gθ(T(x/θ)) · h(x).

0 ) $! ������ ��� ����" �����+� H�"+��� G��
�*����$�� � )�&$�)!��)( ) ��+# ������� +� ''�� $ �$(
)��� )� � 	���� ��&�� T(x/θ) �� ��' )�$� �� θ
�

(���������� 82$?� θ-)��� )� �� T∗(x/θ) ����-
'���)( ��	
=	���	�  $ ���������	�# �)$ ���
�*����$(��)( ���2�� (+ $A3�" ��)����2��" )��� )� -
� �

9+�)$ G��&� �*����$�� ( ����'� J)$ T 5 ��)����2-
��( )��� )� ��# �� �$( $A3�" )��� )� � t )��� )� -
�� (T, t) ��@� ('$(��)( ��)����2��"� C���*�2� ��$%���
 +��% ��$� ��$%�� ) T# � �� ) (T, t)# *�)��$%�! ��I� ��$%
5 *���)��' �% ������ ' )@���+ ' ��� �$( ���3B�� +�"
)��� )� � B��������� ��# 2�� *� )�B�����  )'�")�'�
��)����2��)� ��'��+�@�� ��$%��"I�� )����E�� � ���-
��B *� )��'��� A ) T∗�

��))+��� + '�*��) � )!E�)�'�'��  ���3B�� +�"  
��)����2��" )��� )� � � �$( θ-)��� )� � G��� '�*��)
��I���)( �� ' �$%���

&�	���� 82$5� -
�	 L(x/θ) > 0� �� θ.
���	
�	��

T∗(x/θ) = ln
L(x/θ)
L(x/θ0)

,

���!
����� �	����<�������� 	��	A����� �����	:
�	�	
�
� �
����
� �������	��� 	 ��
���������

���
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� � � � � � � � $ % ) � ' �� C� �*����$�� A T∗(x/θ)

L(x/θ) = L(x/θ0)eT
∗(x/θ) = h(x)gθ(T∗(x/θ)),

&�� h(x) = L(x/θ0), gθ(T∗(x/θ)) = eT
∗(x/θ)� C� �����-

� ��� ����" �����+� H�"+��� G�� ����2���# 2�� T∗(x/θ)
5 ��)����2��( θ-)��� )� ���

C!)�% T(x/θ) 5 $A3�( ��)����2��( θ-)��� )� ��� N)-
*�$%�!( �*(�% ������ ��� ���!A �����+!# *�$!2 +

T∗(x/θ) = ln
L(x/θ)
L(x/θ0)

= ln
h(x)gθ(T(x/θ))
h(x)gθ(T(x/θ0))

=

= ln
gθ(T(x/θ))
gθ(T(x/θ0))

,

���� T∗(x/θ) '���@���)( 2���� $A3!A ��)����2�!A θ-
)��� )� �! T(x/θ)� D��2 �# T∗(x/θ) 5 ���3B�� +�( θ-
)��� )� ��� �

L�� �� ��I�� � '�*��)�# ��� ��� ' ��$ 2 � �� θ-
)��� )� � �3�2��( )��� )� �� �� ��' ) � �� θ� ���
 �3�' �%)( �� θX

&�	���� H������� 5�
�� L 1 ��	����"�� �	���.

��� ���
����
�
�� 
���������{
const, T∗(x/θ) = ln

L(x/θ)
L(x/θ0)

, θ ∈ Θ
}

	 dimL = m+ 1 0
����� m = ∞ �� 	
�� ����
�2#

,# -
�	 n ≤ m� �� �������	��� 	 ��
�������� 
��.
�	
�	�� ��	
	����� 0�#�# 
�
������ 
 
���� 
!���.

���2#

%# -
�	 n > m� �� 
���
�
��� �������	��� 	 ��
��.

������ 
���	
�	�� ��������
�	 m# ��� � ���� ���	
�

���
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1, T1(x), . . . , Tm(x) 
 L ����� 
���	
�	��� �����


���	�� (T1(x), . . . , Tm(x))�
� � � � � � � � $ % ) � ' �� C!)�% 1, T1(x), . . . , Tm(x)

5 3�� ) ' L� C� �*����$�� A L T∗(x/θ) ∈ L *� ��@��+
θ ∈ Θ� C�G��+!

T∗(x/θ) = γ0(θ) +
m∑

k=1

γk(θ)Tk(x),

&�� γk(θ), k = 0,m# 5 ��G�� � ���� ���$�@�� ( *�
3�� )!� C� �����+� � T∗(x/θ) 5 ���3B�� +�(  ��)����2-
��( )��� )� ��� 6�)A�� )$��!��# 2�� (T1(x), . . . , Tm(x))
���@� ('$(��)( ���3B�� +�"  ��)����2��" )��� )� ��"�
��")�' ��$%��# ��� ��� T∗(x/θ) ��)����2��# �� *� �*��-
��$�� A ��)����2��" θ-)��� )� � 

L(x/θ) = gθ(T∗(x/θ)) · h(x) = gθ(γ0(θ)+

+
m∑

k=1

γk(θ)Tk(x)) · h(x) = g̃θ(T1(x), . . . ,Tm(x)) · h(x).

C� ������ ��� ����" �����+� H�"+���
(T1(x), . . . , Tm(x)) 5 ��)����2��( )��� )� ���

1�� ��� T∗(x/θ) 5 ���3B�� +�( θ-)��� )� ��# ��
T∗(x/θ) = f(T(x/θ))# &�� T(x/θ) 5 $A3�( θ-)��� )� ���
C!)�% T(x) 5 $A3�( )��� )� ��# ����  θ-)��� )� ��# ��-
�!�� T∗(x/θ) = f(T(x))# ����

γ0(θ) +
m∑

k=1

γk(θ)Tk(x) = f(T(x)).

J)$ Θ ����'�# 2�� ��"�!�)( θ1, . . . , θm ∈ Θ ��� �# 2��
) )��+� !��'��� "

γ0(θi) +
m∑

k=1

γk(θi)Tk(x) = f(T(x)), i = 1,m,

��
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�������2�� �����I +�# ��

Tk(x) = fk(T(x)), k = 1,m,

���� (T1(x), . . . , Tm(x)) '���@���)( 2���� $A3!A ��-
)����2�!A )��� )� �!� D��2 �# (T1(x), . . . , Tm(x)) 5
���3B�� +�( )��� )� ���

1�*��%#
�
 �)$ n ≤ m# �� ���+����)�% G��" )��� )� � 3�$%-

I� ���+����)� '������ ��3$A��� "� 9$���'���$%��# )�-
+� ��3$A��� � x = (x1, . . . , xn)# ('$(AE��)( ��)����2��"
)��� )� ��"# 7$!2I�7 (T1(x), . . . , Tm(x))P

�
 �)$ n > m# �� (T1(x), . . . , Tm(x))
5 ���3B�� +�(  ��)����2��( )��� )� ���
�

+������	� 6� O��3� �� !)$�@�(�% ���+!$ ��'�! ���-
��+� ���� ��# ' �� !)$�'  �� !������# 2�� ��$@�� 3��%
�������2�� �����I +� ) )��+� !��'��� "

γ0(θi) +
m∑

k=1

γk(θi)Tk(x) = f(T(x)), i = 1,m.

N� �����+� ���� �� )$��!��# 2�� �)$ )!E�)�'!��
���� ' �$%��( ���3B�� +�(  ��)����2��( )��� )� ��# ��
m < n  

L(x/θ) = L(x/θ0)e
γ0(θ)+

m∑
k=1

γk(θ)Tk(x)

= h(x)c(θ)e

m∑
k=1

γk(θ)Tk(x)

.
(12.2)

(���������� 82$@� 9�+�")�'� ��)*����$�� "
{L(x/θ), θ ∈ Θ} ' �� 	����
 ����'���)( ;���	��� �:
�������

���
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N���# ��+ *�$!2���

!�������� 82$B� -
�	 
���
�
��� ����	
	���.

��� �������	��� 	 ��
�������� 
���	
�	��� ��


����
�
� ��
��������	� {L(x/θ), θ ∈ Θ} �
����
�
/�
������	����!��

+����� ,� C!)�% x1, x2, . . . , xn 5 '�3����  � N(a, σ2)#
&�� a ∈ R, σ > 0� C���@ ��# 2��

�
 �)$ a  �'�)���# � σ2 �� �'�)���# �� )��$(���( )��-

� )� �� T0(x) =
n∑

i=1
(xi − a)2 ('$(��)( ���3B�� +�"  ��-

)����2��"P

3
 �)$ a �� �'�)���# � σ2  �'�)���# �� )��$(���( )��-

� )� �� T1(x) =
n∑

i=1
xi ('$(��)( ���3B�� +�"  ��)����2-

��"P

'
 �)$ a  σ2 �� �'�)���# �� '�������( )��� )� ��

T(x) = (T1(x), T2(x))# &�� T1(x) =
n∑

i=1
xi, T2(x) =

n∑
i=1

x2
i #

('$(��)( ���3B�� +�"  ��)����2��"�

&�	���� /	��	�	�	��:�����;���:��	� 5�
�� T
1 ��
�������� 
���	
�	��� θ̂ = θ̂(x) 1 ��
��������

������ ��������� θ# <����

,2 θ̂∗ = M(θ̂/T) 1 ��
�������� ������ θ:

%2 θ̂∗ ��
	
	� �	"� �� T(x):
62 Dθ̂∗ ≤ Dθ̂� ��	��� ��
��
�
� 
������� �	"� 



������ ����� θ̂∗ = θ̂ 
 
�������
�� ,�

� � � � � � � � $ % ) � ' �� 1�# 2�� θ̂∗ 5 )��� )� ��# �
�� θ-)��� )� ��# ���� �� ��' ) � �� θ# )$��!��  � ��&�# 2��
T 5 ��)����2��( )��� )� ��# ���� *� � �) ��'����+ T
��)*����$�� � x �� ��' ) � �� θ# � ���2 � M(θ̂(x)/T) ��

���



K ��� ��)����2��� )��� )� � ���

��' ) � �� θ� ��$��# *� )'�")�'�+ !)$�'��B +���+�� 2�-
)� B �@ ��� "

Mθ̂∗ = MM(θ̂/T) = Mθ̂,

���� θ̂∗ 5 ��)+�E����( ������� C!��� �
 ��������
C� �*����$�� A !)$�'��&� +���+�� 2�)��&� �@ ��-

� ( θ̂∗ = M(θ̂/T) 5 �!��� ( ��$%�� �� T(x)# ���� �������
*!��� �
 �����+��

��$��#

Dθ̂ = M(θ̂ − θ)2 = M [(θ̂ − θ̂∗) + (θ̂∗ − θ)]2 =

= M(θ̂ − θ̂∗)2 + 2M [(θ̂ − θ̂∗)(θ̂∗ − θ)] +M(θ̂∗ − θ)2.

C� )'�")�'�+ !)$�'��B +���+�� 2�)� B �@ ��� " )  )-
*�$%��'�� �+ ��&�# 2�� θ̂∗ − θ 5 3���$�')��( �!��� (
��$%�� �� T 	)'�")�'� :  � *���
# *�$!2 +

M [(θ̂ − θ̂∗)(θ̂∗ − θ)] = MM [(θ̂ − θ̂∗)(θ̂∗ − θ)/T] =

= M{(θ̂∗−θ)M [(θ̂− θ̂∗)/T]} = M{(θ̂∗−θ)[M(θ̂/T)− θ̂∗]} =

= M0 = 0.

C�G��+!
Dθ̂ = M(θ̂ − θ̂∗)2 +Dθ̂∗ ≥ Dθ̂∗,

*� 2�+ ��'��)�'� '��+�@�� ' ��+  ��$%�� ��+ )$!2��#
�)$ M(θ̂ − θ̂∗)2 = 0# ���� θ̂ = θ̂∗ ) '���(���)�%A ��
�

(���������� 82$C� 9��� )� �� T ����'���)( �	�:
�	�# �)$ �$( $A3�" 3���$�')��" �!���  f

 � Mf(T(x)) = 0 ∀θ ∈ Θ )$��!�� f(T(x)) = 0

���
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) '���(���)�%A �.

5�	��� 6� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*��-
��$�� ( ����!$$ ) *���+����+ p� C�+� +# 2�� xi +�@��
��))+��� '��%)( ��� 2 )$� !)*�B�' ' i-+  )*����  # p 5
'���(���)�% !)*�B�� 0 ��2�)�'� '��+�@��B ���2�� " *�-
��+���� p ��))+��� + +��@�)�'� P = (0, 1)� 8!��� (
*��'��*���3 ( �)�%

L(x/p) = pμ(1 − p)n−μ.

C� ������ ��� ����" �����+� H�"+��� μ =
n∑

i=1
xi 5 ��-

)����2��( )��� )� ��� ��&�� p *��3�&��� P = (0, 1)# *���-
+����( γ = p

1−p *��3�&��� (0,∞)� J)$ 

Mf(μ) =
n∑

k=0

f(k)Ck
np

k(1 − p)n−k =

= (1 − p)n
n∑

k=0

f(k)Ck
nγ

k = 0,

�� �$( ')�B γ ∈ (0,∞) +��&�2$��
n∑

k=0

f(k)Ck
nγ

k �3��E���-

)( ' ��$%� C�G��+! ')� �&� ��G�� � ���� ��'�� �!$A#
���!�� f(k) = 0, k = 0, n� D��2 �# ∀ p ∈ (0, 1)

P{f(μ) = 0} =
∑

k: f(k)=0

P{μ = k} =
n∑

k=0

P{μ = k} = 1.

9$���'���$%��# μ 5 *�$��( ��)����2��( )��� )� ���

��:
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&�	���� 82$D� -
�	 ��
�������� 
���	
�	�� T
1 ������� �� � ��� ��
�������� ������ ���	�
������

*����		 b(θ)� ��
	
���� ������ �� T� ��	�
�
���� 


�������
�� ,�

� � � � � � � � $ % ) � ' �� C!)�% f1(T)  f2(T) 5 �'�
��)+�E����� ����� b(θ)# ����

Mf1(T) = b(θ), Mf2(T) = b(θ).

1�&�� M [f1(T) − f2(T)] = 0# ���!��# ' ) $! *�$����
T# )$��!��# 2�� f1(T) − f2(T) = 0 ) '���(���)�%A ��
�

&�	���� 82$E� -
�	 T 1 ������ ��
�������� 
��.

�	
�	��� θ̂ 1 ��
�������� ������ ��������� θ� ��
θ̂∗ = M(θ̂/T) 1 ��	�
�
����� /**���	
��� ������ ��.

������� θ�

� � � � � � � � $ % ) � ' �� C!)�% θ̃ 5 $A3�( ��!&�( ��)+�-
E����( ������ θ, θ̃∗ = M(θ̃/T)� C� *!����+ �
#�
 �����-
+� ��$+�&���'�-�$��!G$$�-��� θ̂∗  θ̃∗ 5 ��)+�E�����
����� θ# ��' )(E � ��$%�� �� T� C� �����+� ����

θ̂∗ = θ̃∗ ) '���(���)�%A 1. (12.3)

C� *!���! �
 �����+� ��$+�&���'�-�$��!G$$�-���   �
	����


Dθ̂∗ = Dθ̃∗ ≤ Dθ̃,

���� θ̂∗ G����� '��� ��'��)�'� '��+�@�� $ I% ��&��# ��-
&��

θ̃ = θ̃∗ ) '���(���)�%A 1. (12.4)

9��'� '�( 	����
  	���:
# *�$!2��+# 2�� ��'��)�'�
'��+�@�� $ I% ' )$!2��# ��&�� θ̂∗ = θ̃ ) '���(���)�%A �#

���
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���� G����� '��( ������ θ̂∗ �� �)�'���� ) '���(���)�%A
�� �

5�	��� '� C!)�% x1, x2, . . . , xn 5 '�3����  � ��)*��-
��$�� ( ����!$$ ) *���+����+ p� 0 ��2�)�'� ����� p
'��%+�+ x1# ���� 2 )$� !)*�B�' ' *��'�+  )*����  � 62�-
' ���# Mx1 = p# ���� x1 5 ��)+�E����( ������ p� 1�� ���

��� �� ��' ) � �� n# �� x1
P→ x1 �= p# ���� G�� ������# ��

('$(()% ��@� )�)��(��$%��"# �2��% *$�B�(� ����� +� !3�-
� $ )% ' ��+# 2�� μ 5 *�$��( ��)����2��( )��� )� ��� C�
�����+� ���� p̂ = M(x1/μ) 5 �� �)�'����( G����� '��(
������ p� C� )'�")�'�+ !)$�'��B +���+�� 2�)� B �@ -
��� "

μ = M(μ/μ) = M
( n∑

i=1

xi/μ
)

=
n∑

i=1

M(xi/μ) = n·M(x1/μ),

���!�� p̂ = M(x1/μ) = μ
n 5 ����) ��$%��( 2�)���� !)*�-

B�� L�� ������ ��)+�E����(# )�)��(��$%��(  G����� '-
��(�

��;
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G���	����� 8$ H	�����������	 ��	����
�������	:/��������

&�	���� �������	:/�������� )��	�	��
���

*����	� ��
��������	� ����	 ��
����� ��
�������

���	�
� � ������	��
��� *����		 ��
��������	��

P
{

sup
x∈R

|F ∗
n(x) − F (x)| → 0 *� n→ ∞

}
= 1.

� � � � � � � � $ % ) � ' �� C!)�% F (x) 5
��*����'��( �!��� (� D�� �) �!�+ *�� �'�$%��� ε >
0 ' �� ε = 1

N # &�� N 5 ���!��$%��� 2 )$�� 0 ) -
$! )'�")�' �!���  ��)*����$�� ( )!E�)�'!A� z0 =
−∞, z1, z2, . . . , zN−1, zN = +∞ ��� �# 2�� F (z0) =
0, F (z1) = 1

N , . . . , F (zk) = k
N , . . . , F (zN ) = 1� C�G��+!

�$( z ∈ [zk, zk+1)

F ∗
n(z)−F (z) ≤ F ∗

n(zk+1)−F (zk) = F ∗
n(zk+1)−F (zk+1)+ε,

(C1.1)
F ∗

n(z) − F (z) ≥ F ∗
n(zk) − F (zk+1) = F ∗

n(zk) − F (zk) − ε.
(C1.2)

C!)�% Ak = {ω : F ∗
n(zk) → F (zk)}� C� !) $����+! ��-

���! 3�$%I B 2 )�$ ' ���+� ����$( P (Ak) = 1� C�G��+!

∀ ε = 1
N > 0  ∀ ω ∈

N⋂
k=0

Ak = A ∃ n0 = n0(ω) �����# 2��

∀ n ≥ n0 '�*�$�(��)( ����'��)�'�

|F ∗
n(zk) − F (zk)| < ε, k = 0, N. (C1.3)

1�*��%  � 	C���
# 	C���
  	C���
 )$��!��# 2�� ∀ ε > 0
 ∀ ω ∈ A ∃ n0(ω) �����# 2�� ∀ n ≥ n0(ω) '�*�$�(��)(
����'��)�'�

|F ∗
n(z) − F (z)| < 2ε.
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L�� ����2���# 2�� P (A) = 1 ��
6�+�� +# 2�� �$( ��������$%)�'� �����+� ' )$!2��

�����'��" �!���  ����  )*�$%��'��% ��# 2�� +��@�-
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G���	����� 2$ H	�����������	 ��	���� 	
��	�����= ��A���
 ��������
 �����	�	�	
�
�

C���*�$�@ + '�*�$�����+ )$��!AE � !)$�' (�

�� C���+��� θ  �&�  )� ���� ���2�� � θ0 $�@�� '�!-
��  ����'�$� (θ1, θ2)# ' ������+ )!E�)�'!A� *�� �'��-

��� ∂p
∂θ ,

∂2p
∂θ2 ,

∂3p
∂θ3 .

�� ��*!)� +� �'!������� � ������� ��'�� � *��

�����+  ���&��$�
+∞∫
−∞

p(x/θ)dx = 1�

�� i(θ0) = M
(

∂ln p
∂θ

)2∣∣∣
θ=θ0

> 0,
∣∣∣∂3p
∂θ3

∣∣∣ ≤
H(x), MH(ξ) ≤M # &�� M �� ��' ) � �� θ�

&�	���� G2$8� -
�	 
!������! �
��
	� ,�%�6� ��

���
���	� ���
�������	�

∂L(x/θ)
∂θ

= 0

	���� ��"��	� θ̂� �
�� ���
� 
�
���������� �������
θ0# )�� ������ ���
	�������� ���
�������	� �
	����.
�	��
�	 ��������� 
 ����������	 (θ0, 1

n·i(θ0)) 	 �
	�.
����	��
�	 /**���	
���

� � � � � � � � $ % ) � ' �� ���'��� � *��'��*���3 (
��'��) $%�� )$��!AE�+! !��'��� A �$( $�&�� �+ 2�-
)��" �!���  *��'��*���3 (�

1
L

∂L

∂θ
=
∂ lnL
∂θ

=
n∑

k=1

∂ln p(xk/θ)
∂θ

= 0. (C2.1)

���$�@ + ∂ln p(x/θ)
∂θ *� ���+!$� 1�"$��� ' ����)���)� 
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��2� θ0�

∂ln p
∂θ

=
∂ln p
∂θ

∣∣∣
θ=θ0

+(θ− θ0)∂
2ln p
∂θ2

∣∣∣
θ=θ0

+
(θ − θ0)2

2
δ ·H(x),

(C2.2)
&�� |δ| ≤ 1� �����$ ' 	C���
 �� n   )*�$%�!( ���$�@�� �
	C���
# *�$!2 +

1
n

∂lnL
∂θ

= B0 +B1(θ − θ0) +
1
2
δ ·B2(θ − θ0)2, (C2.3)

&��

B0 =
1
n

n∑
k=1

∂ln p(xk/θ)
∂θ

∣∣∣
θ=θ0

,

B1 =
1
n

n∑
k=1

∂2ln p(xk/θ)
∂θ2

∣∣∣
θ=θ0

,

B2 =
1
n

n∑
k=1

Hk(x).

C�)��$%�!
∂ln p
∂θ

=
1
p

∂p

∂θ
,

∂2ln p
∂θ2

=
∂

∂θ

(1
p

∂p

∂θ

)
=

1
p

∂2p

∂θ2
− 1
p2

(∂p
∂θ

)2
=

1
p

∂2p

∂θ2
−
(∂ln p
∂θ

)2
,

�� !+��@�( �3� 2�)� *�$!2����&� ��'��)�'� �� p   �-
��&� �!( *� x ∈ R# *�$!2 +�

+∞∫
−∞

∂2ln p(x/θ)
∂θ2

p(x/θ)dx =

=

+∞∫
−∞

∂2p(x/θ)
∂θ2

dx−
+∞∫

−∞

(∂ln p(x/θ)
∂θ

)2
p(x/θ)dx. (C2.4)
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+∞∫
−∞

∂2p(x/θ)
∂θ2

dx =
∂2

∂θ2

+∞∫
−∞

p(x/θ)dx =
∂21
∂θ2

= 0.

C�G��+! *� '�*�$���  !)$�' ( �
 �����+�  � 	C��:

*�$!2��+ �E� ���� '���@�� � �$(  ����+��  *� 8 -
I��! � *���+���� θ0 ' ��3$A���  �

i(θ0) = M
(∂ln p(x/θ)

∂θ

)2∣∣∣
θ=θ0

=

=

+∞∫
−∞

(∂ln p(x/θ)
∂θ

)2
p(x/θ)dx

∣∣∣
θ=θ0

=

= −
+∞∫

−∞

∂2ln p(x/θ)
∂θ2

p(x/θ)dx
∣∣∣
θ=θ0

= −M∂2ln p(x/θ)
∂θ2

∣∣∣
θ=θ0

.

C� �����! 3�$%I B 2 )�$ ' ���+� R �2 ��

B0 →MB0 = 0, B1 →MB1 = −i(θ0),

B2 →MB2, |MB2| ≤M.

C!)�% ��*��% h > 0  ε > 0 � �) ��'���� 0�3 ���+ n0

��� +# 2��3� *� ')�B n ≥ n0

P{|B0| ≥ h2} < ε

3
, P

{
B1 > − i(θ0)

2

}
<
ε

3
,

P{|B2| > 2M} < ε

3
. (C2.5)
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63����2 + 2���� S )�3�� �# )�)��(E�� ' ��+# 2�� ����-
'��+���� '�*�$�(A�)( ����'��)�'�

|B0| ≤ h2, B1 ≤ − i(θ0)
2

, |B2| ≤ 2M.

0 ) $! 	C���
 P (S) < ε  P (S) > 1 − ε� C� θ = θ0 ± h
!��'��� � 	C���
 *� �3������ ' �

B0 ∓B1h+
1
2
δB2h

2 = 0. (C2.6)

0 +��@�)�'� S∣∣∣B0 +
1
2
δB2h

2
∣∣∣ ≤ (M + 1)h2,

 *� h < i(θ0)
2(M+1) ���� $�'�" 2�)� 	C��;
 �*����$(��)(

�����+ 2$��� ∓B1h� 1�� ��� 1
n

∂lnL
∂θ ��*����'�� ��' ) �

�� θ# �� '  ����'�$� (θ0 − h, θ0 + h) *� n ≥ n0 ) '���-
(���)�%A 3�$%I�"  $ ��'��" 1 − ε )!E�)�'!�� �����%
θ̂� 1�� + �3����+# +� ������$ *��'!A 2�)�% �����+��
C���* I�+ ��'��)�'�

B0 +B1(θ̂ − θ0) +
B2δ

2
(θ̂ − θ0)2 = 0

' )$��!AE�+ ' ���

(θ̂ − θ0)
√
ni(θ0) =

1√
ni(θ0)

n∑
k=1

∂ln p(xk/θ)
∂θ

∣∣∣
θ=θ0

− B1
i(θ0)

− 1
2δB2

θ̂−θ0
i(θ0)

. (C2.7)

O )$ ��$% ' 	C���
 *� ������$%��" *����$%��" �����+�
�) +*��� 2�)� ���+�$�� ) *���+����+ 	
#�
# � ���+�-
����$% *� n→ ∞ )B�� �)( *� '���(���)� � �� C�G��+!
)$!2�"��( '�$ 2 �� (θ̂−θ0)

√
ni(θ0) �) +*��� 2�)� ���-

+�$%�� ) *���+����+ 	
#�
# 2��  ������'��� �����+!�
�
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